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[TEPE/JMOBA

aBYAITbHUHM TIOCIOHMK PO3pPaxOBaHWUW JUIS CIICHIAIBHOTO €Taly BH-
BUYEHHS 1HO36MHOT MOBHU B arpoHoMiB-OakanaBpis. [TociOHUK po3pa-
xoBaHui Ha 50 roJIMH 3aHSATH.

Merta HaBYANBHOTO MOCIOHHKA — 3aKJIACTH OCHOBU HABUYOK YHTAHHS 1
NepeKIiaay TeKCTiB cepelHbOoi CKIAJAHOCTI 3 MeXaHi3allil, TBapMHHULITBA 1 ar-
POHOMI1, & TAKOK PO3BUHYTH HABUYKH YCHOTO MOBJICHHs. TEKCTH MOCIOHHKA
3aI03MYCHI 3 OPUTIHATBFHHUX BITYM3HSIHUX Ta 3aKOPIOHHHX JDKEpe 1 3a3Han
METOANYHOI 00pOOKH i3 BpaXyBaHHIM MPOTPAMHHUX BUMOT.

CrpykTtypa nocioHuka. [1ociOHUK JITUTBCS HA YOTHPH YacThHU. [lepria
YaCTHHA SIBJISE COOOI0 BCTYMHUH KypC, IPUCBIYCHUIN TTOXO/DKCHHIO CLITbCHKO-
rO TOCTIONAPCTBA 1 Oro po3BHTKY B Cy4acHHX yMoBax. ¥ BCTYIHOMY Kypci
HABC/ICHHIA JICKCHYHNIT MaTepial 3 OCHOBHHX rajyseit CUTBCBHKOTO TOCTIOapc-
TBa i PO3BHUTKY arpapHoi ocBiTU. J{pyTuii i TpeTiit po3AIN OXOILTIOIOTh JICKCH-
YHHI MaTepiall 3 TOJIOBHUX IMHTaHb 300TEXHIi Ta MeXaHi3alii CUTbCHKOTO TOC-
nozaperea. Yersepruii PO3AII MOCIOHNKA MICTHTH JICKCHYHMH Matepian 3
arponomii. Jlo 1bOro po3aisy BXOISTb 3aHATTS, sKi BKJIIOYAIOTh JICKCHYIHUI
marepiail 3 06pobITKy IPYHTY, BHCCCHHS MiHEpAIbHKX 1 OPraHiYHUX JOOpHB,
THIIIB IPYHTIB i CENIEKLLii CLICHKOrOCIOAAPCHKIX KyIbTyp. [lo po3ainy BKo-
YEeHHUH TAKOX JIGKCHYHUI Marepiall, MPUCBIYCHUI OCHOBHUM CLIHCHKOTOCIIO-
JapCEKUM KyIbTypaM 1 MeTonaMm ixX 3axucty. OcTaHHE 3aHATTS MICTHTH JICK-
CHUYHMIA MaTepian 3a TeMoro «Mos MailOyTHs ipodecisy.

CTpykTypa 3aHATTA. BCi 3aHATTS MaloTh aHANOTiYHY CTPYKTYpYy. Kox-
HE 3aHATTS pO3DIIAIac IMEeBHY TpaMaTH4Hy Temy. [lopsin 3 JeKCHIHuM MaTe-
piajioM i TeKCTaMH CTPYKTypa KO>KHOTO 3aHATTS BKIIIOYAE TpaMaTH4HI BIpa-
BH, a TaKOX IiJICTAHOBOYHI JICKCHYHI BIIPAaBH, TOJIOBHOIO METOK0 SKHUX €
3aCBOEHHS IIEBHOTO JOJATKOBOI'O JIEKCHYHOrO Marepiany. KoxHe 3aHATTS
BKIIIOYA€E B Ce0C 3aKII0YHY JICKCHYHY BIIPaBy Ha mepeKIa.

B kiHWi noci6HuKa po3MileHO JOBIJHUKOBHH MaTepiai, 10 SKOro BXO-
IUTh TPaMaTHYHUHA KOMEHTap, B SIKOMY BHUCBITJICHO TpaMaTHYHY TeMYy,
BKJFOUCHY 110 3aHATTA. JI0 rpaMaTiIHOro Marepiaxy TaKOXX HaJIEXHUTh CITH-
COK HECTAaHJAPTHHUX AHITIIACBKHUX Ai€CIiB, BUKOPHCTAHUX B TEKCTax i JICKCH-
KO-IpaMaTHYHHUX BIpaBax. J(OBiMTHHKOBHUI MaTepial BKIIOYAE B ceOe CITUCOK
Hally)KMBaHIIUX CKOPOYCHb Mip Baru, TUIONII, BIJICTaHI i IX IIOBHE HAIMCaH-
Hs. 3 METOIO PO3IIUPEHHS 3arajlbHOTO KPYro30py CTYICHTIB JIOBIIHUKOBUI
Martepiaa BKIIOYae B cebe TAaOIHII0 MEpeBOy aHTI0-aMEPUKAHCHKUX OIH-
HHULb BUMIPIOBAaHHS B METPHYHY cHCTeMy. Jlo MOCiOHHKa 3alponoHOBaHO
AHTJIO-YKPaiHCHKUH CIIOBHHMK CUTBCHKOTOCIIOAAPCHKUX TEPMiHIB, SIKI 3yCTpi-
YaroTHCS B TEKCTaX, aJie BiICYTHI B 3aTalbHUX CJIOBHUKAX.



PO3.I |
BCTYIMNHA YACTUHA

FESSON 4

AGRICULTURE ITS ORIGIN
AND DEVELOPMENT

I. VOCABULARY

agriculture — cinmbcbke rocrmoapcTBo  sugar beets — IyKpoBi Oypsiku
to supply — 3a0e3nedyBaTu flax — np0H

equipment — 00JIaHAHHS hops — xminb

to fertilize — yno0proBaTu hemp — xoHoMmIA

fertilizer — moOpuBo sunflower — COHSAIITHUK
resource — pecypcu to plough — opatu

to cultivate — BupoIIyBaTH plough — mtyr

cultivation — BUPOIIYBaHHS to harrow — GopoHyBatu
branch — ramy3p harrow — 6opoHa

breeding — po3BeAcHHS t0 MOW — KOCHUTH

grain crops — 3€pHOBI KyJIbTYpH to thresh — monotuTH

wheat — mieHuIs spring crops — sIpi KyJIbTypH
rye — >KHTO winter crops — 03uMi KyJbTYpH
oats —oBec technical crops —TexHiuHi KyJIbTYypH
barley — staminb to sow — cisTH

Il. TEXT

THE DEVELOPMENT
OF AGRICULTURE IN UKRAINE

The agriculture is one of the most important branches of the na-
tional economy. The majority of the rural population works in agri-
culture. The development of agriculture depends upon the industrial
level of the country. The industry supplies the agricultural equipment,
chemical fertilizers and other necessary materials.

Agriculture uses the achievements of several sciences, especially
those of botany, zoology and chemistry. Those achievements depend
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also upon the human talent and various circumstances which influence
on the agricultural production. That’s why the agriculture has a char-
acter of some art. It has become a branch of the national economy
which needs some resources, for instance, the chemical fertilizers and
agricultural machines. It also needs some natural fertilizers and natu-
ral resources which are given us by nature. The plant cultivation and
the animal breeding are the main branches of agriculture. Wheat, rye,
oats and barley belong to the cereals. They are main resources of the
nourishment. The grain crops cultivation consists of plowing, sowing
and harvesting. Agriculture supplies the technical crops: sugar beets,
flax, hops, hemp and sunflower. The field work starts in spring and is
over in autumn. In spring one ploughs, harrows, fertilizes and sows
summer crops. In summer and autumn one mows and threshes grain
crops, picks up fruits and vegetables. Agriculture is a single branch of
the national economy which depends upon the climatic conditions.

[1. ANSWER THE FOLLOWING QUESTIONS ON THE TEXT:

. What does the industry supply?

. What do the achievements of agriculture depend upon?
. What are the main branches of agriculture?

. What are the main resources of the nourishment?

. What grain crops do you know?

. What technical crops do you know?

. When does the field work start? When is it over?

. What does one do in spring?

. What does the grain crops cultivation consist of?

. What does one do in summer and autumn?

SOOI NPRWN —

—_

GRAMMAR
THE ARTICLE

IV. FILL IN THE BLANKS WITH THE APPROPRIATE ARTICLES:

1. We have grown ... good crop of ... wheat. 2. In summer and
autumn one mows and threshes ... grain crops. 3. ... sugar beets, ...
flax, ... hops, and ... hemp belong to ... technical crops. 4. ... agron-
omy deals with ... cultivation of ... fields for ... regular production of
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. crops: ... food crops, ... feed crops and ... technical crops. 5. ...
cultivation of field’s means ... preparation of ... ground for planting
... crops. 6. ... soil needs ... natural and ... chemical fertilizers. 7. ...
majority of ... rural population works in ... agriculture.

V. READ ALOUD THE FOLLOWING INTERNATIONAL WORDS
AND TRY TO TRANSLATE THEM INTO UKRAINIAN:

primitive agriculture; the primitive man; the land cultivation; plant re-
sources; to exploit plant resources; complex forms of agriculture; a
complex of agricultural problems.

VI. a) REMEMBER THE NAMES OF THE SIMPLEST AGRICUL-
TURAL IMPLEMENTS. MAKE UP YOUR SENTENCES WITH THEM:

stick — manka hoe — moTuka
spade — nomaTa fork — Buia
rake — rpadmi

b) TRANSLATE INTO UKRAINIAN:

1. The primitive man hunted animals by using a stick. 2. He could
gather plants by using a spade and a fork. 3. Agronomists can repro-
duce the fertile layer of soil by cultivating the land.

VIl. a) REMEMBER THE FOLOWING WORDS AND WORD-COMBI-
NATIONS. SAY IN WHAT SITUATIONS YOU CAN MEET THEM.:

early — panHiit

as early as 3000 B.C. (before Christ) — 3a 3000 poxkiB 1o Hamoi epu
Mediterranean — cepeI3eMHOMOPCHKHIA

the land tenure — 3eMiekopucTyBaHHS

b) READ AND TRANSLATE THE FOLLOWING SENTENCES:

1. The system of land tenure is a complex problem. 2. The first ag-
ricultural implement was the stick. 3. The first plow was originated as
early as 3000 B.C. 4. The plow was first used in the Mediterranean
region. 5. The plow gave a start to a more complex form of agricul-
ture. 6. Then people began to use the fork, the rake and the spade.
7. Later on people began to use the plow. 8. By using the plow people
gave a start to a more complex system of land tenure.
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VIIl. PUT THE INFINITIVES IN BRACKETS IN THE PRESENT IN-
DEFINITE TENSE:

1.The names of primitive implements people still (to use) in some
countries (to be) the spade, the rake and the fork. 2. The plow (to be)
the first agricultural implement. 3. The soil (to require) many chemi-
cal elements for the productive soil cultivation.

IX. FILL IN THE BLANKS WITH THE NECESSARY VERBS:

1.0ne ... the soil in spring. 2. We ... potatoes and hops in our re-
gion. 3.The rural population ... cows at the cattle—farm. 4. The field
work ... in spring. 5. Agriculture .... the climatic conditions. 6.
Wheat, rye and barley ... the cereals.

to cultivate, to plough, to feed, to start, to depend upon, to belong to.

X. TRANSLATE INTO UKRAINIAN:
THE ORIGIN OF AGRICULTURE

It is known that the primitive man lived by gathering plants and by
hunting animals. Later on people began to exploit plant resources. The
earliest implements for the land cultivation were the stick and the hoe.
The implements people began to use later on were the spade, the rake,
the fork and the plow. It is supposed that the plow was first orlglnated
in the Mediterranean region as early as 3000 B. C. It is said that the
plow was the first implement which gave a start not only to a more
complex form of agriculture but also to a system of land tenure.

XI. TRANSLATE INTO ENGLISH:

1. CutbCbKe TOCIOZAPCTBO — TOJIOBHA Tajdy3b €KOHOMIKM HAllol
KpaiHu. 2.BUIbLIICT CLILCBKOrO HACENCHHS MPALOE B CUICHKOMY IOC-
nozaapcTi. 3.PO3BUTOK CLIBCHKOTO TOCIIONAPCTBA 3AIEKUTH Bl PIBHS
PO3BUTKY 1POMUCIOBOCTL. 4.CUIBCHKOrOCIOAAPChKI poOOTH 104MHA-
IOThCSl HABECHI 1 3aKIHUYIOThCSA BOCEHU. 5. [IB1 BENUKi Tary3i CUIbCHKOTO
rOCIIOZAPCTBA — POCIMHHHULTBO 1 TBAPHHHULTBO. 6. ITIeHHILs, KUTO,
0BEC 1 SMMIHb HaJleXkKaTh 110 36PHOBHX KYJIBTYD. 7.J10 TEXHIYHUX KYIBTYp
HaJISKaTh IyKPOBI OYpSIKHU, XMLJIb, JTbOH 1 KOHOILIS. 8. Heprmmn pUMi-
TUBHUMH 3HAPSISIMHU Tpari 6me najka, jonara, rpabmi i miyr. 9. Ce-
30HHE BUPOOHUIITBO € OCOOJIUBICTIO CUTLCHKOIO FOCIIOAAPCTBA.



FTESSON 2

THE BRANCHES OF AGRICULTURE

I. VOCABULARY:

the forest growing — sicoBe rocrmo-
JIapCTBO

to nourish — romyBaTH, KHUBUTH
nourishment — xapuyBaHHsI, )KUB-
JICHHS, TOIIBIIS

the grain crops production — 3epHo-
BUPOOHULITBO

the fruits and vegetable production
— BHPOOHUIITBO OBOYIB i (PYKTIB
the industrial crops production —
BUPOOHHMIITBO TEXHIYHUX KYJIBTYP
the sugar beets production — Bupo-
OHHUIITBO IIYKPOBHX OYypPsIKiB

the flax production — jgpOHApPCTBO
the hops production — xMenspcTBO

the animal breeding — po3BeneHHs
XyJa00u

the plant raising — poCIMHHUIITBO
spring varieties — sipi KyJIbTypu
winter varieties — 03UMi KyJIbTypH
a carpenter bee — poboua 0KoIa
viticulture — BUHOTpagapcTBO

a hornet — mepireHs

a yellow jacket bee —0mxoua-
OXOpOHEIb

a boast —TpyTeHb

apiculture — O KiNBHULITBO

a wasp — Marka

a bumble bee — mxMmine

an ant — JUYMHKa

Il. TEXT
THE BRANCHES OF AGRICULTURE

The nowadays agriculture doesn’t only deal with the soil cultivation.
It is also interested with the forest growing, with the protection of the
river sides, mountains and with the hothouses. The agriculture is not
only a nourishing resource. It also supports the human organism.

Without nourishment the human life may become impossible. The
nourishment problem is the most important problem of all the coun-
tries in the world. Within the agriculture itself one distinguishes the
following independent branches: the grain crops production, the fruits
and vegetables production, the technical crops production (the sugar
beets production, the flax and hops production, etc), the animal
breeding and the apiculture.

All the agricultural branches may be divided into two large groups:
the plant-raising and the animal breeding. The main branch is the grain
crops cultivation. Thanks to the selection a lot of different wheat, rye,
oats and barley sorts appeared in the fields. All of them have spring and
winter varieties. They may be cultivated in different climatic zones.
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The fruit and vegetable production covers the needs of the urban
population. It also gives all the necessary vital vitamins, proteins and
sugars. In the southern regions viticulture has become a very profitable
branch of industry. The industrial crops production is a substantial re-
source of the raw materials for the industry. Hops is cultivated in our re-
gion. Nowadays the world market requires more aromatic varieties. Flax
is cultivated to cover the needs of the clothing industry. The animal
breeding supplies meat, milk, sour cream and cottage cheese. Poultry
covers the needs of the population in eggs and meat. The apiculture is a
peculiar branch of agriculture. It requires much attention and knowledge.
Honey bees belong to the Kingdom Animalia which include all the ani-
mals. They are classified very peculiarly and represent a sort of a society
which includes all the solitary and social bees, wasps, boasts, some fa-
miliar insects like yellow jackets, bald-faced hornets, bumble bees and
ants. All of them fulfill their special duties. Bee-keepers must keep and
protect bee-hives from different deseases.

When speaking about the branches of agriculture we can’t forget
the mechanization. This branch provides the mechanized order of the
agricultural labour.

1. ANSWER THE FOLLOWING QUESTIONS ON THE TEXT:

. What is the main task of agriculture?
. How can you characterize the nourishment problem?
. What branches of agriculture do you know?
. What varieties of grain crops do you know?
. What do fruits and vegetables supply?
. What do the technical crops supply?
. How can you characterize the apiculture?
. How are the bees classified?
. What are the duties of bee — keepers?
10. What branch of agriculture organizes the mechanized order of
the agricultural labour?

OO0~ WNPHK WK —

GRAMMAR
THE PLURAL OF NOUNS
IV. GIVE THE PLURAL OF THE FOLLOWING NOUNS:

a plant, a crop, a yield, an animal, a sort, a variety, a sheep, a bee, a
g0ose, an 0X, an ant, a wasp, a boast, a forest.
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V. FILL IN THE BLANKS WITH THE NECESSARY WORDS IN
BRACKETS:

1. Agronomy deals with the cultivation of ...for the regular
production of food, feed and industrial ... . (field, fields, crop,
crops).

2. The cultivation of ... means the ground preparation for planting
... and other ... . (field, fields, tuber, tubers, plant, plants).

3. Viticulture deals with the growing of different ... of grapes.
(sort, sorts).

4. Each bee ... consists of ... several..., ..., a lot of ... and many.
(a wasp, wasps, a boast, boasts, a yellow jacket bee, yellow jacket
bees, a carpenter bee, carpenter bees, an ant, ants).

5. Regular rise of ... is an essential ... in the development of na-
tional economy. ( a crop, crops, an element, elements).

6. Preparation of the ground is done by means of ..., ... and other... .
(a plow, plows, a harrow, harrows, an implement, implements).

VI. a) REMEMBER THE NEW WORDS AND MAKE UP SEN-
TENCES WITH THEM:

stock feeding — romiBisa Xynoou

nutritive deficiencies — xapuoBuii qedinur
white — 61710k

corn — 3epHO

b) FORMULATE THE PECULIARITIES OF THIS GRAIN CROP,
TRANSLATE INTO UKRAINIAN:

BARLEY

Barley is one of the most widely cultivated crops of the cereals
throughout the world. The crop is adapted to a wide range of climatic
conditions.

Once the chief bread, grain of many ancient nations, barley is now
used for stock feeding. It has the same nutritive deficiencies as the
other cereals. It is low in vitamin A, though apparently containing
somewhat more than white corn.
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VIl. ANALYZE A PIECE OF INFORMATION. COMPARE IT WITH
THE PREVIOUS ONE:

OATS

Oats is an important grain crop in nearly all the countries. It is not
commonly grown so far north or at such high altitudes as barley, and
it does not stand drought so well. On the other hand, oats yields better
than barley on poor soil.

Oats contains nearly as much protein as wheat does and even more
fat than corn does.

The proteins are not of a high quality but contain low amounts of
the essential amino acids. Oats also lacks vitamin D like all cereals,
and contains little vitamin A, like white corn.

Due to the hulls, oats is the safest of all common grains for horse
feeding, and hence is widely used for this purpose. Oats is useful be-
cause of its bulk, in starting fattening cattle or sheep on feed, but more
concentrated grain is usually substituted for all or most of the oats as
fattening progresses. Oats is highly esteemed as a part of the concen-
trates for owes, young lambs, brood sows and young pigs. It is too
bulky to serve well as the chief grain for fattening pigs.

VIIl. CHARACTERIZE THE WAYS OF THE BEE TREATMENT IN
THE USA:

Preventative treatment for both nosema disease and American foul-
brood disease traditionally have consisted of a prophylactics administra-
tion of chemicals. Fumagilin (Fumidil — B) has been used for prevention
of nosema disease, and oxytetracyclin has been used against American
foulbrood. The feeding of fumagilin in syrup in sufficient concentration
and amount has been shown to be highly effective way to prevent active
cases of nosema desease. While not completely effective in eliminating
the protozoan responsible for the disease, fumagilin has proven to be ca-
pable of keeping nosema infections at subclinical levels. This chemical is
still successfully used in beekeeping.

IX. TRANSLATE INTO UKRAINIAN:

The strengthening of the industrial and material basis of agriculture
is necessary for the further intensification and convertion to the in-
dustrial methods.
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The most field works are nowadays fully mechanized. In the last
years one uses more and more tractors and combine harvesters. Dif-
ferent devices increase the job productivity both in the fields and at
the cattle farms.

X. TRANSLATE INTO ENGLISH:

1. Bci ramy3si ciIbCbKOTO TOCIIOAAPCTBA MOXKHA PO3IUIMTH Ha JBI
BEJIMKI TPYIIH:

POCIMHHHIITBO 1 TBAPUHHHIITBO.

2. J1o 3epHOBUX KYJIbTYP BITHOCSTBCS O3MMi 3€PHOBI Ta SIpi 3€pHO-
Bi KYJIbTYPH.

3. OBOUYIBHHUIITBO 1 CaJIBHHUITBO 3aJ0BOJBHAIOTh IOTPeOU Hace-
JICHHS.

4. BupoOHHUIITBO IYKPOBUX OYpsKIB 3a0BOJIbHSE TOTpEeOU Hace-
JICHHS B IYKPi.

5. MoinoynoToBapHi GepMu IIOCTAYalOTh B MICTa MOJIOKO, CHUD, Ma-
CJIO 1 CMEeTaHy.

6. BIDKUTBHULITBO € 0COOJIMBOIO T'aly3310 CLIBCHKOr0 FOCIIOAapCTRa.

7. IlTaxiBHALITBO 33J0BOJIbHSE OTPEON HACEICHHS Yy M ACI Ta Sii-
LAX IITUL.

8. BuIbIIICTh MOJILOBUX POOIT HA JAHHIA Yac MOBHICTIO MEXaHI30BaHI.



FTESSON 3

THE AGRICULTURAL EDUCATION IN UKRAINE

I. VOCABULARY:

to join the Bologna process — mpueaHATHCh 10 GOJIOHCEKOTO MPOIIEeC
the Candidate of Agriculture — kaHAMAAT CITBCHKOTOCTIONAPCHKUX HAYK
he Doctor of Agriculture — nOKTOp CLTBCEKOTOCTIOAAPCHKUX HAYK

the more ... the better — yuM OinbIIE ... TUM Kparie

the scientific research — HaykoBe HOCIHiKEHHS

to train specialists — roTyBaTu (axisiin

to write theses — mucaru qucepraiiro

bachelor — GakanaBp

master — Marictp

Il. TEXT
THE AGRICULTURAL EDUCATION IN UKRAINE

The agricultural education is a consisting part of the educational system
in our country. The demand for specialists increases every year. The na-
tional economy needs the specialists with the middle special and higher
education. Specialists are nowadays trained at special secondary (technical)
schools and higher schools (institutes and universities). Our country is go-
ing to join the Bologna process in the system of education. It supposes the
utilization of the most progressive methods in teaching and their close ap-
proach to the modern economy. Nowadays one must consider two levels in
education: the Bachelor level and the Master level.

The system of the agricultural education is directed to the solution
of different practical tasks in the production. The initial level of the
agricultural education includes special technical schools where the
young people are mostly given some theoretical knowledge (espe-
cially in agricultural engineering) and different practical skills. The
agricultural colleges belong to the next level The students of the agri-
cultural colleges are trained both theoretically and practically. The
training takes into account different natural and climatic conditions in
different regions of our country. It also includes practical work. Thou-
sands of young specialists who have been trained at the colleges are
working in agriculture. Some of the best students reach the Bachelor
level and are given the possibility to study at the Master level depart-
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ment. After having graduated from the Master level department the
young specialists may work practically in agriculture or devote them-
selves to the scientific research. They may write theses and become
Candidates of Agriculture and then later Doctors of Agriculture.

[1l. ANSWER THE FOLLOWING QUESTIONS ON THE TEXT:

1. Where are the specialists for agriculture trained?

2. How can you characterize the higher education?

3. Where is the system of the agricultural education directed to?

4. What does the initial level of the agricultural education include?
5. What can you tell about the agricultural colleges?

6. What does the training take into account?

GRAMMAR
THE DEGREES OF COMPARISON

IV. GIVE THE DEGREES OF COMPARISON OF THE FOLLOWING
ADJECTIVES AND ADVERBS:

high, progressive, educated, good, possible, complex, primitive, bad.

V. OPEN THE BRACKETS. MIND DEGREES OF GOMPARISON OF
THE ADJECTIVES AND ADVERBS:

. The stick is (primitive) agricultural implement,

. The tractor is one of (complex) agricultural machines.

. Oats has (much) vitamins than barley has.

. The Bolonga system in education is (progressive) in the world.
. The Master level is (high) than the Bachelor level,

. (Much) you study the special subjects (good) you may use

. your knowledge in the practice.

. (0Ol1d) he grew (wise) he became.

01NN WN—

VI. a) REMEMBER THE FOLLOWING WORD -COMBINATIONS:

to meet the demands (requirements) —3aJ0BOJLHATH, BiIITOBIIaTH
BUMoram (motpedam)

to meet the ever increasing demands — 3a10BOJIbHATH Oe31epepB-
HO 3pocTaroui noTpedu
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b) ANSWER THE FOLLOWING QUESTIONS:

1. Does the training at the agricultural college meet the demand»
for young specialist?

2. Must the agricultural enterprises meet the ever increasing re-
quirements of the national economy?

VIl a) REMEMBER THE FOLLOWING WORD COMBINATIONS:

to take into account — BpaxoByBaTH, MIPUHAMATH B PO3PAXYHOK
the branch of engineering — ramy3p MexaHizarii
the branch of agronomy — rany3s arponomii

b) TRANSLATE INTO UKRAINIAN:

1. The young specialists must take into account various compli-
cated problems.
2. Our specialists will work in the branches of engineering and agronomy.

VIIl. a) TRANSLATE INTO UKRAINIAN:

The demand for specialists in agronomy increases every year. To
meet this ever increasing demand many agricultural higher schools
and colleges are set in our country. They train specialists for all the
branches of agriculture. As far as agronomy is concerned the training
takes into account different natural and soil conditions. The specialists
must know how to cultivate different fruits, vegetables, grain and
technical crops. They must know how to fertilize soil according to its
peculiarity. They must know how to operate various kinds of agricul-
tural machinery such as tractors, harrows, plows, combine harvesters,
etc. They also solve various production problems.

b) ANSWER THE QUESTIONS:

1. Does the demand for specialists in agriculture increase every year?
2. What does the training take into account?
3. What must the young specialists know?

IX. FILL IN THE BLANKS WITH THE NECESSARY WORDS:

1. ... is done after plowing.
2. The ... for specialists in agriculture has greatly increased
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3. The ... of agronomists takes into account that they will work in
the regions with different climatic and soil conditions .

4. The practical work on farms includes the preparation of ... who
will work under different conditions.

1. training, 2. fertilizing, 3. demand, 4. operators.

X. TRANSLATE INTO UKRAINIAN:

Agricultural engineering can be defined as the application of engi-
neering in agriculture. But this definition does not cover all the fields
it is connected with. Engineering and agronomy are the integral parts
of the science of agriculture. The present high position of the modern
agriculture largely depends upon them.

The utilization of fertile swamps and overflowed lands, its fertil-
izing become important factors in the development of agriculture in
many countries. The invention of agricultural machines has affected
not only agriculture, but also many of the economic and social phases
of life.

At first the progress was slow but with the growth of engineering
more and more engineering achievements found the useful application
in agriculture.

XI. TRANSLATE INTO ENGLISH:

1. Bumoru 10 cnemiaicTiB 3pOCTaloTh BiIOBIIHO IO BUMOT 4acy.

2. Hama Kpalﬂa BCTyIa€e JI0 00JIOHCHKOTO npouecy B cucremi
OCBITH, SIKHI BiJNOBigae BUMoraM €BpOINEHCHKOI XapTii y BCbOMY
CBITI.

3. Cuctema arpapHoi OCBITH HalpaBjeHa Ha PO3B’S3aHHS Pi3HO-
MaHITHUX NPAaKTUYHUX 3aBJJaHb Y BUPOOHUIITBI.

4. CryeHTH CUIBCBKOTOCIIONAPCHKHIX KOJICUKIB IPOXOMSTH IPAK-
THYHY 1 TCOPETHYHY IirOTOBKY.

5. Ilpu HII[FOTOBLII arpoHOMIB BpPaxOBYIOTh PI3HOMAaHITHI MPUPOJI-
Hi 1 KJIIMaTU4YHI YMOBH.

6. YuMm Ounblle CTYJSHTH MPALIOIOTh y TEIUTUISX, TUM Kpallolo
Oyze 1X TeopeTHyHa i MPaKTUYHA MiATOTOBKA.

7. Haiixpanri CTY/ICHTH NPHUCBAYYIOTh cebe HAYKOBUM JIOCIIIKCH-
HSM 1 TUIITYTh zmcepTauu

8. 3apa3 y BUIIIii OCBITI ICHYIOTh Taki piBHi: OakanaBp, MaricTp Ta
JOKTOp dinocodii.
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FTESSON 4

FARM ANIMALS. THE COW

I. VOCABULARY:

gestation — CTHIIBHICTD (KOPOBH),
Mepio1 BariTHOCTI

compartment — BN (LUTYHKY),
[eperopoIKa

rumen — pyOeIb-IepIni BiaIiI
HEePEAILTYHKY TBApUH

reticulum — ciTka — Apyruit Biaai
MEePEeAIUTYHKY KYHHAX TBApUH
omasum — KHIKKa — TpeTii Bifl-
IIUT TIepeIUTYHKY )KyHWHUX TBapHH
abomasum — cH9yr — 4YeTBEPTHil
BIJIUT IITYHKY KyHHHUX TBapUH
lactation — makranis

dairy cows — MOJI04HI KOPOBHU
evaporation — BHIIapOBYBaHHS

II. TEXT

calf (calves) — tens (TensiTa)

the class of ruminants — kac xxyii-
HUX TBapHH

calving — oren

to consume — CITOYKHBATH , BUKOPH-
CTOBYBaTH

colostrum — MOJI03UBO

to digest — mepeBaproBaTH

laxative — cnabyrounit

roughage — rpy0Ouii KopM

to milk — moitu

to convert — mepeTBOPrOBATH

to water — HamyBaTu

stomach — muTyHOK

THE COW

The cow belongs to the class of ruminants. Its value as a domestic
animal consists in her ability to consume and digest large quantities of
roughage and to convert it into milk and meat for human food.

The cow’s stomach, which is a compound one, has four distinct
compartments: rumen, reticulum, omasum and abomasum. The stom-
ach of mature cows varies in capacity to 25 gallons (150 to 300
pounds) depending on the size of the animal.

To produce a large supply of rich milk, cows must be not only well
fed but also be of good milking qualitities. The cows that are produc-
ing milk require a much larger quantity of water that is necessary for
growing animals.
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The period of gestation in cows is about 40 weeks.

The lactation period is the period of milking after each calf and it
usually lasts for about ten months.

The first milk after calving is called colostrum , and it has a neces-
sary laxative action on the calf’s stomach.

Dairy cows are milked three times a day and watered twice a day.

In summer the consumption of water by cattle is greater on account
of the greater evaporation from the skin.

1. ANSWER THE FOLLOWING QUESTIONS ON THE TEXT:

1. What class of animals does the cow belong to ? 2. What farm
animals chew the cud? 3. Why is the cow a valuable animal? 4.
How many compartments are there in the cow’s stomach? 5. How
long does a period of gestation in the cow last? 6. How long does
the lactation period last? 7. In what season do the cattle consume
more water?

GRAMMAR
THE PRESENT INDEFINITE TENSE

IV. PUT THE INFINITIVES IN BRACKETS IN THE PRESENT IN-
DEFINITE TENSE:

1. It (to depend), upon the size of the animal.2. A great quantity of
water (to be) necessary for growing animals. 3. The cow (to belong) to
the class of ruminants. 4. The stomach of the mature animals (to vary)
in capacity from 25 to 60 gallons. 5. The lactation period (to last) for
about ten months.

V. TRANSLATE INTO UKRAINIAN:

Hay from timothy and other grasses is generally much inferior to leg-
ume hay for dairy cattle. It is low in protein when cut at the usual stage of
growth, is not high in calcium, is commonly even lower in phosphorus
than legume hay, and is lower in vitamin A than well-cured legume hay.
Such grass hay is also much less palatable to dairy cows than is good
legume hay, and therefore the cows will not eat so much of it. As a result,
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in order to secure good production they must be fed a larger amount of
grain and other concentrates than is needed with legume hay.

Timothy hay or hay from other grasses, cut not later than full
bloom and even earlier, is greatly superior for dairy cattle to grass hay
cut at the usual stages of maturity. This is because it is much more
palatable and is considerably higher in protein, especially hay grown
on well-fertilized land.

When there is insufficient legume hay to feed liberally throughout
the barn-feeding period to all the herd, it is best to give the cattle one
feed of legume hay a day, rather than to use it all up during a part of
the winter and then confine them to non-legume roughage for the rest
of the time.

If the grass hay is fed, with or without silage, as the chief roughage to
dairy cows, it may be wise to add a calcium supplement to the ration.

VI. CHARACTERIZE THE QUALITY OF THE FODDER

Straw is akin to hay as a food, but is much more bulky and fibrous.
Straw consisting of the mature stems and leaves has relatively little
protein, starch or fat, while the content of fibre or cellulose is high.

The great bulk of straw is an unsuitable food, at least in large pro-
portions, for heavy milking cows, hard working horses, calves. For
dry cattle and slowly fattening animals straw is a useful part of the ra-
tion. The actual nutritive value and palatability depends on the type of
crop from which it is made.

The straw of barley and wheat, because of the advanced stage of
ripeness at which they are cut, are somewhat less valuable than the
straw of oats which is usually cut in a less ripe condition.

VIl. a) REMEMBER THE FOLLOWING WORDS:

skeleton — ckener pasture herbage — 3enenuii kopm
to accumulate — aKymyroBaTH green forage — 3eneHNt KOpM
coarse fodder — rpy0owuii kopm

b) READ AND TRANSLATE THE FOLLOWING SENTENCES:

1. Cows have a remarkable ability to store calcium, phosphorus
and other minerals in their skeletons, and the dry period gives them
the opportunity to accumulate these reserves of minerals as well as of
vitamins. 2. The cow is capable of utilizing a large quantity of coarse
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fodder and of converting huge amounts of pasture herbage and green
forage crops into milk. 3. The milking cows must have water at least
twice daily, and the heavy yielder must have access to it more fre-
quently.

VIIl. TRANSLATE INTO UKRAINIAN:

A cow’s food consists of concentrates and roughage. The concen-
trates are foods in which the nutritive energy is high in proportion to
their weight and bulk, and they are from 75 to 100 per cent digestible.
In roughages, the nutritive energy is lower in proportion to weight, the
digestibility being from 30 to 75 per cent.

IX. CHARACTERIZE THE FUNTIONS OF THE COW’S ABOMASUM:
ABOMASUM

The fourth compartment is the true stomach. It is the only stomach
tissue, the mucous lining of which contains glands that produce di-
gestive juices. The chief cells in the anterior or fundic portion produce
hydrochloric acid.

The abomasum is separated from the small intestine by the pyloric
valve, guarded by a well — developed sphincter muscle. This valve
open at intervals, permitting some of the content to pass into the duo-
denum or anterior portion of the small intestine.

X. TRANSLATE INTO ENGLISH:

1. KopoBu MOKyTb MepeTpaB/oBaTu OLIBLLY KUIBKICTH IPYOHX KOPMIB.

2. Mono4Hux KOplB CIIiJ JOITH TPHYi Ha JICHB.

3. Ilepion naxTauii y KOpiB TPHBAE GIM3BKO TPHOX MICALIB.

4. KopoBu 11i€1 TOPOIM 1al0Th MOJIOKO BHCOKOT JKHPHOCTI.

5. MoJ103UBO CTUMYITIOE€ HOPMAJIbHY JisUTbHICTH KUIIIKOBOTO TPAKTY.

6. Biitky xymo0a m’e OiibIiie BOAM, HiXK B3UMKY. TOMY BIIITKY TTO-
TpiOHO 3a0€e3MneuyBaTH BETUKY KUTbKICTh BOJIH JIJIS Xy10OH.

7. lllmyHKOBHI CIK BHPOOJSETHCS y YEPEBHOMY B IITYyHKY
JKyHHUX TBapUH.

8. Y cBuHel Ta KOHEH MPOCTI MUTYHKH.



LESSOKS 3

FARM ANIMALS. THE PIG

I. VOCABULARY:

the omnivorous animal — BceinHa pregnant — BariTHHH
TBapuHA breed — mopona

to breed — po3BOIUTH, BUBOUTH to farrow — omopocurtucs
TBapUHU SOW — CBHHOMATKa

to grind — mepexoByBaTH , MOJIOTH-  farrowing — OMOPOCHUTHUCS
TH, TepesiaMyBaTH parturition — pou

Tamworth — TamMBOpC, aHTTIChKa harmful — mxigmuBuii
Mopo/Jia CBUHEH M’ICHOTO HanpssMKy  fibre — BOJIOKHO, HUTKA

confinement — oOMEXEHHs, YTpH- to thrive — mBUAKO poCcTH
MaHHS B IPUMIIIIEH] ration — parioH

to suckle — 3rooByBaTH, TaBaTu anaemia — MaJIOKpiB s
CCaTH BUM’sI, CMOKTATH grinding — nepexoByBaHHs

the pure breed — uucra nopona

II. TEXT

THE PIG

The pig is an omnivorous animal with a simple stomach. There is a
number of pure breeds of pigs, including Black breeds. White breeds,
and the Tamworth’s which have a golden-red colour. Crosses com-
monly show the mixed colours of the pure breeds.

Pigs thrive in the open air under summer conditions, and they can
during warm weather, convert their food into meat.

A pregnant pig is called a sow which usually produces from 6 to
12 piglets. The act of parturition is called farrowing.. On the approach
of farrowing a sow should be in good condition but not fat. Close con-
finement prior to farrowing is harmful. Some suckling piglets require
somewhat more water. Their rations should be supplied with micro
and macroelements other-wise anemia will result.

One should remember that the teeth of the pig do not provide con-
ditions for a very fine grinding. That’s why they do not grind the fibre
of feeds well.



26

[ll. ANSWER THE FOLLOWING QUESTIONS:

1. How many breeds of pigs do you know? 2. What do crosses
commonly show? 3. How is a pregnant pig called? 4. Has the pig a
compound stomach? 5. What is harmful for a pregnant sow? 6. What
should the rations of suckling piglets be supplied with? 7. Do the tecth
of the pig provide conditions for very fine grinding?

GRAMMAR
THE PAST INDEFINITE TENSE

IV. PUT THE INFINITIVES IN BRACKETS IN THE PAST INDEFI-
NITE TENSE:

1. Numerous experiments (to show) that tankage or buttermilk (to
produce,) excellent results when one of these feeds is used as the only
protein supplement for pigs on pasture. 2. Buttermilk (to be) excellent
protein supplements to the grains in swine feeding 3. The daily re-
quirements of the pig in calcium (to be) large. 4. None of the cereal
grains (to furnish) proteins of good quality.

V. TRANSLATE INTO ENGLISH

1. Pigs excel all other farm animals in the economy with which
they convert feed into edible flesh. 2 Beef and mutton furnish a higher
percentage of protein, on the average, than pork.

3. Because of the small proportion of bone in the dressed carcass
of swine, the percentage of the carcass that is edible is decidedly
higher than in the case of cattle or sheep. 4. When pigs are on good
pasture, a considerable amount of protein is provided by the green
forage they eat. 5. Swine, like all other classes of stock, should always
be supplied with plenty of water. 6. Wheat in a ground form is an ex-
cellent ingredient of a pig diet. 7. Though swine require less salt than
cattle, horses, or sheep, they should be supplied with it regularly. 8.
After weaning the little pig requires a considerable amount of protein
and of minerals for growth.
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VI. a) REMEMBER THE FOLLOWING WORDS.

livestock — moromiB’st xymoou
the pork production — BHPOOHHMIITBO CBUHHHHI
nutrient requirements — BUMOTH JI0 TIO)KHUBHOCTI

b) READ AND TRANSLATE THE TEXT:
NUTRIENT REQUIREMENTS OF SWINE

Swine are fed largely on grain, and they eat relatively little rough-
age, except on pasture. Moreover, they grow more rapidly than cattle,
horses, or sheep, and produce young when less mature.

As a result, swine suffer much more frequently than the other
classes of livestock from inadequate rations. It is therefore especially
necessary, if maximum, profits are to be secured from pork produc-
tion, that their nutrient requirements be clearly understood..
.Numerous experiments show that the nutrient requirements of swine
are relatively simple and that is not necessary to feed complicated or
expensive rations in order to secure the best results.

Because swine are fed chiefly on grain, particular care is necessary
to provide in their rations a sufficient amount of protein and also pro-
tein of good quality.

Since the grains are all low in calcium, it is necessary to feed
swine a mineral supplement supplying this essential, unless an ade-
quate amount of calcium is furnished by the other feeds in the ration.
A phosphorous supplement must also be added to certain swine ra-
tions, because the cereal grains are not rich in this mineral. The vita-
min, requirements of swine are met adequately when they are on good
pasture, but under other conditions they may suffer seriously from de-
ficiencies of vitamin A or vitamin D, unless well-cured legume hay or
some other vitamin supplement is fed.

VII. FILL IN THE BLANKS WITH THE MISSING ADVERBS:

1. The vitamin requirements of swine are met ... when they are on
good pasture.

2. Swine are fed ... on grain. 3. They eat . . . roughage. 4. Swine
grow .... than cattle, horses, or sheep. 5.They suffer ... than the other
classes of livestock from inadequate rations.
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VIll. a) REMEMBER THE FOLLOWING WORDS:

tankage — Bigxoau 0O€Hb, AKI HAYTh HA yIOOPCHHS
skimmilk — 3HsTe MOJIOKO, 0OpaT

buttermilk — maxrta

whey — cupoBaTka

b) READ AND TRANSLATE THE FOLLOWING SENTENCES:

1. In feeding skimmilk, buttermilk or whey to swine, it must be
borne in mind that they are all very low in vitamin A and that they
have traces of vitamin D. 2. The daily requirements of the pig in cal-
cium are large. 3. Good pasture or well-cured legume hay aid greatly
in meeting the protein requirements of swine. 4. Any ration made up
of only grain and grain by-products is very unsatisfactory.

IX. TRANSLATE INTO UKRAINIAN:
FATS AND OILS

The fats and oils are of much importance, both in plants and ani-
mals. They are alike in composition and properties, except that fats
are solid at ordinary temperatures, while oils are liquid. All fats and
fat-like substances are soluble in ether and certain other solvents.

Fats, like carbohydrates are made up of carbon, hydrogen and oxy-
gen. However, the proportion of oxygen is much less and of carbon
and hydrogen much greater than in carbohydrates.

X. TRANSLATE INTO ENGLISH:

1. CBuHS — 11e MBHIKOpOCTY4Ya TBapuHa. 2. CTPOK BariTHOCTI y
CBUHEH CTAaHOBUTH TPH Micsili. 3. Parionn cBUHEH CKIamalTbes B OC-
HOBHOMY 13 3epHa Ta IHIIMX KOHIEHTPOBaHMX KOpMmiB. 4.CBHHEH T0-
JIyIOTh BiXOJaMH MOJIOYHHUX Ta IHIIUX MPOAYKTIB. 5. IIpm HHU3BKHX
TEMIIEpaTypax y MOPOCAT PO3BUBAEThCS aHeMis. 6.Biraminu A i B
MarOTh BEJIMKE 3HAYEHHS B TOJIIBJII CBUHEH.



LESSORS 6

FARM ANIMALS. THE POULTRY

I. VOCABULARY

poultry — moMarisi nraxu

a duck — xauka

a gosling — rycens

a goose (geese) — rycka

a turkey — iHAHMK

gizzard — MyCKyJIbHUH (OpyTruid)
HITYHOK y OTaxiB

to macerate — BMMOYYyBaTH, CIIyC-
TOLTYBaTH

pancreas — HiAIITYHKOBA 3271032
caecum (pl. caeca) —cina KumKa
fowl — nruns

to swallow — koBTaTH

crop — 300 y nraxis

to dilate — po3mupsaru

. TEXT

gullet — xap4omnpoBsing
a cock — miBeHb

a hen — xypka

a duckling — xaueHns

a chicken — kxypua

a poult — iHIUYATKO
starch — kpoxmainb

to squeeze — BHUIJKHUMATH
intestine — KUIICYHHUK
liver — meuinka

gland — 3ano3a

faeces — dexamii

to evacuate — ynaisiTi
respiration — JTUXaHHS
fluid — pinuna

THE POULTRY DIGESTION

Poultry are kept for flesh and eggs. They include hens with
chickens, turkeys with poults, ducks with ducklings and geese with
goslings.

The breeds of poultry are numerous.

As there are no teeth in the mouth of the fowl, the food is swal-
lowed whole and passes into the crop, which is a dilated portion of
the gullet. It remains there for a short interval during which the
fluids of the crop exert a softening influence and some digestion of
starch.

The food then enters the stomach, which secretes digestive juices
on to it, and, without much delay in this compartment, it is paused on
to the gizzard which is a very thick-walled organ. It squeezes the
contents into a very fluid state of subdivision by the rhythmic con-
traction movement. The macerated food material, together with the
stomach juices, pass into the small intestine where digestive juices —
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from the liver, pancreas and intestinal glands — are poured on it, and
digestion proceeds rapidly.

A curious feature of the large intestine is the division of the cae-
cum into two parts, each of which is a long blind tube.

As in other animals, absorption of the digested food goes on in
the small and large intestine, and the faeces are evacuated at inter-
vals. The heart of the fowl beats quicker and respiration is more
rapid.

The fowl is able to digest its food and absorb the food nutrients
much more rapidly than other farm stock.

1. ANSWER THE FOLLOWING QUESTIONS ON THE TEXT:

1. What are poultry kept for? 2. Are there teeth in the fowl’s
mouth? 3. What is a curious feature of the large intestine of the fowl?
4. Is the fowl able to digest its food more rapidly than other farm
stock? 5. Where does absorption of the digested food go on? 6. How
does the heart of the fowl beat?

GRAMMAR
THE FUTUTE INDEFINITE TENSE IN THE PASSIVE VOICE

IV. PUT THE INFINITIVES IN BRACKETS IN THE FUTURE IHDEFI-
NITE TENSE:

1. A shortage of salt (to result) in poor growth. 2. A deficiency of
calcium in the diet (to have) serious results. 3. Laying fowl (to re-
quire), a sufficient supply of vitamins A, B, riboflavin and other vita-
mins, 4. Shortage of vitamin A (to cause) the egg production. 5.
Chickens suffering from vitamin D deficiency (to develop) soft bones
and their limbs (to become) weak.

V. FILL IN THE BLANKS WITH REQUIRED WORDS:

1. The heart of the fowl beats ... and respiration is more ... . 2. The
fowl is ... to digest its food slowly. 3. The gizzard is a very ... organ. 4.
The fluids of the crop exert ... influence on the food. 5. There are ...
breeds of poultry.
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VI. a) REMEMBER THE FOLLOWING WORDS:

pullets — Kypo4ku, MOJIOA1 iHAMYKH cereals — 3epHOBI
to retard — ynoBUIBHIOBATH bones — KiCTKH
the laying fowl— Hecyuka

b) TRANSLATE INTO UKRAINIAN:
VITAMIN REQUIREMENTS

Laying fowl requires a considerable supply of vitamins A, B, ribo-
flavin und other members of the B complex group, D and E.

Shortage of vitamin A causes decreased egg production, they be-
come listless with ruffled feathers; a peculiar staring appearance of the
eye develops, followed by inflammation; a cheesy deposit occurs in-
side the mouth, and after a few months on the vitamin A deficiency
diet deaths occur in the flock.

An inadequate intake of vitamin D by laying fowl causes a reduc-
tion in egg yield, produces thin of soft shelled eggs, lowers the fertil-
ity and hatchability of the eggs.

Chickens suffering from vitamin D deficiency develop soft bones,
the limbs are weak, the bird adopts a sitting posture longer than usual,
and in movement it becomes progressively more stiff and crampy.

VIlI. READ AND TRANSLATE THE TEXT:

POULTRY FEEDING

In feeding poultry, careful attention should be given to the kinds of
feeds that are used. Cereals form the main part of poultry diet. The
most important nutritive indegrient in the diet of laying fowl is water,
of which the birds should at all times have abundance.

Birds need a great variety of minerals, some in considerable sup-
ply, but others only in very minute quantity.

A shortage of salt results in poor growth, inefficient utilization of
the organic part of the food and particularly of the protein, and re-
tarded development of egg-laying in pullets.

A deficiency of calcium in the diet has serious results, Since the
minerals of bone consist chiefly of a mixture of calcium and phos-
phate in proportions which remain constant, a shortage of calcium in
the diet of growing birds causes unossified bone, and the chickens so
fed show leg weakness, soft bone and a general rickety condition.
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VIll. a) REMEMBER THE FOLLOWING WORDS:

the digestive organs — opranu TpaBiIcHHS
lime — BamHO
rate — CTyMiHb

b) READ AND TRANSLATE THE FOLLOWING WORDS:

1. The digestive organs of the fowl differ considerably, both
structurally and physiologically, from those of mammals. 2. The lime
requirements of poultry are very high. 3. A characteristic feature of
ducks and geese is a very rapid rate of growth in early life. 4. Turkeys
like plenty of space and freedom.

IX. CHARACTERIZE THE FUNCTIONS OF THE HEART AND
LUNGS FOR THE ANIMALS:

Inside the body there are two large cavities — the anterior cavity
being the thorax or chest, and the posterior cavity — the abdomen or
belly. These two cavities are separated by a tense sheet of muscle
called the diaphragm.

The heart is situated in the anterior — chest cavity between the
lungs in a chamber called the pericardium. This is a double bag, one
covering forms a thin layer closely adherent to the heart itself, while
the other or outer one envelops the heart more closely.

X. TRANSLATE INTO ENGLISH:

1. Icaye Oararo mopix nraxiB. 2. OCKiJIbKM Y NITaxiB HeMae 3y0iB,
TO 1’Ka KOBTAETHCS MOBHICTIO. 3. 300 — Ii¢ MOIIMPEHHUH Y NTaxXiB Bij-
I Xap4yonpoBoay. 4. 300 CIIy)KHTh TOJIOBHUM YHHOM DPE3epByapoM
mepe MOCTYIMAaHHIM DKi B IIIYHOK. 5. BCMOKTYBaHHS mepeTpaBiiio-
BaHOI 1K1 BiOYBAETHCS y TOBCTOMY 1 TOHKOMY KHIICUYHHKY. 6. JKOBU-
HUW CiK JOMAIIHBOI HTHUI[l BiAPI3HAIOTHCSA 3a CBOIM XIMIYHHUM CKJIa-
JIOM BiJ JKOBYHOIO COKy ccaBHiB.7. JloMallHI ©Taxud IIOTraHO
MIEPETPABIIOIOTH KIIITKOBHHY .
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TESSON 7

THE MECHANIZATION. TRACTORS

I. VOCABULARY

linkage — 34eruieHHS, BaXKUTbHUH
MeXaHi3M, BaKUTbHA ITepeaayda
three-point linkage — TpuTouKoBwHii
HaBiCHUI mpuCTpiit

to drive (drove, driven) — kepyBaTH,
MPOBOJUTH B 110

the regular servicing — perysspHe

00CIyroByBaHHS

to cultivate — oOpoOIsATH 3eMITHO,
BUPOIILYBaTH

general-purpose — 3arajJbHOTO KO-
pUCTyBaHHSA

to supply — mocragatu

implement — npuuinHe 3HapAAIA
road making — OymiBHHIITBO JOpIT
PTO shaft — Bau BinOopy moTy»HOCTI

Il. TEXT

track — crig, ryceHuns

load — BanTaX

tyre — IIMHA, TOKPHIIKA

crawler — r'yCeHUYHHUI TPaKTOp
belt pulley — npuBigHuii mkis
shaft — Ban

to mount — MOHTYBATH, HaBIll[yBaTH
dam building — OyniBHUIITBO JaMb
grip — 34erUIeHHS i3 3eMJIeo, 3a-
XBar

pulley — 610K, 1IKiB

wheeled tractor — KkoJticHuUil Tpak-
TOp

necessary — HEOOX1THUI

to increase — 301IbIITYBaTH

to measure — BUMIpPIOBaTH

TRACTORS

Tractor is useful when it supplies power to machines. Power can
be supplied by the tractor in various forms. The tractor can pull or
push machines, it can supply power to machines from the power-
take-off shaft and it can drive machines by means of a belt from a
belt pulley.

The tractor power is produced by the engine and is measured by
horsepowers (hp) or kilowatts. There are tractors with engine power
from 3 to 300 hp.

Tractors are classified according to the maximum power that their
engine can produce.
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The crawlers or track laying tractors are large. They are used for
heavy operations, such as road making or dam building.

Large tracks increase the grip of the tractor on the ground and the
crawlers are able to push or pull heavy loads and machines.

Most of the tractors have tyres which can be placed closer or far-
ther apart according to the distance between the rows that must be
cultivated.

Wheeled tractors may have mounted implements and machines on
them. This is done by the three-point linkage,

There are tractors with diesel or gasoline engines. The diesel engine
will use less fuel than the gasoline engine for the same work done.

The regular servicing of tractors is necessary because it provides
the tractor’s useful work.

The fuel should be clean and have no water. If the engine is water-
cooled one must be sure that there is water in the radiator, The radia-
tor should be clean. The oil has to be changed regularly.

[1. ANSWER THE FOLLOWING QUESTIONS ON THE TEXT:

1. In what forms can power be supplied by the tractor? 2. What op-
erations can the tractor do? 3. By what means can the tractor drive
machines? 4. What is produced by the engine? 5. How is the tractor
power measured? 6. How are tractors classified? 7.What are the
crawlers able to push or pull? 8. What are the crawlers used for?
9. How can tyres be placed? 10. What tractors have implements and
machines mounted on them? 11. What engines will use less fuel?
12. Why is the regular servicing of tractors necessary? 13. What
should the fuel be?

GRAMMAR
THE PASSIVE VOICE

IV. PUT THE VERBS IN THE PRESENT INDEFINITE ACTIVE OR
PASSIVE VOICE:

1. The power (to measure) by kilowatts or horsepowers. 2. Tracks
(to increase) the grip of the tractor on the ground 3. The regular serv-
icing of tractors (to provide) useful work. 4. The cylinder and the
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cylinder heads (to form) the combustion chamber.5. Crawlers (to use)
for heavy operations. 6. The camshaft (to open) the valves of the en-
gine, 7. The oil (to change) regularly.

V. a) REMEMBER THE FOLLOWING WORDS AND WORD-COM-
BINATIONS:

four-wheel-drive tractors — TpakTopu 3 MpUBOJOM Ha 4 KoJIeca
equally-sized —oaHaKOBOTO PO3MIpY
at least — npuHaiiMHi

b) READ AND TRANSLATE THE TEXT:
TYPES OF TRACTORS

Four-wheel tractors are produced with engines of any size from the
small tractor of about 15 hp to the giants with the engine power more
than 200 hp. There are two basic types of four-wheel-drive tractors.
One type has four large equally-sized wheels, the other has small front
wheels and large rear wheels.

Most equal-sized wheel models have engines with at least 75 kw
(100 hp) and tractors of this type with 150 kw engines are in use in
some areas.

Ploughing and heavy cultivations are ideal work for these big
tractors.

Many of the four-wheel-drive tractors with small front wheels are
basically general-purpose tractors and are able to transmit the engine
power to the front wheels. The four-wheel-drive tractors can move
along roads and their pulling power is greater than the pulling power
of the two-wheel-drive tractors.

Row crop tractor has narrow tyres which can be placed closer or
farther apart according to the distance between the rows that must be
cultivated. It has a light-weight design and good visibility. It uses a
diesel engine from 30 to 4-5 hp.

The general-purpose tractor does most of the work on the farms. It
has powerful hydraulics and is able to pull heavy loads at the drawbar.
This type of tractor is heavier than the rowcrop tractor and its weight
is used to increase wheel grip.

Track laying tractors or crawlers are used for dam building, road
making, drainage work. This type of tractors has low operating speed but
it does less damage to the soil than the large powerful wheeled tractor.
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VI. FILL IN THE BLANKS WITH THE NECESSARY WORDS AND
WORD- COMBINATIONS:

1. The tractor can supply power to the machines from the ...
(power-take-off shaft, belt pulley, three-point linkage). 2. The tyres
can be placed closer or farther apart ... (according to, by means of),
distance between the rows. 3. The crawlers are usually ... (small,
large, various). 4. The tractor can ... (increase, pull, do) machines.
5. The crawlers are able to ..... (produce, push, drive) heavy loads.
6. Implements are mounted on the tractor by means of ... (a belt pul-
ley, tyres, a three-point linkage). 7. The fuel should be . . . (heavy,
clean), and have no water.

VII. TRANSLATE INTO UKRAINIAN:
MODERN TRACTORS

1. Modern farm tractors can do various job very effectively. Mod-
ern farm tractor can: 1)pull or push machines; 2) operate implements
mounted upon it by means of the three-point linkage; 3) transmit
power by means of its PTO- shaft; 4) drive machines by belt power;
5) transmit power by means of shafts; 6) supply power for different
operations; 7) generate electricity.

2. There are various types of farm tractors: wheeled tractors, and
track laying tractors or crawlers, general-purpose tractors, large field
tractors and garden tractors,

3. Crawlers are also necessary in agriculture, they are usually used
for heavy operations such as road making and dam building. All the
crawlers have tracks which must increase the grip of the crawler on
the ground. They have low operating speeds but they can pull or push
heavy loads and machines.

VIIl. TRANSLATE FOLLOWING SENTENCES PAYING ATTENTION
TO THE TRANSLATION OF THE MODAL VERBS WITH THE PRO-
NOUN ONE:

1. One should study the basic parts of the engine. 2. One can drive
machines by means of a belt pulley. 3. One must support the crank-
shaft by bearings. 4. One should mount implements on the tractor.
5. One cannot use crawlers for light operations. They are used for
heavy operations. 6. One has to change the oil regularly.
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IX. COMPARE THE FOLLOWING PAIRS OF THE SENTENCES.
WHAT IS THE DIFFERENCE BETWEEN THEM?

1. An electric spark ignites the fuel. The fuel is ignited by an elec-
tric spark.

2. The engineers used the first diesel engine in 1931. The first die-
sel engine was used by the engineers in 1931. 3. The tractor will sup-
ply power. Power will be supplied by the tractor. 4. One may classify
modern tractors according to the power produced. 5. The engine pro-
duced power. The power was produced by the engine.

6. Our plant will produce new engines. New engines will be pro-
duced by our plant.

X. TRANSLATE INTO ENGLISH:

1. TpakTop MOKe TATHYTH 200 IITOBXATH MAILIMHHU, & TAKOXK Tepe-
JIaBaTH CBOIO MOTY)KHICTh JI0 MAlllMH BiJl Baixy BigOopy l'IOTy)KHOCTi
2. Tpakropn Knacuiky€eTbCs BIANOBIAHO A0 MAKCHUMAlbHOI MOTYX-
HOCTI, 5IKY MOXKYTb BUPOOJATH iX ABUIYHH. 3. BUIBLICTH TpakTopis
MaroTh LIIMHH, SIKI MOXKYTb 3HaXOAUTHUCH Jlasli a0 OIMKYe 3a1eKHO 10
BIJICTaHI MIX Mixcp;m;mMH. 4. KomicHi TpaKTOpH MOXYTh MaTH HaBiC-
Hi 3HAPAIS, SIKI KPITUIATHCS 3 TOTIOMOTOI0 TPH TOYKOBOTO HaBICHOTO
MPUCTPOIO. 5. € TpakTOpH 3 AU3EIBHUMU 1 OCH3MHOBUMU JBUTYHAMHU.
4. Tpakropu noTpeOyrOTh peryssipHoro obcayropysanss. 7. [lammso
Mae OyTH 4ucTUM 1 He MictuTH Boau. 8. [ToTpiOHO peryisipHO 3MiHIO-
BaTH Macio. 9. OpaHka 3/1iHCHIOETHCS 3 TOTIOMOTOI0 YOTHPBOXKOIIiC-
HUX Ta ryceHMYHuxX TpakTopiB. 10. TpakTop 3araqpHOro Npru3HAYEeHHS
BUKOHYE BCI TIOJIbOBI Ta (hepMepchbKi pOOOTH.
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THE MECHANIZATION. PLOUGHS

I. VOCABULARY
to attach — mpuKpiIUIFOBaTH, IpUEA-  angle — KyT
HyBaTu trailed — nmpuuinHMit
conventional — 3BuuaitHwiA deep — rimbokuit
with up to six mouldboards — 3 uu-  tine — 3y0
CJIOM TIOJIMIIG, IO JOCATAE IIECTH depth — rnubuna
right-handed mouldboard — nmpaBo- ~ soil — rpyHT
CTOPOHHS TOJUIA seedbed — piis, miArOTOBIEHUA 1O
to produce a very level surface — MOCIBY TPYHT
JABaTH IIyXKE PiBHY TOBEPXHIO frame — pama
the soil engaging parts — rpyHTo3a-  furrow — Gopo3Ha
XBaTHI YaCTHHH slice — mact
coulter — pi3ak, yepecio miyra reversible — o0opoTHUI, peBepCHUI
to cut — 3pizyBaru root crops — KOpPEHEII0au
plough — rutyr to rotate — obepTaTHCs
digger — myr 3 nepenrurykaukoM  mouldboard — monuus miyra
to plough — oparu share — conrHuk, Jieminr
II. TEXT
PLOUGHS

The plough has been used in its different forms for many centu-
ries. It has become the main implement used for the preparation of
seedbeds.

A plough is an implement with one or more mouldboards which
cut and turn the soil. Modern ploughs are commonly fully mounted
on the tractor hydraulic system. Some are semi-mounted with the
front supported by the tractor hydraulic linkage and the rear by one
or more wheels, a semi-mounted plough is not lifted off the
ground.

The number of mouldboards on a plough will depend on the type
of soil and the tractor size. Ploughs with up to six mouldboards are in
common use.
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There are three main types of ploughs:

1) Conventional ploughs with right handed mouldboards. They are
usually fully mounted but some semi-mounted and trailed models are
also in use.

2) Reversible ploughs having left- and right-handed mouldboards,
we can plough up and down in the same furrow. Most of them are
mounted but some of the larger models are semi-mounted. Reversible
ploughs produce a very level surface.

3) Disc ploughs are rarely used in Great Britain. In place of the
mouldboards they have large rotating discs which cut and turn the soil
slice.

Both right-handed and reversible types are being produced.

The soil engaging parts, disc coulter and the body of the plough are
attached to legs, whish are in turn bolted to the plough frame.

The base of a plough body is called the frog, the soil engaging part
being bolted to it. The share cuts the bottom of the furrow slice.

The mouldboard lifts and turns the furrow slice.There are many
types of mouldboards each producing its special surface. The disc
coulter cuts the side of the furrow that is to be turned.

There are various types of plough body, each having its special
use. The main types common in Great Britain are general-purpose
type and digger type. The general-purpose type is useful for the gen-
eral ploughing work. The digger type is used for deep ploughing, gen-
erally for root crops.

[ll. ANSWER THE FOLLOWING QUESTIONS:

1. How long has the plough been used? 2. What has the plough be-
come? 3. What kind of an implement is the plough? 4. Where are
ploughs usually mounted? 5. Are all ploughs fully mounted? 6. Is a
semi-mounted plough lifted off the ground? 7. What will the number
of mouldboards depend on? 8. What ploughs are in common use?
9. How many main types of ploughs are there? 10. Are all conven-
tional ploughs fully mounted? 11. Can we plough with a reversible
plough up and down in the same furrow? 12. What do the reversible
ploughs produce? 13. Are disc ploughs often used in Great Britain?
14. What do disc ploughs have in place of mouldboards? 15. What are
the soil-engaging parts, disc coulter and the body of the plough at-
tached to? 16. What kind of work does the share do? 17. What kind of
work does the mouldboard do? 18. Are there many types of mould-
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boards? 19. What are the main types of the plough body? 20. What is
the digger type used for?

GRAMMAR
THE PRESENT PERFECT TENSE

IV. DETERMINE PRESENT PERFECT IN THE SENTENCES AND
TRANSLATE THEM INTO UKRAINIAN:

1. The general-purpose type of plough has become useful for the
general ploughing work. 2. After the reversible plough had made a
pass across the field it was mechanically turned on its frame 3. The
tractor hydraulic system has provided the power turning the plough.
4. By this time the farmers have finished the soil cultivation. 5. The
implement has not been correctly attached to the tractor. 6. Discs will
not turn the soil when they have not been set at the correct angle.

V. TRANSLATE THE FOLLOWING SENTENCES INTO UKRAINIAN:

1. A modern plough has up to six mouldboards. 2. When the piston
has reached the bottom of its stroke the inlet valve closes. 3. Both
conventional and reversible ploughs have been produced by our plant.
4. The driver has to attach the plough ccorrectly. 5. The pneumatic
tyres have become so efficient and so popular that they are standard
part of all wheeled tractors. 6. Modern tractors usually have a four-
stroke engine. 7. We have to set all mouldboards at the same angle.

VI. a) REMEMBER THE FOLLOWING WORDS AND WORD —COM-
BINATIONS:

conventional and reversible ploughs — 3BuJaiiHi i peBepCcHi IIyru

automatically draudht-controlled — 3 aBTOMaTH4HMM peryItOBaH-
HSIM TSTH.

in this case — y 1ipoMy BUTIQAKY

idle running on the headlands — xoyiocTHii IpoOIr Ha He3a0paHO-
My KiHII JJaHy

a hand-operated lever — pyuHuii Baxiiab

a double- acting ram — IITIHAP ABOCTOPOHHBOI il
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b) READ AND TRANSLATE THE TEXT:
CONVENTIONAL AND REVERSIBLE PLOUGHS

Mounted ploughs have many advantages over trailed tyres. Small
mounted ploughs are in common use; for larger implements, semi-
mounting is common.

Many ploughs have the depth controlled by levers that operate on
the land wheel: but most small modern ploughs are controlled by ad-
justments of the linkage mechanism connecting them to the tractor.
There is a limit to the size of plough that can be lifted in this way.

Long five- to twelve-furrow semimounted ploughs can be hydraulically
controlled. Some are automatically draught-controlled at both front and
rear, the action of the rear cylinder being regulated in the same way as that
of the main cylinder of the tractor. On another tyre the front of the plough
is controlled by the automatic draught-controlled system, and working
depth at the rear is regulated by a depth wheel, which also acts as a hy-
draulic lift wheel. The rear wheel in this case runs on the unploughed land.

Reversible ploughs have some advantages over conventional ploughs;
they produce a level field, making seedbed preparation and harvesting
operations easier; there is little idle running on the headlands.

At the end of each pass across a field the plough is turned on its
frame. It can be turned mechanically or hydraulically.

VII. TRANSLATE INTO UKRAINIAN SUCH WORD-COMBINATIONS:

the furrow slice, the tractor linkage, general-purpose type, a higher
power requirement, plough body, the plough frame, seedbed prepara-
tion, root crop seedbed work, depth control, disc harrows.

VIII. FIND OUT IN WHICH SENTENCE THE PARTICIPLE I IS USED
FOR THE PERFECT TENSE FORMATION:

1. The plough is used for the preparation of seedbeds. 2. Disc ploughs
rarely used in Great Britain have a large rotating disc in place of the
mouldboards. 3. Farmers have used the plough for many centuries.

IX. TRANSLATE INTO UKRAINIAN:

1. A modern plough has up to six mouldboards. 2. When the piston
has reached the bottom of its stroke the inlet valve closes. 3. Both
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conventional and reversible ploughs have been produced by our plant.
4. The driver has to attach the plough correctly. 5. The pneumatic
tyres have become so efficient and so popular that they are the stan-
dard part of all wheeled tractors. 6. Modern tractors have a four-stroke
engine. 7. We have to set all mouldboards at the same angle.

X. TRANSLATE INTO ENGLISH:

1. TInyr € OCHOBHMM HABICHUM 3HAPSISM, SIKE BHKOPHCTOBY€ThCSL
g HII[FOTOBKI/I pumti. 2.Ilnyr € HaBicHUM 3HApAIULIM 3 onHi€er0 abo
OUIBLIO KUIBKICTIO MOJNMYOK, sIKi IOAPIGHIOKTH i MEpPeBEePTarOTh
IpyHT. 3. KUIBKICTh MOJNMYOK ILIyTa 3aeXUTh BIJ THILY IPYHTY 1 poO3-
Mipy TPaKTOpa. 4. PeBepcHi IUIyrn MOXyTb 30PIOBATH 1 IIepeBEPTAaTH
IPYHT Ha Tiii e 00po3Hi. 5. JINCKOBI IIyTH PiIKO BHKOPHCTOBYIOTECS
y Benukiit bpuranii. 6. PeBepCHl IUTYTH MaroTh NEBHI NEpeBaru Haj
3BUYaiiHUMU mryramu. 7. Ilmyr i3 mepeamTyKHUKOM BUKOPHCTOBY-
€ThCS 1711 3BUYAHOI Ta raumbokoi opanku. 8.barato ruyriB maroTh
BaXKeJI, SKUMHU PETYJIOI0Th IMHONHY opaHku. 9. Cy4acHUH TUIyT Mo-
ke MaTu o mectr nonuib. 10 Y Benukiéi bpuranii pigko Bukopuc-
TOBYIOTBCSI IUTYTH 13 IEPEATUTYKHUKAMHU.



TESSOR 9

THE MECHANIZATION CULTIVATORS HARROWS

I. VOCABULARY

to disturb the crop — nomnkoauTH a drive disengagement lever — Ba-
BpoOXkKai K1JTb BUMUKAHHS

power harrows —Baxki O0poHH an overload slip clutch — 3ano6ixHa
rotary cultivators — potauiiiti ppesu  dpuxuiitna mydra

to ensure long working life — 3a- to cover seed —3apoOATH HACIHHSA
0e3meunTH TPUBANKH eKCIuTyaTaniin-  to destroy weeds — 3HuIITYBaTH Oyp’sSTH
HUU TIepiof drill — BuciB

after frost has weathered the soil —  spring cultivation of autumn—sown
MICJIS TOTO, SIK IPYHT MiAnaBcs 1ii CcOrn — BECHSAHUU JOTJIAL 3aCisTHUX
HU3BKUX TEMIIepaTyp BOCCHH 3€PHOBHX

L-shaped blades — L-moniOHi HOXi  to set straight — npsiMo BCTaHOBIIIO-
a chain drive unit — JaHIrorona re-  BaTH
penava

II. TEXT
CULTIVATORS

1. A cultivator has a frame with a number of tines for breaking the
soil. It is usually mounted on the tractor and its working depth is con-
trolled hydraulically. As with all cultivation machinery, there is a wide
range of working widths, from 2 to 8 m suitable for all sizes of tractors.

2. Rigid tines are used for heavier works. They are arranged across
the frame allowing free passage of soil.

3. Spring tines are flexible, sometimes with a coil at the top which
vibrates in the soil. The vibrating movements of the tines will give
fast seedbed preparation in most conditions.

4. Shares are used for seedbed and general work, stubble cleaning.
When shares have been worn they must be replaced,

5. Cultivators are used for seedbed preparation, often after
ploughing: for stubble cleaning and breaking; general weed-control;
cultivation between potatoes and other rowcrops (the tines are
grouped to pass between the rows without disturbing the crop).

6. Power-take-off-driven cultivation machines include power harrows
and rotary cultivators. All power-driven cultivation machinery is costly
and needs regular maintenance in order to ensure long working life.
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7. Power harrows have two or more rows of reciprocating tines,
others have tines which rotate in the soil. Most reciprocating-tine
power harrows have two-tine bars. The drive is from the power take-
off through a gearbox and eccentric unit. A typical machine has a tine
bar stroke of 15 cm.

8. Reciprocating tine power harrows are tractor mounted and depth
control is provided by the hydraulic system. A roll is often attached
behind the harrow. The roll can be used to control working depth,
working width ranging from 1,5 to 4,5 m depending on the model.
The tines may work to a depth of about 20 cm.

9. Rotary-tine power harrows have tines fitted on the rotors across the
width of the machine. The tines are driven by the power shaft through a
gearbox. Some models have various rotor speeds. This type of power har-
row is also tractor mounted with depth control by a roll at the rear. Work-
ing width and depth are similar to those of the tine bar power harrows.

10. Power harrows make good seedbeds in spring after frost has
weathered the soil. They are suitable for both root crop and cereal
seedbed work.

11. Rotary cultivators may be mounted or trailed and have a power
take — off driven shaft with L — shaped blades which cultivate the
soil. The drive arrangement is through a gearbox and chain drive unit.
A drive disengagement lever is sometimes included in the gearbox
allowing the power shaft to turn with the blades. An overload slip
clutch is also built into the drive.

12. The rotor and blades run at speeds ranging from 90 to 240 hp,
the power shaft turning at 450 hp. Rotary cultivators are made in
working width ranging from 1 to more than 5 m. The wider types are
trailed and require tractor power of 110 kw (150 hp).

13. Rotary cultivators are used for 1) stubble cleaning; 2) seedbed
work, usually for root crops; 3) cutting up weeds and crop residues; 4)
land reclamation work.

. TEXT
HARROWS

1. Harrows are used for various purposes such as the preparation of
seedbeds, the covering of seeds, the destruction of weeds and the
aeration of soil. Many types and sizes are in use today. The most
common type is that with a zigzag frame and rigid tines.
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2 Seed harrows are light implements with closely fitted tines about
4 in (100 mm.) long. They are used for the final preparation of seed-
beds and for covering seeds after the drill. They are mounted on small
tractors.

3. Medium tractors harrows have various functions: the preparation
of seedbeds, mixing of fertilizers with soil and spring cultivation of
autumn-sown corn. The wider the implement, the more important it is
to have good arrangements for transport. Mounted implements up to 8
m wide may be used with tractors of 40-50 kw. Heavier and wider
harrows for use with tractors of about 75 km may be semi-mounted.
One type provides for lifting of the harrow sections to a wheeled
frame, the wings of which can be manually rolled behind the centre
sections.

4. Disc harrows cut and consolidate the soil. Two or more sets of
discs are fitted on a frame which may be mounted or semi-mounted.
Some heavy discs are trailed and have hydraulically operated transport
wheels. Disc diameter varies from 30 to 75 cm. Discs are supported by
bearings. Disc harrows working widths vary from 1,5 to 6 m.

5. Adjustments of disc angle. A hand-operated lever on the harrow
is used to vary the cutting angle of the discs. Disc being fitted at the
widest angle, the soil movement will be the greatest. When discs are
set straight, they will not move the soil very much and have a consoli-
dating effect.

IV. GIVE UKRAINIAN EQUIVALENTS OF THE FOLLOWING
WORDS AND WORD-COMBINATIONS:

The number of mouldboards; semi-mounted and trailed models; in
place of the mouldboards; the soil slice; both right-handed and re-
versible types; disc coulter, used for deep ploughing; digger bodies.

V. TRANSLATE INTO ENGLISH:

1. KynpTuBatop HaBINIyeThCS Ha TPaKTOp 1 Horo poboda riavOuHA
KOHTPOJIOETHCSI TipaBiiuHo. 2. KylbTUBaTop BHKOPHCTOBYETBCS IS
pO3IyIITyBaHHS Ta BUPIBHIOBaHHS PiLTi. 3. BOpOHN BHKOPHUCTOBYIOTHCS
JUIsl TMIATOTOBKU PULTI, 3HULICHHS Oyp’siHIB Ta aepauii rpyHTy. 4. Uum
LIMPLIIC NPUYIHE 3HAPSUUIS, THM BaKIHBille 100pe miarorysary obia-
pHaHHsL. 5. JIMCKOBI GOPOHM PO3DI3aOTh 1 NEPEMILIYIOTh IPYHT. 6. Pyd-
HHI Ba)X1Ib OOPOHU BUKOPHCTOBYETHCS LISl 3MIHH KyTa aTaKH JUCKIB.
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THE MECHANIZATION. COMBINE-HARVESTERS

I. VOCABULARY

auger — IIIHEK, IIIHEKOBUI KOHBEEP  capacity — MOTYKHICTh, MPOAYKTH-
bar — npyTOK, CTpIKEHB BHICTh

beater — BiTep chaff — monoga, ciuka

to consist of — ckyagarucd 3 concave — IiIOUpaHHs, JieKa
cutter bar — pi3anapHUI amapaT Crop — BpOXaii, 6ioJoriyHni Bpoxaii
to divide — minutu to direct — HampaBiATH

drum — Gapaban divider — To¥, XTO IiNHUTH

flow — moTik grain — 3epHO to fall (fell, fallen) — manmaTu
harvest — Bposait to be angled — OyTH HaxHIICHUM
reel — MOTOBMIIO combine harvester — kombaitH
self-propelled — camoxinuauit to separate — BiJJOKpEMITIOBATH
space — MmpocTip sieve — CHUTO, pPeleTo

speed — MIBUAKICTH straw — coJioMma

to thresh — monotuTH tank — Oak, pe3epByap

unit — OJMHUIIS, arperar, CeKIis, trailer — npuyin

0JIOK, BY30I

II. TEXT
COMBINE HARVESTERS

Combine harvesters are used to harvest various crops. The com-
bine harvester cuts the crop, threshes it, separates the grain from the
straw and chaff.

The mechanism of a combine harvester can be divided into three
sections. They are cutting, threshing and finally separating the grain
from the straw and chaff.

To cut the crop a reciprocating tyre cutter bar is used. There is a
divider at each side of the cutter bar. It separates the crop to be cut
from that which will be left for the next round. The crop is cut while
held against the cutter bar by the reel. After the crop is cut, the reel di-
rects it to the cutter bar platform. The reel is one of the main parts of a
combine harvester.

It has tines which can be angled to provide better cutting of the
crops.A large auger moves the crop to the centre of the platform. By
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means of tines the auger directs the crop to the main elevator which
lifts the crop to the threshing mechanism.

The threshing mechanism consists of a front beater, a heavy rotat-
ing drum, a concave, and a rear beater.

The main elevator is used to lift the crop to the front beater. It de-
livers the crop to the drum and concave. The front beater increases the
speed of the crop as it moves to the drum.

Some combines do not have a front beater. In these combines the
work of the front beater can be done by the main elevator.

Threshing takes place between the drum and concave. There are
spaces between the concave bars, so the threshed grain can fall through
on the grain pan. To reduce the speed of the crop as it leaves the cylinder
is the task of the rear beater. The rear beater is the part of the threshing
mechanism which both reduces the speed of the crop and directs it to the
separating mechanism. To separate the grain from the straw is the main
function of this mechanism. The separating mechanism consists of two
parts: the straw walkers and the grain sieves.

The grain is separated from the straw by the rising and falling ac-
tion of the straw walkers. They are driven by two crankshafts. The
grain separated from the straw moves through the straw walkers and is
directed to the grain pan under the concave.

The separating unit is used to sort the grain and chaff on the grain
pan. This unit consists of two sieves and a fan. The vibrating action of
the sieves separates the threshed grain. The fan provides a flow of air
to keep sieves clean.

The harvested grain is directed to the grain tank. Big combines
have an auger in the grain tank to provide the proper flow of the grain.

Grain tank capacities vary from 1 to 50 tonnes. A high capacity
auger is used to deliver the threshed grain from the grain into a trailer.

[1l. ANSWER THE FOLLOWING QUESTIONS ON THE TEXT:

1. What machines are used to harvest various crop? 2. What opera-
tions does the combine harvester do? 3. In what sections can the mecha-
nism of a combine harvester be divided? 4. What are these sections do-
ing? 5. What tyre of a cutter bar is used to cut the crop? 6. What is there
at each side of the cutter bar? 7. What does a divider do? 8. Where does
the reel directs the crop? 9. Where does a large auger move the crop?
10. What does the thereshing mechanism consist of? 11.What is used to
lift the crop to the front beater? 12. Where does threshing take place?
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13. What is the task of the rear beater? 14. What does the separating
mechanism consist of? 15. What is used to sort the grain and chaff on the
grain pan? 16. What does the separating unit consist of? 17. What does
the fan provide? 18. Where is the harvested grain directed? 19. What is
used to deliver the threshed grain from the grain tank into a trailer?

GRAMMAR
THE FUNCTIONS OF THE INFINITIVE

IV. DETERMINE THE FUNCTIONS OF THE INFINITIVE IN THE
FOLLOWING SENTENCES:

1. To provide a proper maintenance of farm machines is important
for the farmer. 2.A mixture of air and fuel to be compressed between
the piston and the cylinder head is necessary for combustion. 3. To
drive a straw walker two crankshafts are used. 4. Tractors to be used
for heavy operations are crawlers or tracklaying tractors. 5. To force
the fuel into the combustion chamber is the main task of a high pres-
sure pump. 6. To ignite the fuel charge an electric spark is neces-
sary.7. A film of oil to be produced between the working surfaces of
the metal parts will reduce friction and wear. 8. The main elevator to
lift the crop to the threshing mechanism must be clean.

V. TRANSLATE THE FOLLOWING SENTENCES INTO UKRAINIAN
PAYING ATTEENTION AT THE FUNCTION OF THE INFINITIVE:

1. To reduce the speed of the crop is the function of the rear beater.
2. To cut and turn the soil various types of ploughs are used. 3. The
mechanism to cut the crop is called a cutter bar. 4. Qil filters are lo-
cated between working engine parts to reduce engine wear. 5. The
crop to be cut is separated from that to be left for the next round. 6.
The air-fuel mixture must burn to move the piston with great force. 7.
To mix the fuel and air gasoline engines must have a carburettor. 8.
To harvest various crop is the main task of a combine.

VI. TRANSLATE INTO UKRAINIAN:

1. Ploughs have become main implements used for soil preparation. 2.
The construction of straw walkers and sieves will be discussed in this
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lecture. 3. In the thermosiphon system water expands as it is being heated
and rises to the top of a radiator. 4. Modern ploughs are mounted on the
tractor hydraulic system. 5. The number of grain was delivered from a
grain tank to a trailer. 6. The number of mouldboards depends on the soil
and tractor size. 7. Self-propelled machines with pick-up reel and vertical
cutter bar have been widely used in Britain and Canada. 8. On some ma-
chines speed of the fan is kept constant. 9. The crop is usually taken to
the cutter bar centre by a large-diameter auger.

VIl. a) REMEMBER THE FOLLOWING WORDS AND WORD-COM-
BINATIONS:

even flow- piBHOMIpHHH TIOTIK heavy straw crops — moBrocreoeie-
to brush the ground — nense Topka-  CTi KyJIbTypH
THUCSI 3eMITi laid crop—tonermni KyapTypu

standing crop— Gi0JOTIYHUN ypOXKai

b) READ AND TRANSLATE THE TEXT:
CONTROLS AND ADJUSTMENTS

1. The combine harvester must be set to suit various crops and
harvesting conditions. To provide efficient threshing it is necessary to
receive an even flow of crop to the drum and concave. The even flow
of the crop depends on correct adjustment of all parts of a combine.

2. Both speed and position of the reel need adjustment. Working in
a standing crop the reel should contact the straw below the ears. The
reel speed should be faster than the forward speed of the combine.

3. Working in a laid crop the reel should be set well forward. The
tines should brush the ground, when the cutter bar is about 3 inches
above the ground. The cutter bar and the knife must be in good condi-
tion. Some combines have an automatic cutting height control system.
This maintains a regular stubble height.

4. In heavy straw crops there is a risk of feeding too much material
into the combine which may result in the loss of grain over the back of
the straw walkers. To reduce the amount of straw on the straw walkers
it is necessary to reduce forward speed or raise the cutter bar a little.

VIIl. a) REMEMBER THE FOLLOWING WORDS:

windrowing or swathing — ykjaJaHHs y BaJK{
notably — oco01uBo
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b) READ AND TRANSLATE THE FOLLOWING SENTENCES:

Combine harvesters are mostly used to cut and thresh in one op-
eration, but they may be used to pick up and thresh crops which have
been cut and left in the swath or windrow.

Windrowing or swathing is mainly used before combining in Brit-
ain to avoid losses of grain before it is taken into the harvester. In
some other countries, notably Canada, its main task is to spread the
season in which combines may be efficiently used.

IX. GIVE EQUIVALENTS OF THE FOLLOWING WORDS AND
WORD — COMBINATIONS:

Cutter bar, divider, front beater, concave, rear beater, self-
propelled machines, forward speed, auger, straw walkers, concave
clearance.

X. TRANSLATE INTO ENGLISH:

1. KombaiiHu CKOLIYIOTb 3€PHOBI KyJbTYypH, MOJIOTATH iX, BiO-
KPEMJIFOOTB 3¢PHO BIJ[ COJIOMH 1 10110BH. 2.Jl1st TOTO, 1100 CKOLIyBa-
TH 3CPHOBI KyJIbTypH IpSIMUM KOMOAIHYBAHHAM, BHKOPHCTOBY€ThCS
obepranpHUil pi3anbpHU amapaT. 3.MOTOBWIJIO € OJHHUM i3 TOJOBHUX
YacTHH KoMOaiiHa. 4. MONOTUIIBHUI MEXaHi3M CKIIAJa€Thes 3 PpPOH-
taspHOrO Oitepa, 5. Ilepenniit Girep 30ULIbLIyE MIBUAKICTH MPOXO-
JUKCHHsI BpOXKAIO Ha IIUBIXY 110 OapabaHy. 6. 3ajiHiil OiTep € YaCTHHOO
MOJIOTHJIBHOTO MeXaHi3My. 7. Binokpemurorounii By3oun BHKOPHCTO-
BYETBCSL JUISL TOTO, 100 COPTYBATH 3CPHO 1 OJIOBY HA TPAHCIOPTHIN
Jomii. 8. O6epTaJ'IBHI/II/I PYX pemIeT BiIOKpeMITIoe 00MOJIOUYEHE 3ePHO.
9. Bentunsatop 3abe3rnedye MOTIK MOBITPA A TOro, 100 TpUMaTH
pemrero gnuctuM. 10. OOMOI0OYeHE 3epHO HAIPABIIETHCS B 3CPHOBUIN
OyHKep.



PO34I1 IV
FESSON a4

AGRONOMY
I. VOCABULARY:
Crops — CIJIbCHKOTOCIIOIAPCHKI chemical composition of soils — xi-
KYJBTypH MiuHMA cknan 1pyHty food crops —
feed crops — KOpMOBI KybTypH XapyoBi KyJIbTYpH
to sow — ciatu to plant — campxaTn
drill — Bucis to drill — BuciBaTH
Seeds — HaciHas planting — mocanka
range of plants — ciBo3mina tubers — KOpeHeII0au
to fertilize — ymoOproBaTh to grow — BHUPOIIYBaTH

industrial crops — TexHiuHi KyneTypu  fertility — postodicTs

II. TEXT.
AGRONOMY

Agronomy deals with the cultivation of fields for the regular pro-
duction of crops : food crops, feed crops and industrial crops. The
cultivation means the soil cultivation for planting seeds, tubers, etc.
The cultivation is made by means of various kinds of agricultural ma-
chines and implements: gang plows, harrows, sweepers, etc.

As the climate and soils greatly differ in different regions,
agronomists regularly exchange experience. This regular exchange
has increased the range of plants which may be grown in different re-
gions, and has given a start to the development of various means for
the improvement of crops.

It is known that the regular study of the chemical composition
of soils and the development of means for the reproduction of their
fertility have become a fundamental part of the agricultural sci-
ence.

It may be said that the development of agriculture has become an
important factor in the development of national economy.
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[I.LANSWER THE FOLLOWING QUESTIONS ON THE TEXT:

1. What does agronomy deals with ? 2. What does the cultivation
mean ? 3. What agricultural machines and implements do we need? 4.
What do agronomists regularly do? 5. What has become a fundamen-
tal part of the agricultural science ?

GRAMMAR
MODAL VERBS

IV. a).PAY ATTENTION TO THE WAY OF TRANSLATING THE
FOLLOWING MODAL VERBS IN THE PASSIVE VOICE:

This can be done. — Ile moxHa 3poOUTH.

Fields must be cultivated. — ITosst moTpi6HO 0OpOOIATH.

It may be said that the exchange of experience has been very use-
ful. — MoxHa cka3aTu, 1110 0OMiH JIOCB1IOM OYB Jy’kKe€ KOPUCHUM.

b) TRANSLATE THE FOLLOWING SENTENCES:

1. Cultivation must be done regularly. 2. Tubers can be planted by us-
ing machines. 3. The range of plants which may be grown in different re-
gions has increased. 4. The cultivation of fields for the regular production
of crops must be done regularly. 5.The ground preparation for planting
seeds and tubers can be done by means of various kinds of machines.

V. a) REMEMBER THE VERBS, THE FOLLOWING ADJECTIVES
AND NOUNS:

to differ — Bimpi3usaTHCS

improvement — MOIMIIEHHS, YAOCKOHAICHHS
to develop — po3BuBaT

different — pizHOMaHITHMIA

to improve — HOJIIIIyBaTH

development — po3BUTOK

b) TRANSLATE THE FOLLOWING SENTENGES:

1. Soils differ in different regions of our country. 2.The improve-
ment of soils is the most essential problem. 3. We can develop agri-
culture due to the development of the agricultural machines.
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VI. PUT THE QUESTIONS TO THE UTILIZED WORDS:

1. Agronomists from different regions regularly exchange experi-
ence. 2. The exchange of experience is a good means for the rising of
food and industrial crops. 3. The use of various kinds of agricultural
machines rises the range of food, feed and industrial crops. 4. Regular
rise of crops_is an essential element in the development of the national
economy.5.The ground preparation is done by means of gang plows,
harrows, sweepers and other implements.

VII. FILL IN THE BLANKS WITN THE NECESSARY WORDS AND
WORD-COMBI NATIONS:

1.Agronomy ... the cultivation of fields for the regular production
of food, feed and industrial crops (deal with, deals with) 2.The culti-
vation of fields ... the preparation of the ground for planting tubers
and other plants (means, mean). 3. The cultivation is done ... various
kinds of machines (by means of, by different kinds of). 4. The climate
and the soils greatly differ in ... regions of our country (difference, dif-
ferent). 5. It is known that the range of plants which may be grown in
different regions has greatly increased due to the ... between agrono-
mists (they exchange experience, exchange of experience). 6. It is
known that the exchange of experience has resulted in the increase of
the ... which may be grown in different regions (range of machines,
range of plants). 7. The study of the means which can be used for the
reproduction of the soil fertility has become an ... of the agricultural
science (useful means, important part)

Vil a). REMEMBER THE NAMES OF THE FOLLOWING IMPLEMENTS:

gang plow — 06araToKOpIyCHUHN TPAaKTOPHUH TUTYT
sweeper— 3pHXIIIoBay

cultivator — KynbTHBaTOp

harrow — Gopona

b) TRANSLATE THE FOLLOWING SENTENCES:

1. The gang plow is mounted on the tractor. 2. The harrow is an
implement which is used for the preparation of seedbeds. 3. The sweeper
prepares the soil for the drill. 4.The cultivator is usually mounted on the
tractor and its working depth is controlled hydraulically.



54

IX. TRANSLATE INTO ENGLISH:

1. ATpOHOMH BUKOPUCTOBYIOTH PI3HOMAHITHI XIMIYHI €JIE€MEHTH,
00 MiJBUIIATHA POAIOYICTh IPYHTY. 2. ATpOHOMIsS 3aliMaeTbess 00po-
OITKOM TMOJMIB AJI PEryJIIpHOrO0 BHUPOOHULTBA CLIBCHKOTOCIOAAPCH-
KHUX KyJbTyp. 3. BUBUEHHS XiMiYHOTO CKJIaJy IPYHTIB i PO3BHTOK 3a-
co0iB Il BIAPO/KEHHS POIIOYOCTI CTalo (yHIAMEHTAIbHOIO
YACTHHOIO CLIBCHKOrOCIOAAPChKOI HayKH. 5. OOPOOITOK IPYHTY 37iii-
CHIOETBCSL 32 JIOLIOMOTO0 PI3HOMAHITHHX CLIBCHKOIOCIIOAAPCHKHX
MallMH | NPUYIIHAX 3HAPSb: 6aFaTOKOpHy0HI/IX miyris, OGopiH i
KyJIbTUBATOPIB. 6. Mu BupocTHin J0GpHii BpOXKaii KOpPEHEeII0/iB. 7.
Knimar i rpyHTH € pi3HHMU B pi3HUX perioHax KpaiHu.
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THE SOIL CULTIVATION AND FERTILIZING

I. VOCABULARY

to fertilize-ymoOproBaTtu

fertilizer — noGpuBoO

to facilitate — cripustu

poultry droppings — nTammauii mo-
caig

litter manure — miaCTIAKOBUI THIl
sewage waste — KaHaJi3aliiHi BiIxoam
phosphorus — docdop

ashes — mormia

unfavorable weather conditions —

half-liquid manure — HamiBpiaKHi
THIH

composted fertilizer — kommoct
fertilizing — BHeceHHs1 10OpUB
manure — rHii

decay substance — raoiBka

peat — Topd

liquid manure — piakuii rHii
nitrogen — a3oT

potassium — kaiii

HECTIPUATIINBI TIOTOTHI YMOBH lime — BamHO
loose organical substance — cumyua

OpraHiuHa peuyoBHHA

ILTEXT
THE SOIL CULTIVATION AND FERTILIZING

The soil cultivation is made with the help of the agricultural ma-
chines which ensure the best conditions for the cultivation of the food
crops, feed crops and industrial crops. The ploughing is the most im-
portant operation. Thanks to it the plowed land can absorb and pre-
serve the moisture.

The fertilizers utilization is very important in the modern agricul-
ture. The fertilizing system is an important part in the complex of the
agricultural operations which are necessary to increase the soil fertil-
ity. The fertilizers increase the plant stability against the unfavorable
weather conditions, insects and illnesses. The numerous experiments
show that the yield increase depends upon the fertilizers in 40-
50%.And when using the intensive technologies the yield increases in
60-70%. A ton of manure during a range of plants ensure the yield in-
crease of the grain crops. The fertilizing improves the soil reaction.

The fertilizers are organical and mineral substances which con-
tain elements improving the plants vegetation and the soil fertility.
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Organical fertilizers are produced at the agricultural enterprises.
The mineral fertilizers are produced at the special industrial enter-
prises.

Manure, decay substance, poultry droppings, peat and green
fertilizer belong to the organical fertilizers. Manure is the most
wide-spread fertilizer. It contains 0.5% of nitrogen, 0.25% of phos-
phorus, 0.6% of potassium. The litter manure, half-liquid and lig-
uid manure are of great importance in agriculture. The half-rotten
manure is the most effective fertilizer. The poultry droppings is a
valuable organical fertilizer. It is used before the sowing of sugar
beets, corn and vegetable crops. The composted fertilizer is a loose
organical substance. Peat, straw, rubbish and sewage waste are
used for its production.

Mineral fertilizers are divided into two groups: industrial fertilizers
and local fertilizers. They belong to the industrial fertilizers. Ashes
and lime belong to the local fertilizers.

[1. ANSWER THE FOLLOWING QUESTIONS ON THE TEXT:

1.What is the ploughing? 2. What operations can increase the soil
fertility? 3. What do the fertilizers increase? 4. What groups of fertil-
izers do you know? 5. Where are the organical fertilizers produced? 6.
Where are the mineral fertilizers produced? 7. What substances be-
long to the organical fertilizers? 8. Why is manure the most wide-
spread fertilizer? 9. When do we use the poultry droppings? 10. What
mineral fertilizers do you know?

GRAMMAR
THE COMPLEX SUBJECT

IV.TRANSLATE INTO UKRAINIAN PAYING ATTENTION TO THE
PECULIARITIES OF THE COMPLEX SUBJECT CONSTRUCTIONS:

1. Manure is considered to be the most effective fertilizer.
2. Poultry droppings is known to be the most valuable fertilizer before
sowing sugar beets, corn and vegetable crops. 3. The composted fer-
tilizer is considered to be a loose organical substance. 4. Ashes and
lime are believed to be the local fertilizers.



57

V. a) REMEMBER THE FOLLOWING WORDS AND WORD-COMBI-
NATIONS:

ammonia saltpetre — amiadHa cenitTpa
to acidify — migkucitoBaTH

acid soil — kucnwmii rpyHT

to dissolve — po3unnsaTu

b) TRANSLATE THE FOLLOWING SENTENCES:

The ammonia saltpetre belongs to the nitrogen fertilizers. It con-
tains 34—35% of nitrogen. It dissolves in water very easily. The
plants absorb it acidifying the soil a little bit. This fertilizer is very ef-
fective for the acid soils.

VI. a) REMEMBER THE FOLLOWING WORDS AND WORD-COMBI-
NATIONS:

superphosphate — cynepdocdar
carbonate soils — kapOOHaTHI IPyHTH
phosphate flour — docdopurHe GopomrHo

b) TRANSLATE THE FOLLOWING SENTENCES INTO UKRAINIAN:

Superphosphate is considered to be the most wide-spread phospho-
rus fertilizer. It is divided into two groups: the simple superphosphate
and double superphosphate. The phosphorate flour contains 10-38%
of phosphorus. Superphosphate is effective for the carbonate soils.

VIl. a) REMEMBER THE FOLLOWING AND WORD-COMBINATION:

acidity — KHCIIOTHICTb

extinted lime — ramene BanHO

lime fertilizers — BamHsKOBI 10OpHBa
liming — BanHyBaHHS

b) TRANSLATE THE FOLLOWING SENTENCES INTO UKRAINIAN:

Lime fertilizers are very effective for the acid soils. Extincted lime
is used for the acidity neutralization of the soils. Liming enriches soils
with potassium. It is very useful for feed crops, fruits and vegetables.
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VIIl. ANALYZE THE FERTILIZING SYSTEM:

The fertilizing system is a system of the fertilizers and chemical
meliorates arrangement on the unique plot of land. While preparing
the fertilizing system it’s necessary to know the chemization level, the
necessity of fertilizing, climatic conditions and the biological peculi-
arities of the plants. The balance of nutrient substances is very impor-
tant. It determines the influence of manure, the quantity of perennial
and leguminous grasses. It’s necessary to count the quantity of min-
eral fertilizers. The fertilizers in the ranges of plants must ensure high
yields.

IX. TRANSLATE INTO ENGLISH:

1.006po0ITOK IPYHTY 3MIMCHIOETHCS 3 OTIOMOTOK) CLIBCHKOTOCIIO-
JApChKUX MAIlMH, sIKi 3a0e3MeuyroTh BUCOKI BpOXkai 36pHOBHX 1 KOp-
MOBHX KyJbTyp. 2. Cucrema ynoOpeHHs € BaKIMBOK YaCTUHOIO ijI-
BUIIIEHHS poaroyocTi IpyHTY. 3. JloOpuBa mMigBHUILYIOTH CTIHKICTh
POCIIMH [0 HECTIPUATIMBHUX MOTOAHUX YMOB. 4. Y 100peHHs moJinimrye
mporecy MiHepaizalii rpyHTy. 5. ['Hili, THOIBKA, NTAIIMHAN TTOCII],
Topd i 3emeHe JOOPUBO HANEKATh JI0 OpraHiyHMX H00puB. 6. Hamis-
nepenpunii THiil € Haibuib edexTuBHUM JoOpuBoM. 7. [lTammHuii
MOCITiJi BAKOPUCTOBYETHCS [IEPE MOCIBOM LYKPOBHX OypsIKiB, KyKy-
pynsu i oBouis. 8. Topd, conoma, cMITTs 1 KaHani3aLiiHi BIIXOIU BH-
KOPUCTOBYIOTBCS IS BI/Ip06HI/ILITBa KoMmrocTiB. 9. JIo mpoMHCIOBUX
MiHepaJIbHUX JTOOpHB HalleKaTh a30THI, POCHOpHI Ta KamiiHi 100pu-
Ba. 10. Ilomis i BanHO HaneXarth A0 MiCLIEBUX JOOPUB.



FTESSON 43

TYPES OF SOIL
I. VOCABULARY
soil — rpyHT tillage — 0OpOOITOK IPYHTY 3 TOTO-
entire — BeCh, IIUTHIH MOTOI0 /T 3HAPAAb
loam — cyriIuHOK particle — wacTtka
loamy — cyrnunuctuit clay — rnouna
lime — BamHO sandy loam — cymimanuii IpyHT
fertile — pomroumnii to till — oOpobATH
light sandy soil — nerkuit mimanuii  tilled crop — mpomnariza kyaeTypa
IPYHT fertility — pojrodicth
black soil — yopHo3eM stunt — 3aTpUMKa B POCTi
stunted — HU3BKOPOCTIHIA to germinate — mpopocTraTu
germination — MPOPOCTaHHS germinating power — CXOXICTb
II. TEXT

SOIL AND ITS MANAGEMENT

Good farming means proper use of many factors such as natural
conditions, land, crops, livestock, machinery, fertilizers and some oth-
ers. All these factors have to be put together to make the farming sys-
tem work successfully.

One of the most important points to be taken into consideration in
farming is the soil which is known to be a natural resource that sup-
ports plant life. It is a mixture of particles of rock, organic materials,
living forms, air and water.

During his entire existence upon the earth man has depended on
the soil, either directly or indirectly. Grain, fruits and vegetables are
food products obtained by man directly from the soil. Domestic ani-
mals consume grain and forage produced by the soil and in turn sup-
ply people with meat, milk, eggs and other products used for human
food. These are the products obtained from the soil indirectly.

Some good clay and loamy soils are naturally highly fertile, some
light sandy soils are naturally poor. Various factors that make up soil
fertility are moisture conditions, plant food and soil structure. All
these components may be regulated by proper management of the soil.

Soil management is the science of tillage operations, cropping
practices using fertilizers, lime and other treatments conducted on, or
applied to.
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Plant growth and yields can be increasing by applying certain rec-
ommended soil management practices, liming, fertilization and irrigation
producing, as a rule, immediate yield increases. Good soil management
results in better yields and lower cost per unit of production. Fertile soils
produce plants that are less affected by diseases and less likely to be at-
tacked by insects. In this case small losses of crops result.

The feed that livestock eat is reflected in their health. The healthi-
est animals are found on farms that have productive soils producing
high-quality feed for livestock. Certain nutrient elements are essential
in the animal’s diet for proper growth, reproduction and production.
The lack of one or more elements can cause stunted animals, less
milk, smaller litters and certain animal diseases.

So, a good chemical composition of soils provides better condi-
tions for seed germination and plant growth.

[1l. ANSWER THE FOLLOWING QUESTIONS ON THE TEXT:

1. What means good farming? 2. What are the main components of
a fertile soil? 3. What particles does the soil consist of? 4. What soils
are naturally highly fertile?

5. What does the soil management deal with? 6. What influences
upon the livestock?

GRAMMAR
ADVERBIAL CLAUSES OF CONDITION

IV. TRANSLATE INTO UKRAINIAN:

1. I don’t know whether good farming can ensure a proper use of
natural resources, land, livestock, machinery and fertilizers. 2. If the
crops are yielded from a good loam, the harvest may be rather suffi-
cient.3. If we sow grain crops on the fertile soils, the harvest will be very
good. 4. Our main task is to determine whether lime should be applied to
the soil. 5. We don’t know whether sandy soils are good for flax.

V. GROUP SENTENCES ACCORDING TO THE MEANINGS OF
THE VERB TO MAKE:

1) pobutu; 2) npuMyuIyBaTH:
1.Sunlight makes the temperature of water raise, which leads to its
evaporation. 2. Different methods are used by farmers to make high-
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quality hay. 3. The students were made to pass the examination ear-
lier.4.The use of greenhouses makes the heat balance of the area
change.5.Physical and biological factors act to make a wide variety of
environments in the world.

VI. DETERMINE WHICH WORDS FROM THE LEFT COLUMN ARE
COMPATIBLE WITH THE WORDS FROM THE RIGHT COLUMN:

poor, sandy, considerable, loamy, recent, fertile,

Soil suitable

Yield average, harmful, high, low, fresh, poor

Plant annual, capable, useful, gradual, green

Plant nutrients available, proper, rapid, major, essential, needed,

Climatic conditions | optimum, difficult, controlled
cool, efficient, early, moist, different

VII.TRANSLATE INTO UKRAINIAN:

1. A mixture of organical matter and the soil that is subjected to
biological decomposition. 2. The protection of natural resources ac-
cording to principles that will assure their highest economic effi-
ciency. 3. The practice of crop production in low rainfall areas is im-
possible without irrigation. 4. All the external conditions that may act
upon an organism to influence its development or existence.

VIIl. DETERMINE THE NOTIONS USING THE PATTERN:

PATTERN: What is plow? — It is a machine used to till the soil.
A fertilizer, a spring crop, an annual plant, a greenhouse, a domes-
tic animal, a ration.

IX.TRANSLATE INTO ENGLISH:

1. OpraHqui PEUOBHMHHU, BOJA, TMOBITPS Heo6xiz[Hi JUISL  POCIIVH.
2. BoHH MICTSTH BCe HEOOXIAHE LA POMFOYOCTI IPYHTY. 3. Baxmso,
mo0 TIPyHT MICTHB BCi HCO6X1I[H1 KOMITOHEHTU JJI1  POCIIMH.
4. PorodicTh TPYHTY MOXKHA TIOJITIIIUTH, BHOCSYH HEOOX1THI T0OpHUBa.
5. 1106 noOpe pocTy i po3BUBATHCH, POCTUHH ITOBHUHHI OyTH 3a0e3mede-
HHMMH B JIOCTaTHIi KUTBKOCTI MIKPO 1 MakpoeneMeHTamH. 6. J{esiki IpyHTH
— He nayxe pomoui. 7.Boma — TONOBHHMII KOMIIOHCHT IpYHTY.
8. HemocraTHs KUIBKICT @30Ty B IPYHTI HOTIpIIY€E PO3BUTOK POCIIHH.



FTESSON 14

SELECTION OF AGRICULTURAL GROPS

I. VOCABULARY

selection — cenekuis plant — breeder — cenekuionep
preparation — mpenapar cell — xmitnHa

cell engineering — KITiTHHHA IHKeHepiss  variety — copT

hybrid — ribpun granule — rpanyna

gene — reH gene engineering — reHHa iHXeHe-
simultaneously — oqHO9acHO pis

processing — o0poOka utensils — mocyn

to transfer — mepenaBaTu interaction — B3a€EMO/Iis

cereals — 3epHOBI bacterium (pl. bacteria) — GakTepis

dezoxyribonucleic acid (DNA) — ne3-  pest resistance — IpOTHIS IIKiTHU-
okcupuboHykieinoBa kuciota (JIHK)  kam

nitrogen — fixing genes — Oynp00-

9KOBi OakTepii sKi GiKcyroTh aTMOC-

(dbepHui a3or

II. TEXT
SELECTION OF AGRICULTURAL GROPS

Selection is an important direction of agronomy. For a long time
plant-breeders have been breeding new varieties of drought-resistant
grain crops and other agricultural plants which are resistant to the un-
favorable climatic and weather conditions. At the same time they are
characterized by a high yield productivity. The agricultural biotech-
nology is of the greatest importance. It should create the new highly
productive varieties and hybrids of the agricultural plants, biological
means of the plant protection, different preparations and the ways of
the waste recovery.

Thanks to the cell engineering the researchers have bred an unvirus
substance for different potatoes varieties. They have been breeding
new varieties and hybrids of grain crops, fruits and vegetables. They
breed seeds of sugar beets in the form of seedlings. Later they are
ready for the further sowing in the granule form.

The biotechnology is based on the fact that a celled organism is
fully preserved by a gene of the previous type. Simultaneously this
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simplest organism has much common with the microorganism. Ex-
actly it is a basis of the cell engineering and biotechnology. The plant
cells are able to divide without any limit.

It’s necessary to keep the cell sterility and that’s why we use spe-
cial utensils. The cell amount for the cultivation is provided with the
help of the plant organs processing. Their cultivation is provided into
separate cells. They are put on the nutrient environment.

The gene engineering is based on the molecular biology. It gives
the possibility of inserting changes into the molecular interaction of
the principal molecules inside the cell and outside it.

Recombinant DNA are used and will be used in the work with mi-
croorganism for the production of different valuable substances in
medicine, biochemical industry and agriculture. Besides their use is
connected with two important discoveries. New techniques developed
a rapid analysis of complicated biological molecules. After analysis
came synthesis. The first gene was synthesized. Then it became possi-
ble to synthesize necessary genes.

The construction technology of recombinant DNA is the most im-
portant achievement of the biotechnology. The agricultural, possibili-
ties of such techniques are almost as exciting. For example, it may be-
come possible to transfer the nitrogen-fixing genes of certain bacteria
to plants such as cereals which are unable to fix nitrogen. Should this
prove possible, the savings in terms of fertilizer and improved soil
fertility will be enormous. Similarly of there is the prospect of trans-
ferring to a number of different crops civic genes responsible for im-
proved yield or pest resistance

[ll. ANSWER THE FOLLOWING QUESTIONS:

. What is the selection purpose?

. How are new plant varieties characterized?

. What should the agricultural biotechnology create?
. What have the plant-breeders been breeding?

. What is the biotechnology based on?

. What is the basis of the cell engineering?

. What do we use to keep the cell sterility?

. What is the gene engineering based on?

. When are the recombinant DNA used?

10. What are two important discoveries in the gene engineering?
11. What substances are transferred for cereals?

O 0NN WN—
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GRAMMAR
THE PRESENT PERFECT CONTINUOUS TENSE

IV. TRANSLATE INTO UKRAINIAN:

1. Plant-breeders have been breeding new highly productive grain
varieties for a long time. 2. For ten years the researchers have been in-
serting changes into the molecular interaction. 3. The scientists have
been breeding new sugar-beets varieties for a long time. 4. Plant-
breeders have been breeding new grain crops varieties with a high
productivity and useful heredity for many years.

V. PUT THE INFINITIVES IN BRACKETS IN PRESENT PERFECT
CONTINUOUS:

1. Plant-breeders (to breed) new varieties and hybrids of grain
crops. 2. They (to create) new highly productive varieties of agricul-
tural plants. 3. The researchers (to breed) an unvirus substance for dif-
ferent potatoes varieties. 4. The scientists (to transfer) the nitrogen-
fixing genes of certain bacteria to cereals for twenty years.

VI. FILL IN THE BLANKS WITH THE NECESSARY VERBS:

1. The agricultural biotechnology ... new plant varieties with a high
productivity and good heredity. 2. The farmers ... new varieties of
feed crops. 3. The researchers ... special utensils to keep the cell ste-
rility. 4. The gene engineering ... changes into the molecular interac-
tion of the principal biological molecules inside the cell and outside it.
5. The researchers ... necessary genes with a high productivity and
useful heredity.

to synthesize, to create, to use, to sow, to insert

VIl. READ, TRANSLATE AND EXPLAIN THE UNDERLINED
WORDS:

DNA is the basic genetic material present in most animate organ-
isms. Molecules of DNA are found in a cell’s chromosomes. Chromo-
somes occur in pairs: one from the mother and one from the father.
The number of chromosomes differs from spices to species.
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DNA is made up of genes, /inear sections of a DNA molecule
which contain the instructions for the development of a DNA mole-
cule characteristics that living things inherit from their forbears. DNA
molecules contain the genetic instructions needed for cells to organize
strands wrapped around each other to form a double-helix.

VIIl. TRANSLATE INTO UKRAINIAN:

The plant immunity and the pest resistance has substantially increased
after the seed processing with special preparations. The special combina-
tion of different plants during the vegetation time is of the greatest im-
portance. The researchers found out that the hemp plants in the sugar
beets field may liquidate pests. A lot of different wild plants may be poi-
sonous for pests and microorganisms. In Germany farmers sow different
wild plants. Their leaves resist the pest multiplication. Different sub-
stances preserved in the leaves protect the agricultural plants from pests
and microorganisms. The substances are also synthesized artificially.

IX. a) REMEMBER THE FOLLOWING WORD AND WORD-COMBI-
NATIONS:

fungus (pl. fungi) — rpubku
wild species — muki Buan

cross — breeding- cxpeuryBaHHs
trimmed — ocy1eHuit

b) TRANSLATE THE FOLLOWING SENTENCES:

The choice of varieties and hybrids which are diseases and pest resis-
tant is very important in the plant protection. The plant-breeders solve
this problem differently. They breed varieties which have some peculiar
structure of a stem and leaves. These plants are pest resistant. It’s possi-
ble to use certain varieties which disorientate certain fungi. Nowadays the
researchers have been breeding new agricultural crops. They use wild
species of plants, and breed resistant varieties with the help of cross-
breeding, selection, molecular biology and gene engineering. Wheat with
trimmed leaves enables to protect plants from pests.

X. TRANSLATE INTO ENGLISH:

1. Cenekuisi € BaXJIMBUM HanpsMoM arpoHomii. 2. CenekuioHepu
BUBOJIATh MOCYXOCTiHKI copTH. 3. HOBI cOpTH XapaKTepHU3yIOThCS BU-
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COKOI0 BpokaiHicTIO. 4. CiibchbKOTrOCIoIapchka 010TEXHOJIOTISI CTBO-
PIO€ BHCOKONPOXYKTHBHI cOpTH 1 TiOpunu. 5. JOCIHIHUKE BUBEIA
0e3BIpyCHY PpEUYOBHHY JUIs p13H1/1x coan; kapromii. 6. Mikpo-
OpraHisMu € 6a3010 KIITHHHOI irkeHepii. 7. I'eHHa irKeHepis bazy-
€ThCsl HAa MoJIeKyJIsipHii Giosorii. 8. JIHK mae Burnsg goBroi moasii-
HOI cripanbHOT MOJIEKYJIH B SIAPI KIITHH, 1[0 MICTUTh T€HETUYHUHN KO
1 COpsMOBYE PO3BUTOK 1 (yHKLIOHYBaHHsS BCiX KIITHH. 9. CydacHi
TEXHOJIOT1] PO3BHHYIM MIBUIKAN aHaNi3 CKIaJHUX OIO0JOTIYHUX MO-
nexyi. 10. CenekmioHepy BUBOAATH CHICIU(ITHI TCHH, SKi PETYIIOI0Th
ITiIBUIIIEHHS BPOYKAWHOCTI.



FTESSON 43

THE GRAIN CROPS. WHEAT

I. VOCABULARY

wheat— nmeHuIs baking qualities — xuribonekapchbKki
protein content — BMICT OiJika BJIACTHUBOCTI

absorption — 3acBoeHHsI, HornuHaH-  windrow harvesting — po3ainbpHe
HS 30upaHHs

spring wheat — sipa nIeHH!Is sticky substance — kJeiikoBrHa
ripening — HaJIUBaHHS, CTUIIIICTD winter wheat — o3uMa MIeHUIs
precipitations — onaan liming — BamHyBaHHs

swath — Banox sowings — MOCiBU

header — xaTka nutrition — miJPKUBIIEHHS

environmental conditions — ymoBu  to thresh — oOMosiouyBaTH
OTOYYIOUOT0 CepeIOBHUILA

Il. TEXT
WHEAT CULTIVATION

Wheat is a principal grain crop. Nowadays two wheat varieties are
of the greatest importance for the production: mild and firm ones.
Wheat yields are very stable in the main cultivation zones. Wheat is
very demanding to the substantial fertilizing. According to the baking
qualities all the wheat varieties are divided into three groups: strong,
valuable or middle and weak ones. The protein content in the grain of
the strong wheat variety should be up to 14%. The sticky substance
content should be up to 28%. Its quality must belong to the first group.

The growth and vegetation peculiarities of the winter wheat and
the nutrient substances cause its high demands of the soil fertility.
That’s why winter wheat is high-yield only on the fertile soils. If a
substantial quantity of the organical and mineral fertilizers is applied,
it’ll be high-yield too. The black soils are the best for the wheat culti-
vation. They contain much moisture and many nutrient substances.
Wheat is low-yield on the light sandy, loamy and acid soils. A high
wheat harvest is possible after a substantial application of organical
and mineral fertilizers and after liming.
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The winter wheat has 12 stages of its development. The productiv-
ity elements are formed at that time. That’s why the plants are not
equally demanding to the environmental conditions during the vege-
tation time. Wheat seeds germinate by +1-2 degrees. But wheat shoots
appear by 15- 18 degrees over zero. The winter wheat is characterized
by the cold endurance. Under the snow blanket of 20 cm wheat can
endure 30 degrees below zero. The winter wheat is very demanding to
the moisture. If there is a moisture lack in the germination time, wheat
is low-yield. At the blossom and ripening periods a high temperature
and a lack of precipitations may cause the harvest waste.

The spring harrowing is an important agrotechnical measure to
keep winter wheat sowings in order. The application of nitrogen fer-
tilizers, the weeds and insects destruction are also very important
factors. The nitrogen fertilizers are used for their better nutrition. It’s
necessary to cut and thresh winter wheat very quickly. Headers are
used for the windrow harvesting. The swaths are threshed after a short
drying and biological ripening of the yield. Before the transportation
to the elevator grain is dried additionally.

[1l. ANSWER THE FOLLOWING QUESTIONS ON THE TEXT:

1. What crops does wheat belong to? 2. What wheat varieties are
of the greatest importance? 3. What is the protein content in the grain
of the strong variety? 4. What is the sticky substance content in the
grain of the strong variety? 5. What soils are the best for the wheat
cultivation? 6. What soils are low-yield? 7. How many development
stages are very characteristic for wheat? 8. When do wheat seeds ger-
minate? 9. What may cause the harvest waste? 10. What important
agrotechnical measures are necessary to keep winter sowings in or-
der? 11. What implements are used for the windrow harvesting?

GRAMMAR
THE PRESENT INDEFINITE TENSE IN THE PASSIVE VOICE

IV. TRANSLATE INTO UKRAINIAN:

1. The wheat varieties are divided into three groups. 2. Wheat is
cultivated in our region. 3. A substantial quantity of the organical and
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mineral fertilizers is applied on the sandy soils. 4. The productivity
elements are formed at that time. 5. Headers are used for the windrow
harvesting.

V. PUT THE INFINITIVES IN BRACKETS IN PRESENT INDEFINITE
PASSIVE VOICE:

1. The protein content of the weak wheat varieties (to increase).
2. The best wheat yields (to harvest) on the black soils. 3. After liming
the organical and mineral fertilizers (to apply) on the acid soils.
4. Winter wheat (to characterize) by the cold endurance. 5. The weeds
and insects (to destroy) in spring.

VI. FILL IN THE BLANKS WITH THE NECESSARY VERBS:

1. The growth and vegetation peculiarities of the winter wheat ...
its high demands to the soil fertility. 2. Black soils ... much moisture
and many nutrient substances. 3. In order to have a high wheat harvest
we ... organical and mineral fertilizers. 4. Headers ... wheat after a
short drying and biological ripening of the grain.

to thresh, to contain, to apply, to cause

VIl. a) REMEMBER THE FOLLOWING WORDS AND WORD- COM-
BINATIONS:

annual grasses — OJHOpPIYHI TPaBU

fallow ground — 3emu1s i mapom

mayze corn silage — KyKypy/13a Ha CHJIOC
pea — ropox

b) TRANSLATE THE FOLLOWING SENTENCES:

The winter wheat fertilizing depends upon the soil and climatic
conditions, its variety peculiarities and the cultivation technology.
Fertilizing, its amount and the quantity of the nutrient substances
greatly influence on the yield capacity of wheat. Very often winter
wheat is sown after annual grasses, mayze silage and leguminous
crops. In some areas winter wheat is sown after pea and sometimes on
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the fallow ground. It’s very important to preserve the moisture bal-
ance.

VIIl. TRANSLATE INTO UKRAINIAN:

During the soil preparation for winter crops it’s very important to
destroy weeds and preserve moisture. After scrubbling on the acid
soils liming and soil tillage are also desireable. It’s necessary to
plough not later than 25 days before sowing. The intensive technology
of the wheat cultivation needs many mineral and organical fertilizers.
A high yield capacity is possible with the grain of a high quality.

IX. a) REMEMBER THE FOLLOWING WORDS AND WORD-
COMBINATIONS:

blossoming — BITIHHS

ear — KOJI0C

full-earedness — kosocinHs

lactic ripening — MOJIOYHA CTHUTJIICTh
solution — po3unH

b) TRANSLATE THE FOLLOWING SENTENCES:

The wheat with a high protein content may be harvested after the
nitrogen application. The nitrogen fertilizers are applied in the form of
a solution with a sharp concentration. It’s necessary to apply the ni-
trogen fertilizers at the period of the ear formation or more exactly at
the time of the full-earedness, blossoming and the grain lactic ripen-

ing.
IX. TRANSLATE INTO ENGLISH:

1. ITmreHuIst — 11€ TOJIOBHA 3€pHOBA KyJnbTypa. 2. 3a xjidorekap-
CBKHMH BIIACTHBOCTSMHU BCi copTH MIICHMI TTOAUIAIOTECS HA TPHU
KJIaCH: CHJIbHI, IIHHI Ta cepeiHi i ciabki. 3 BmicT Oinka B 3epHi cH-
JHHOT MIICHUII Mae 6yTH He MeHme 14%. 4. OcobGnmBocTi pocty i
PO3BUTKY POCIHUH 03UMO1 H]_HCHI/ILII Ta 3aCBOE€HHS IMMOXXUBHUX PCYOBUH
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3YMOBJIIOIOTH i1 BUCOKI BUMOTH J0 POJIOYOCTI IpyHTY. 5. Halikpamu-
MU IPYHTaMH [JIs BUPOILYBAHHS NeHuIi € yopHosemu. 6. Jlerki mi-
WwaHi i CymimaHi IPyHTH, & TAKOXK KHCIi IPyHTH JUI BUPOLLYBAHHS
03MMOI MIIEHHUII € MaJonpuaaTHUMH. 7. O3uma mienuns mae 12 era-
niB opranorenesy. 8. HaciHHs NuIeHnui IpOpoCTae mpy TeMIeparypi
—2 +1 rpagyen C. 9. B mepion UBITIHHS | HAIMBaHHs 3¢PHA BHCOKA
TemIepaTypa i Maa KilbKiCTb ONa/iiB MOXKE IIPU3BECTH 10 3HIKCHHS
Bpoxka. 10. BaxxmuBUM arpoTexXHIYHUM 3aX0/I0M € BECHSHE OOPOHY-
BaHHS, BHECEHHS a30THUX MOOpHB i 3HUIICHHS Oyp’sHiB. 11. XXatku
BUKOPHCTOBYIOTHCS MPU PO3JUIbHOMY 30upanHi. 12. Banku o6mono-
YYOTh MICJIS CYIIIHHS 1 JOCTUTAHHS 36PHOBHX KYJIBTYP.



FESSON 16

THE GRAIN CROPS. RYE

I. VOCABULARY

boron — Gop

copper — Mijib

density— rycrora

drought — 3acyxa

hydrological soil acidity — rigposoriyHa KUCIOTHICTb IPYHTY
leguminous crops — 6000Bi1 KyJIbTYpH

rye — XHUTO

sensitive — Yy TIMBHIMA

soil acidity — KHCIOTHICTB TPYHTY

solution — po3uuH

superphosphate — cynepdocdar

to react(to) — pearyBaTtu

weak acid reaction— crabka KHCJIOTHA PeaKIIis
Zin¢c — IUHK

Il. TEXT
RYE CULTIVATION

Rye is an important food crop. It is one of the principal grain
crops. Rye is not very demanding to the climatic conditions. Its sow-
ings may be found on the loamy soils. Because of the soil acidity rye
belongs to the third group of the agricultural crops. It bears an ex-
treme acidity. Rye positively reacts to high lime norms. Besides it
may grow satisfactorily in the conditions of the phosphorous soil so-
lution up to 7,5%. But it grows in conditions of a weak acid reaction.
That’s why it’s necessary to do liming and reach a weak acid soil en-
vironment. The lime doses are determined by the norms of the hydro-
logical soil acidity.

Rye is very sensitive to the lack of the nutrient substances. It may
grow quickly having about 100 — 150 mg of phosphorous and up to
180 mg of potassium. Depending upon the cultivation conditions rye
produces a ton of grain and a corresponding straw quantity from 1 ha.
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About 36 kg of nitrogen, 14 kg of phosphorous and 28 kg of potas-
sium are absorbed on 1 ha of rye.

It’s necessary to keep to the stem density. It depends upon the
vegetation conditions during the first and the second vegetation
stages. At the fourth vegetation stage grain in the ear starts to form.

Manure and mineral fertilizers are applied mostly in spring during
ploughing. Rye needs much nitrogen. In the drought conditions of the
spring period ammonia saltpetre is applied. Rye reacts positively to the
microfertilizers. It needs much superphosphate, boron, copper and zinc.

Rye may be sown on the fallow ground after perennial grasses, af-
ter mayze silage and leguminous crops, flax and potatoes.

The harvest period lasts about 12 days. Rye is cut in swaths. The
swaths are threshed after a short drying and biological ripening of the yield.

[1l. ANSWER THE FOLLOWING QUESTIONS ON THE TEXT:

1. Is rye demanding to the cultivation conditions? 2. What group of
agricultural crops does rye belong to? 3. On what soils is rye grown?
4. How are the lime doses determined? 5. How much grain does rye
produce from 1 ha? 6. What fertilizers are applied in spring? 7. What
fertilizer is applied in the drought conditions? 8. What mineral fertil-
izers does rye need? 9. How can we harvest a high yield? 10. How
many days does the harvest period last?11. How is rye harvested?

GRAMMAR
THE PAST INDEFINITE TENSE IN THE PASSIVE VOICE

VI. TRANSLATE INTO UKRAINIAN:

1. Many years ago rye was cultivated in our region. 2. Nutrient
substances were absorbed by plants. 3. The stem density was kept cor-
rectly. 4. Ammonia saltpetre was applied in spring.

V. PUT THE INFINITIVES IN BRACKETS IN PAST INDEFINITE
PASSIVE VOICE:

1. Rye sowings (to find) on the loamy soils. 2. The lime doses (to
determine) with the help of the hydrological soil acidity. 3. Manure
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and mineral fertilizers (to apply) mostly in spring. 4. Rye (to sow) on
the fallow ground.

VI. FILL IN THE BRACKETS WITH THE NECESSARY VERBS:

1. Rye ... on the loamy soils. 2. It ... a ton of grain and the corre-
sponding straw quantity. 3. The stem density ... the vegetation condi-
tions. 4. We ... manure and mineral fertilizers. 5. Rye ... the micro-
fertilizers.

to react to, to depend upon, to apply, to produce, to grow.

VII. TRANSLATE INTO UKRAINIAN:

Before sowing seed is processed with granosane, kynolite, mercur-
bensole and other substances. The seed sterilization is connected with
the simultaneous drying. The processing is made with the help of the
special equipment for the half-dried sterilization. The thermal seed
treatment helps to protect plants from pests. The sowing norms are
established according to the soil state, its fertility and humidity. It’s
also necessary to keep to sowing terms and the biological peculiarities
of the rye variety.

VIll. a) REMEMBER THE FOLLOWING WORDS AND WORD-
COMBINATIONS:

layer — map
sowing term — CTpOK ciBOM
to split — po3’eqHyBaTuCs

b) TRANSLATE THE FOLLOWING SENTENCES:

Triticale belongs to the grain crops. It is very demanding to the soil
fertility. Triticale is a hybrid. It’s a wheat and rye hybrid. The best soil
for triticale is the black soil. Its winter variety is resistant to the
ground frosts. It isn’t split to the paternal types of wheat and rye.
Triticale is sown on the fallow ground and on the former pea field. A
layer of perennial grasses, mayze silage and leguminous crops is also
positive for triticale. September is a sowing term for triticale.



75

IX. TRANSLATE INTO ENGLISH:

1. JKuto € BaxXIMBOIO 3€pHOBOI KyJbTyporw. 2. Halikpamumu
TPYHTaMH Ui BUPOIYBAaHHS XHTa € YOpHO3eMH i cyriauHkd. 3. Ha
KUCIUX MOTPiOHO MPOBOAMTH BamHyBaHHA. 4. Jlo3u BamHa BH3Haua-
I0OTBCS 3 JOMOMOTOI0 HOPM TiIPOJIOTIYHOT KHCJIOTHOCTI TPYHTY.
5. Kuto € nyxe 4yTJIMBUM JI0 MOKMBHUX pedyoBUH. 6. B 3anexHocTi
BIJ| SIKOCTI IPYHTY JKUTO MOXC JiaBaTh NOCTAaTHIO KUIBKICTb 3epHA i
BI,ZIHOBI,ZIHy KUIBKICTB COoMy 3 rekrapa. 7. I1ig qac yerBeproro eramy
Bererauii nounHae popmyBaTuch 3epHO B Kostoci. 8. I'Hiii i MiHepaiib-
Hi 700prBa BHOCSTH HABECHI Il OCHOBHUH 00pobiTok. 9. XKurto mo-
TpeOye Oarato cynepdocdary, 6opy, mizi i muaky. 10. XKuro cromry-
I0Th y BaJIKU.
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INDUSTRIAL CROPS. POTATOES

I. VOCABULARY
aminoacid — aMiHOKHCJIOTa magnesium — MarHii tillage
arduous — TpyIOMiCTKHH root system — KOpeHeBa CHCTeMa

black soils — cymimani yopHozemn  loamy
calcium saltpetre — kanbiiifioa cenitpa  shale — cnanens

clay soils — rimHHCTI IpyHTH starch — kpoxman

content — BMICT to germinate — MpPOPOILYBaTH

Crop — IpocarHa KyJIbTypa to warm — mporpiBaTu

grey forest soils — cipi micoi rpyaTH  underground amount — rmi3eMHa Maca
high-yield — BucokoBpoOXKaiHUIH weeds — Oyp’sHU

low-yield — HU3BKOBpOXKAWHIIA yield capacity — BpoxaiiHicTh

II. TEXT

POTATOES CULTIVATION

Potatoes belongs to the most important agricultural crops. It’s very
valuable for the human nutrition. The potatoes value is determined by
the high tasty data and favourable chemical composition for the hu-
man health. Generally its tubers contain about 75-80% of water and
up to 25% of dry substances. The protein content is up to 20%. It is
easily absorbed and divided into sugar amounts. According to its ami-
noacid content potatoes is very close to meat. Potatoes tubers contain
much potassium, calcium, magnesium, phosphorous and iron.

Potatoes is a valuable feed crop especially for pigs. It is also a valu-
able industrial crop. We use potatoes as a principal raw material to pro-
duce glucose, starch, alcohol, etc. Potatoes is a tillage crop. It is of a high
agrotechnical importance. It influences positively upon the grain crops if
it is sown the next year. Potatoes belongs to the crops of the moderate
climate. If the temperature falls to 7-8 degrees below zero or rises up to
30 degrees over zero, potatoes stops its vegetation. This crop is very de-
manding to moisture. It forms a big underground amount having a devel-
oped root system. If the soil humidity is 75 — 80%, a high potatoes yield
is harvested. Potatoes is cultivated on the sandy and loamy black soils
and grey forest soils. Former peat deposits are good for the potatoes cul-
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tivation. Potatoes is high-yield on the sandy soils with a substantial
amount of the organical fertilizers. It is low-yield on the clay soil and
shale. Flax, winter crops and perennial grasses positively influence on a
high yield of potatoes. A main task of the soil tillage is a deep ploughing
of a soil layer, the formation of the favourable water and aerial condi-
tions, the weeds destruction, the moisture preservation and the increase of
the soil nutrient substances. In order to increase the soil fertility and the
yield capacity it’s very important to enrich fields with organical fertiliz-
ers. After fertilizing the seedbed is plowed again. Later it’s necessary to
sow quick-growing cabbage crops, oil reddish, mustard,etc. Organical
fertilizers and cyderates improve the soil structure and the yield capacity,
Mineral fertilizers such as nitrogen fertilizers and calcium saltpetre also
improve the yield capacity.

The seed material preparation is an arduous process. It forsees both
the tuber preservation in the winter time and job in spring. In spring
it’s necessary to warm and germinate the selected tubers. It is also
necessary to disinfect them before the sowing.

Nowadays about 70 potatoes varieties are utilized in agriculture.
Depending on their utilization they are divided into four groups: food
varieties, feed varieties, industrial varieties and universal varieties.

1. ANSWER THE FOLLOWING QUESTIONS ON THE TEXT:

1.How is the potatoes value determined? 2. What is the chemical
composition of potatoes tubers? 3. What products are produced from
potatoes? 4. What crops does potatoes positively influence on? 5.
When does potatoes stop its vegetation? 6. What soils are good for the
potatoes cultivation? 7. Where is potatoes low-yield? 8. What is it
necessary to do after fertilizing the seedbed? 9. What is it necessary to
do with the selected tubers in spring? 10. How many potatoes varieties
are utilized in agriculture? 11. What groups are they divided into?

GRAMMAR
THE FUTURE INDEFINITE TENSE IN THE PASSIVE VOICE

VI. TRANSLATE INTO UKRAINIAN:

1. The protein will be easily absorbed and divided into sugar.
2. Potatoes will influence on the grain crops. 3. Flax, winter crops and



78

perennial grasses will be cultivated on the fields. 4. The seed material
preparation will forsee the tuber preservation at the winter time.
5. The feed varieties of potatoes will be grown for pigs.

V. FILL IN THE BLANKS WITH THE NECESSARY VERBS:

The potatoes need for moisture ... in the blossom time. 2. The root
system ... more oxygen than other plants. 3. In order to increase the
soil fertility and yield capacity it’s necessary ... fields with organical
fertilizers. 4. The ammonia saltpetre insertion ... the vegetation.

to enrich, to absorb, to increase, to facilitate

VI. a) REMEMBER THE FOLLOWING WORDS AND WORD-COMBI-
NATIONS:

row-middle — mixkpsiaas herbicides — repOinuau

b) TRANSLATE THE FOLLOWING SENTENCES:

The chemical method of the weed destruction is very effective. It’s
necessary to use the agrotechnical method. First of all it forsees the
field choice, the effective spring tillage and the row middle ploughing.
If the effectiveness is not sufficient, it’s necessary to use different
herbicides.

VIl. a) REMEMBER THE FOLLOWING WORDS AND WORD-COM-
BINATIONS:

colorado beetles/bugs (Amer.) — K0JIOpaJChKi KyKH
voracity — IpoKepiIuBiCTb

ovum (pl. ova) — siitie

larva (pl. larvae) — nuumnnka

to spray — OIPUCKYBaTH

b) TRANSLATE THE FOLLOWING SENTENCES:

The Colorado beetle is a principal pest of potatoes fields. It is ac-
customed to different climatic and weather conditions. It is also char-
acterized by a great fertility and voracity. Each bug female lays about
3000 ova. Its larvae may destroy potatoes plants on the area of 2,5 ha.
That’s why it’s necessary to spray insecticides twice during the vege-
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tation time. We may use different insecticides mostly of phosphorous
and organical composition. Nowadays the piretroide variety of insec-
ticides is widely spread in Ukraine.

VIIl. TRANSLATE INTO UKRAINIAN:

The early varieties of potatoes are harvested before the physiologi-
cal maturity of tubers comes. The early varieties for seeds preserva-
tion are harvested in August. The late-ripening tubers are harvested by
the first of October. The ground frosts may damage tubers. We can
use three harvesting methods: In-line harvesting, the combine har-
vesting and the separate harvesting.

IX. CHARACTERIZE THE DUTCH TECHNOLOGY OF THE POTA-
TOES CULTIVATION:

The Dutch technology ensures a high yield capacity. It’s necessary
to follow the range of plants. One must apply a lot of organical and
mineral fertilizers. Heavy harrows are used in spring to preserve
moisture. Each tuber should be about 55 mm. The distance between
each tuber must be 22-24cm. The width of row middles should be
75cm. The tubers are planted at the depth of 6¢cm. It’s necessary to
form the furrow ridge. It’s also important to put tubers at the equal
depth. It facilitates a quick germination.

X. TRANSLATE INTO ENGLISH:

1. Kapromust HaneXuTh 10 HAHBKIMBILIIMX CLUIBCHKOTOCIONAPCH-
KUX KyJIbTyp. 2. Bynsou mictare 75—80% Boau 1 10 25% cyxux pe-
4OBUH. 3. 3a CBOIM aMiHOKHCIIOTHHM CKJIaJOM OUIOK ONU3BKUH 10
M’sica. 4. 3 KapTOILIl BUTOTOBIISIOTH CIIUPT, KPOXMAJ i Iiroko3y. 5. Lls
KyJIbTypa — Jy)Ke BUMOIJIMBA 10 BOJIOTHU, OCKUIBKH (popMye BEIIUKY
Ni3eMHY Macy IIpH BIIHOCHO MaJIOPO3BHHYTIil KOPEHEBIi cucTeMi. 6.
Kapromist BUPOILLY€ThCsl Ha CyMIlaHUX 1 CYNIMHUCTHX YOPHO3EMaX,
JCPHOBHX 1 CIPHX JICOBUX IDYHTaX. 7. Kaproms Hobpe pojuTh Ha
MII@HUX IPYHTaxX [PH BHECCHHI 3HAYHOI KUIBKOCTI OPraHIYHHX 100-
puB. 8. OCHOBHUM 3aBOaHHAM OOpOOITKY IPYHTY MiX KapTOILIIO €
rmboke posiylryBaHHs opHoro mapy. 9. IliaroroBka HaCIHHEBOTO
marepiany € TpyaomicTkum mpouecoM. 10. Hapa3i BUKOpUCTOBY€EThHCS
noHaza 70 copTiB KapTOILII.



FTESSOUN 48

INDUSTRIAL CROPS. HOPS

I. VOCABULARY:

acid — xuciora particle — vacTtka

annual — piqanit perennial — GaraTopiunHuit

aromatic variety — apoMaTHIHHHA pitch — cmoma

copT sample — 3pa3ok

bitter variety — ripkuii copt seedling — camxanenp

black soil — yopHO3eM temperate climate — moMipHHUit KJ1iMaT
cone — HIMIIKa turf-podzol soil — nepHoBo-

foetus — g Mi30UCTHI TPYHT

hemp group — poauna koHormeBux  volatile oil — edipHa oist
humidity — Bosora

II. TEXT

HOPS CULTIVATION

Hops belongs to the hemp group of plants. The Ukrainian varieties
belong to the ordinary hops varieties. It is a perennial plant which
consists of the underground and overground parts. The hops foetus is
a firm grayish-brown cone 3 mm long and 2 mm wide.

Hops is very demanding to the natural and climatic conditions.
It substantially influences on its development and productivity. It is
a crop of the temperate climate. Hops is cultivated in the zones
with the average annual temperature of 8 degrees over zero in
spring, with the average daytime temperature 17—19 degrees over
zero at the vegetation time and without any sharp change in the af-
ternoon and at night.

Hops likes humidity. It needs 500—600 mm of the annual rain-
falls. About 250—300 must fall on the vegetation period. Hops re-
quires relative air humidity of about 70—80 per cent. The light posi-
tively influences on the yield and especially on its quality. During the
vegetation time hops requires 1600 hours of the sun radiation. Hops
needs about 700—750 hours of radiation during blossoming and about
850 hours of the sun radiation before harvesting.
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Hops needs peculiar soils. Its best soils are turf — podzol, grey
forest and black soil. Hops planting is a very responsible agrotechni-
cal process. The further vegetation, the life duration and productivity
of hops plants strongly depend upon hops. The best planting term is
autumn and the best planting material is a seedling.

The forest planting machine MLU-1 as an implement with a tractor
is used for the mechanized planting.

The aromatic varieties with a small percentage of bitter particles
are widely used in the modern selection. The bitter varieties were used
earlier. The hops varieties contain a certain quantity of common
pitches, alfa-acids, beta-acids, common polyphenoles and the volatile
oil in the laboratory samples of the cones after the recount to the dry
substance quantity.

Different hops varieties of the Ukrainian and foreign selection are
cultivated in our country. They are the British varieties: Northern
Brewers, Brewers Gold, Bullion, etc. Ukrainian hops varieties are
Alta, Kumir, Polyssian, Zagrava, etc.

Ukraine occupies a certain position at the world and European
hops market.

1. ANSWER THE FOLLOWING QUESTIONS ON THE TEXT:

1. What groups of plants does hops belong to? 2. How can you
characterize hops as a plant? 3. In what zones is hops widely culti-
vated? 4. What are the climatic conditions for the hops cultivation? 5.
What soil does hops need? 6. What terms are the best for hops plant-
ing? 7. What substances does dry hops consist of? 8. What hops va-
rieties are cultivated in our country?

GRAMMAR
MODAL VERBS AND THEIR EQUIVALENTS

IV. TRANSLATE INTO UKRAINIAN:

1. Hops can be grown in the temperate climatic conditions. 2. The
average annual temperature must be very favourable for hops. 3. Bit-
ter hops varieties could be cultivated earlier. 4. Aromatic varieties are
to be cultivated now. 5. Different hops varieties of the Ukrainian and
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foreign selection have to be cultivated now. 6. The annual rainfalls
about 250—300 mm must fall on the vegetation time.

V. TRANSLATE THE WORDS IN THE BRACKETS INTO ENGLISH:

1. Hops (mo3xe) be very profitable. 2. We (moBunHi) apply mineral
and organical fertilizers. 3. Hops (moxe) be harvested in August.
4. Bitter hops varieties (Mornu) be cultivated earlier.

VI. a) REMEMBER NEW WORDS AND WORD-COMBINATIONS:

wash-basin — ymMuBaIbHHK

to check weedy growth — 3nxilicHIOBaTH CTpUMYIOUYHMil BILUIMB Ha
pict Oyp’siHIB

to apply as a powder — 3acTOCOBYBaTH y BUIJISA IOPOIIKY

a control agent against weeds and insects — 3aci6 GopoTsOU 3
Oyp’siTHaMH 1 KOMaxaMu

to render poisons — 3HELMIKOAUTH OTPYTY

b) TRANSLATE INTO UKRAINIAN:

THE SECURITY REGULATIONS DURING
THE PESTICIDE INSERTION

The majority of pesticides are very poisonous for the people. Pesti-
cides check

weedy growth. Pesticides may be applied as a powder. They are a
control agent against weeds and insects. But it’s very important to be
rather careful applying them. The pesticides should be kept in special
stocks with a concrete floor. It must be isolated from any other prem-
ises. It’s necessary to have special scales, wash-basin, soap, towels
and the means to render poisons.

VII. FILL IN THE BLANKS WITH THE NECESSARY VERBS:

1. Hops ... relative air humidity. 2. The bitter hops varieties ...
earlier. 3. The light positively ... on the yield and especially on its
quality. 4. Different hops varieties ... in our country.

to cultivate, to use, to require, to influence
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VIIl. CHARACTERIZE THE PECULIARITIES OF THE HOPS VARIETY:
REGENT

The Regent variety was compiled by means of the individual se-
lection from the hybrid group of the British hops variety Northern
Brewers. It is a variety with a middle yield at the vegetation period of
120 days.

The hops cones are oval. The cone length is up to 4,4 cm, the
width is up to 2,9 cm. The cone fragrance is nice and stable. The
cones contain:

a. common pitches — 12,3 — 18,3%

b. alfa-acids — 4,0 — 7%

c. beta-acids — 5,4- 6,7%

d. common polyphenoles — 3,0 — 5,7 %

e. the common quantity of the ether oil — 1,9 — 2,8%

XI. TRANSLATE INTO ENGLISH:

1. XMisb HaIeXKHUTh O POJMHH KOHOIUICBHX. 2. XMib — Jyxke
BUMOIJIUBUH 10 IPUPOJHHUX 1 KIIIMaTHYHUX YMOB. 3. Bin motpebye
500—600 mm piunux omaxiB. 4. [1ig gac Bereramii xminbp morpedye
1600 roJuH COHSYHOI paz[iaui'l' 5. Halikpamumu rpyHTaMH € 11113011~
cTi, c1p1 JICOBI1 TPYHTH 1 YOPHO3EMH. 6. Pi3ni COPTH XMEJTIO YKpaiHChb-
KO 1 3apy61>1<H01 ceneKuu BUPOLIYIOTHCS B HaIIin Kpa1H1 7. Ykpaina
3aliMa€e BIJMIOBIHE MICIIC Ha CBITOBOMY 1 €BPOICHCHKOMY PHHKY
XMEJIIO.
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INDUSTRIAL CROPS. FLAX

I. VOCABULARY

ammonia saltpetre — amiauna ceitpa nutrient substances — MoXKHBHI pe-
blossom — cynBitTs YOBHHU

bulk — maca phosphorous fertilizers — ¢ocdopni
fibre — BoIOKHO Jo0puBa

fibre production — BUpOOHUIITBO potassium fertilizers — xaniitai 706-
BOJIOKHA puBa

flax — npoH poultry droppings — nrammauii o-
flax shoots — cxoau THOHY cIIi

flax straw — pOHOCOTOMA stem — cTebJ10

germinating power — CX0XiCTh stock — Tpecra

ground frosts — nMpUMOpPO3KH warmth — Teruio

maturity — CTUTTICTb wax — BICK

nitrogen fertilizers — a3otHi noOpuBa  waxen film — BockoBHiT HaIIT

II. TEXT
FLAX PRODUCTION

Flax is mainly cultivated for the fibre production. Its principal pro-
ductive part is a stem. Its share in the common bulk is about 75—
80%.

The flax plant is one-stemmed. Its height is 70—125 cm. Its di-
ameter is 0,8 — 1,5mm.

The stem is of a cylindrical shape. It is covered with the waxen
film of the greenish and dark green colours. The most valuable part of
the stem is its productive length (50—110 cm). It is a stem from the
spot with seed leaves up to the blossom spot.

The higher is the stem and the longer is its productive part, the
longer is its fibre. The fibre of the best quality is produced from thin
stems.

Flax is an industrial crop which requires more humidity, warmth
and nutrient substances. All the physiological processes occurred in-
side the flax plants take place only with a warm temperature. For a
whole vegetation period flax requires quite a high amount of active
temperatures.
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The best temperature for the growth is 9 — 18 degrees over zero.
Flax shoots can bear ground frosts. But the germinating power is still
high. Flax likes humidity. During the seed germination it absorbs the
water quantity equal to its amount. The moisture conservation is of a
great importance for the flax production.

Flax is cultivated on the different types of soils. But a high yield
may be harvested from middle and light loamy soils. Sandy soils are
low-yield because they obtain little nutrient substances and preserve
little moisture. Both organical and mineral fertilizers positively influ-
ence on the flax yield. The poultry droppings are good enough for
flax. Poultry droppings contain a lot of nutrient particles which are
quickly absorbed by the plant. Flax also needs nitrogen, phosphorous,
potassium fertilizers and ammonia saltpetre.

Flax is harvested with the help of flax combines at the period of
the yellow maturity. At that time no more than 5% of green seeds re-
main on the stems. The highest yields are best at the maturity phase.
Seeds, flax straw, stock and fibre are of the best quality.

[1. ANSWER THE FOLLOWING QUESTIONS ON THE TEXT:

1. What is flax cultivated for? 2. What is the size of the flax
plants? 2. How does the flax stem look like? 4. What does flax require
for the whole vegetation period? 5. On what soils may a high yield be
harvested? 6. What soils are low-yield? 7. What organical fertilizers
have a positive influence on the flax yield? 8. What mineral fertilizers
are good enough for the flax yield? 9. How is flax harvested? 10.
When are the highest yields best?

GRAMMAR
THE POSSESSIVE CASE OF THE NOUNS

IV. TRANSLATE INTO UKRAINIAN PAYING ATTENTION TO THE
PECULIARITIES OF THE POSSESSIVE CASE TRANSLATION IN
ENGLISH:

1. The agricultural society’s flax shoots are always of a good quality.
2. The flax fields are situated in a stone’s throw from the village.
3. The flax goods market is filled to the population heart’s content.
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V. FILL IN THE BLANKS WITH THE NECESSARY VERBS:

1. Flax ... for the fibre production. 2. It ... more humidity, warmth
and nutrient substances. 3. At the period of the seed germination it ...
much water. 4. The flax shoots ... ground frosts. 5. Sandy soils ... lit-
tle nutrient substances.

to require, to be cultivated, to absorb, to bear, to obtain

VI. TRANSLATE INTO UKRAINIAN:
SOWING

Flax greatly depends upon the seeds sowing quantities. Seeds
should be well-shaped, shining and smooth without any additional
particles. The flax seeds must be light brown. They should have a high
germinating power. The seeds must be kept in the conditions of the
permanent humidity (about 10—11%). If the percentage of the hu-
midity is higher, the flax seeds will be damaged by mites. The seeds
of a good quality ensure good shoots.

VIl. a) REMEMBER THE FOLLOWING WORDS AND WORD-COM-
BINATIONS:

fibre content — BMICT BOJIOKHA
high-yield crops — BHCOKOBpO>KaliHi KyJIbTypH
spinning qualities — npsIMBHI BIaCTUBOCTI

b) TRANSLATE THE FOLLOWING SENTENCES:

The Mriya variety of flax is very perspective for our region. It be-
longs to the flax varieties of the middle maturity. The variety matures
about 90 days. It has a high fibre content and good spinning qualities.
The Mriya variety belongs to high —yield crops.

VIll. a) REMEMBER THE FOLLOWING WORDS AND WORD-COM-
BINATIONS:

adjustment — perytoBaHHS

beater — TinmanpbHa MalIuHA

breaker — m’sika

outlet — BuXif

roller — Basenp

the laborating rim of the knives — po6o4a kpomKka HOXiB
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b) TRANSLATE THE FOLLOWING SENTENCES:

The outlet and quality of a long fibre depends upon a correct ad-
justment of breakers and beaters. The breaker adjustment also depends
upon the flax stock quality. It’s necessary to ensure a free rotation of
the top and bottom rollers. It’s also necessary to sharpen the laborat-
ing rim of the knives.

IX. TRANSLATE INTO ENGLISH:

1. JIboH BHpOINYIOTH Ui BUPOOHHUIITBA BOJIOKHA. 2. OCHOBHOIO
MPOIyKTUBHOIO YaCTUHOIO JIbOHY € ctebio. 3. Ctebno € numiHapuy-
HUM, TOKPUTHM BOCKOBHUM HAJIbOTOM, CBITJIO-3€JICHOTO 1 TEMHO-
3eJICHOTO KOJIhOopiB. 4. YnM BuIe cTe6I1o 1 AoBIIa HOro TeXHIYHA Yac-
THUHA, TUM OLIbILIE TOBrOTO BOJIOKHA MICTUTHCS B HhOMY. 5. JIbOoH —
KyJIbTypa IMOMIpPHOrO KIiMaTy, BHUMOIJIMBA JO TeIUla Ta BOJIOTH.
6. Bucokuii Bpoxkaii Tb0HY MOXKHA 310paTu Ha CEPEe/IHIX 1 JISTKUX CYT-
auHKax. 7. Y ¢asi KOBTOI CTUITIOCTI HAWBUILUM € BpPOXKal 1 AKICTh
HACiHHS, JTbOHOCOJIOMH, TPECTH 1 BOJIOKHA. 8. 3 OpraHidYHUX AOOpPHUB
HAWKpaIyM IS JIbOHY € TITAlTHHUHA ITOCITi]T.
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INDUSTRIAL CROPS. SUGAR-BEETS

I. VOCABULARY

cessation — MPUITUHEHHS sugar beet top — r'ugKa IyKPOBHX
flow harvesting — moTokoBe 30u- OypsKiB

paHHS to adjust — perymoBaTi
germination — IpOpPOCTaHHA to cause — BUKJIMKATH

humid — Bosoruit to dig — komatu

moisture — BoJIOTa to increase — 301JIBIITYBATHCH
nutrition — XUBICHHS to sprout — npopocrati

roll harvesting — niepeBajo4He to warm — mporpiBaTHcs

sugar amount — maca IyKpy

Il. TEXT
SUGAR-BEET CULTIVATION

The sugar-beet is a two-year plant. It forms a well-developed tu-
ber. The seeds absorb much moisture at the germination time. The
sugar-beet seeds must be sown into the plowed soil. The seeds sprout
at the temperature of 3—4 degrees over zero. If the soil is enough
humid and warms up to 18 degrees over zero, the sugar-beet shoots
will germinate in 7—8 days. It’s very important to reduce the term
between the sowing and the germination of shoots. Shoots absorb the
nutrient substances of seeds before they sprout. First leaves appear in
ten days. Leaves start growing very quickly. The sugar-beet yield de-
pends upon the moisture quantity especially in July and August.

Sugar-beets need a sufficient amount of the nutrient substances in
the ground. The fertilizing system requires a sufficient fertilization in
three terms: the principal fertilizer is applied in autumn. At the sowing
time we apply the row fertilizers. And at the vegetation time the
sugar-beets need some nutrition. That’s why sugar-beets are very
high-yield on the fertile soil. Sugar-beets are also cultivated on the
loamy soils and grey forest soils. It is low-yield on the clay soils.

Sugar-beets occupy the second place in the range of plants after
wheat. A regular range of plants and a proper ploughing ensure high
and stable yield of sugar-beets.
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The highest yield of sugar-beets with the biggest sugar amount is
harvested at the period of the growth cessation. Too early and too late
terms of harvesting cause the yield loss. Generally the tuber amount
increases in August and September. Simultaneously the sugar amount
increases up to 2,2%.

Sugar-beets are mostly harvested with the help of the special
equipment. There are three ways of harvesting: flow, roll and mixed
harvesting. The sugar-beet top is cut simultaneously. Sugar-beet com-
bines dig tubers. In order to get rid off sugar- beet losses, it’s neces-
sary to adjust all the combine mechanisms taking into account the soil
humidity, the top height and the tuber size.

Ill. ANSWER THE FOLLOWING QUESTIONS:

1. What do you know about sugar-beets? 2. How do the seeds
sprout? 3. What does the sugar-beet yield depend upon? 4. What types
of soil are the most fertile for sugar-beets? 5. What is the sugar-beet
place in the range of plants? 6. What does the fertilizing system re-
quire? 7. When is the highest yield of sugar-beets harvested? 8. When
does the sugar-beet increase? 9. How many ways of harvesting do you
know?

GRAMMAR
PARTICIPLE I

IV. TRANSLATE INTO UKRAINIAN:

1. Shoots absorbing nutrient substances sprout very quickly.
2. Destroying weeds tractors plough the soil. 3. Increasing the norms
of fertilizers we can harvest a bigger quantity of sugar-beets. 4. We
harvest a high yield applying manure.

V. FILL IN THE BLANKS WITH THE NECESSARY VERBS:

1. First leaves ... in ten days. 2. The sugar-beet yield ... the mois-
ture quantity. 3. The seeds ... much moisture. 4. The sugar-beet com-
bines ... the tubers. 5. They ... the sugar-beet top.

to cut, to depend upon, to absorb, to appear, to refine
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VI. TRANSLATE INTO UKRAINIAN:
SOWING PROTECTION

The soil harrowing is very important before the shoots appear. It
improves the air and temperature conditions of the soil. At the period
between the sowing and germination of shoots the soil is compressed.
The harrowing is the most efficient in 5-6 days after sowing.

VIl. a) REMEMBER THE FOLLOWING WORDS AND WORD-COM-
BINATIONS:

hand-operated job — py4na mpams
mechanized production — MexaHi3oBaHe BUPOOHHUIITBO
shoot gapping — TpopiKyBaHHS CXOIIB

b) TRANSLATE THE FOLLOWING SENTENCES:

The technology of the sugar-beet mechanized production deals
with the minimum waste of the hand-operated job and correct norms
of sowing. It’s necessary to take into account the seed germination,
pest destruction and the mechanized way of the shoot gapping.

VIIl. TRANSLATE INTO UKRAINIAN:
REDUCTION OF YIELD WASTE

Harvesting sugar-beets it’s very important to reduce the yield
waste. It mostly depends upon the type of the harvesting machinery,
its adjustment and the quality of the seedlings. Sugar-beets may be
undug or lost during the transportation. The most progressive way of
the mechanized harvesting will prevent from the yield losses. It in-
cludes the utilization of the adjusted equipment and a proper labour
organization.

IX. READ, TRANSLATE AND EXPLAIN THE UNDERLINED WORDS:

In order to organize the sugar-beet production more effectively the
plant-breeders use the gene engineering. It helps to get rid off the mi-
croorganisms. That’s why different herbicides and pesticides may be
used. But they may be very dangerous for the environment. The most
progressive way is to prepare seeds of a good quality.
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X. TRANSLATE INTO ENGLISH:

1. Hacinns mornuHae 6arato BOJIOTH T yac popocTaHHs. 2. SKio
TPYHT € ONITUMAJIHHO BOJIOTHM 1 HpOI‘plBaeTLCH 1o +18°C, cxoam 1yk-
pOBHX 6yp511<113 IPOPOCTAIOTH 32 7—38 nHiB. 3. Jlyke BaxIJIMBO CKOPO-
TUTH 4ac MK MOCIBOM 1 npopoctanHsM. 4. Llykposi Oypsiku motpe-
6YIOTB JOCTAaTHBOI KIJIBKOCTI MOKUBHUX peyoBHH y rpyHTl 5. L[yK-
poBi OypsiKM 3aliMalOTh Jpyre MiCIe y CIBO3MiHI MiCNs MIICHUII.
6. Ilix myxposi 6yp$IKI/I BHOCSATBCSI OpPTaHiuHiI 1 MiHEpaJbHi I[O6pI/IBa
7. HaiiBuuuii Bpoxaii LyKpoBUX OypsKiB 3 HAMOLUIBIINM BMICTOM I1y-
Kpy OTPHMYETBCS B IIEpioj IPHUIMHCHHs pocty. 8. Maca kopeHero-
AiB 30LIbIIYETHCS y CepIHi 1 BepecHi. 9. LlykpoBi Oypsiki B OCHOBHO-
My 30MpaIOThCS 3 JOMIOMOTOIO CIEIiaIbHOTO 00J1aHAHHS.



FTESSON 24

FRUIT PRODUCTION

I. VOCABULARY

apple-tree — g0yHs marshy soil — 3a00yi0ueHu# IPYHT
apricot-tree — abpukoc peach-tree — mepcux

branch — rinka pear-tree — Tpymia

cherry-tree — BuIIHS planting — HacaKeHHs

crown — KpoHa plum-tree — cnuBa

crumb and peel density — miiIbHICTL  raspberry — mMaliHa

M’SIKyIIa 1 IKIPKA ripe — CTUIIINH

currants — CMOPOJIMHA ripening — CTUTJICTh

fruit colouring intensity — ripening proof — 03HaKa CTUIJIOCTI
IHTEHCHUBHICTH 3a0apBJICHHS TUI0A soil tillage — 0GpoOiTOK IPYHTY
horticulture — cagiBHALITBO strawberry — moJryHHIIs
labour-intensive process — to bear fruits — miogoHOCHTH
TPYAOMICTKHH Mporiec to root out — BHKOPIHIOBATH

II. TEXT

HORTICULTURE

Horticulture is an important branch of agriculture. The industrial
fruit plantings are classified according to the fruit varieties: apple-trees,
pear-trees, plum-trees, cherry-trees, apricot-trees, peach-trees. Accord-
ing to the ripening terms they are classified as early-ripening, middle-
ripening and late-ripening. In order to increase the yield capacity it’s
necessary to form the tree crown. It’s very important to reduce the
crown. It must be less than the root system. Each branch is cut in such a
way that the bottom branch should be shorter than the top one. Before
the trees start bearing fruits, the gardeners cut all the unnecessary
branches and ensure the maximum yield capacity. In order to increase
the fruit productivity it’s necessary to choose fruit varieties very cor-
rectly. They must be resistant to the unfavourable climate conditions.
The fruit varieties must have a high yield capacity. The fruits should
have a good taste and a proper technological quality. It’s necessary to
choose correctly the fruit varieties in the garden planting.

The principal task of the soil tillage is to increase its fertility. We
must use ploughs and harrows. The weeds are rooted out with the help
of special implements. Herbicides are also used to root out all the
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weeds. It’s necessary to follow the norms of the safety technique. The
gardeners must apply organical fertilizers once in 3-4 years. But the
mineral fertilizers are applied each year.

Strawberry, raspberry and currants belong to the berry crops.
Strawberry grows on all the soil types with the exception of lime, clay
and marshy soils. Raspberry and currants are very demanding to the
soil type. Organical and mineral fertilizers are mostly applied before
planting. Harvesting is the most labour-intensive process in horticul-
ture. The fruits must be ripe. Then they’ll be well preserved. The rip-
ening proof is the size and the fruit colouring intensity. Fruits easily
split off the branch. The crumb density and taste qualities are also a
very important factor at the harvesting time.

1. ANSWER THE FOLLOWING QUESTIONS ON THE TEXT:

1. How are the industrial fruit plantings classified? 2. What is it
necessary to do in order to increase the yield capacity? 3. What form
must the tree crown have? 4. What do the gardeners do before the
trees start bearing fruits? 5. What is it necessary to do in order to in-
crease the fruit productivity? 6. What is the principal task of the soil
tillage? 7.Why do we use herbicides? 8. What fertilizers must be ap-
plied? 9. What crops belong to the berry crops? 10. What factor may
be considered as a ripening proof of fruits and berries?

GRAMMAR
THE GERUND

IV. TRANSLATE INTO UKRAINIAN:

1. The plant-breeders started breeding new frost resistant fruit va-
rieties last year. 2.A lot of people are fond of planting fruit trees and
berry bushes. 3. We stop strawberry harvesting in June. 4. The scien-
tists suggest applying nitrogen fertilizers in the gardens.

V. FILL IN THE BLANKS WITH THE NECESSARY VERBS:

1. The gardeners ... the tree crown in spring. 2. We ... the resistant
fruit varieties. 3. Before the garden planting the gardeners ... all the
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weeds. 4. Strawberry, raspberry and currants ...the berry crops.5. We
... organical and mineral fertilizers.
to cut, to choose, to root out, to belong to, to apply

VI. a) REMEMBER THE FOLLOWING WORDS AND WORD-COM-
BINATIONS:

chip — memna
grapes — BHHOTPajl
viticulture — BUHOIpagapcTBO

b) READ AND TRANSLATE THE FOLLOWING SENTENCES:

Viticulture is an important branch of horticulture. Grapes belongs to
the perennial liana group. It is a drought-resistant plant. It may grow on
different soil types, but it is high-yield on the fertile soil with a substantial
humidity. The underground part of the bush consists of a wide root sys-
tem. The overground part of the bush consists of skeleton and fruit-
bearing branches. In order to increase the yield capacity it’s necessary to
connect chips with the principal bulk of the plant. Fertilizing is also very
important for grapes. The yield is harvested in a short period of time
when the fruits are ripe and the sugar content is not less than 14%.

VIl. READ AND TRANSLATE THE SENTENCES:

The first year after planting the fertilizing is not necessary. Later
when the trees start fruit bearing organical and mineral fertilizers are ap-
plied. In fruit-bearing gardens organical fertilizers are applied once in 3-4
years. Mineral fertilizers are applied each year. The fertilizing norms are
established according to the planting productivity. It’s also necessary to
take into account the phosphorous and potassium availability.

VIll. a) REMEMBER THE FOLLOWING WORDS AND WORD-COM-
BINATIONS:

to rejuvenate — OMOJIOJKYBaTH; to prune — o0pi3aTu aepeBa

b) READ AND TRANSLATE THE FOLLOWING SENTENCES:
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It’s necessary to prune trees in spring. It limits the size of the
branches and increases the yield capacity. Pruning rejuvenates trees,
berry crops and grapes.

IX. READ, TRANSLATE AND EXPLAIN THE UNDERLINED WORDS:

In order to increase the yield capacity the scientists breed new va-
rieties of fruit and berry crops. The new varieties are resistant to the
unfavourable climatic conditions. The varieties are divided into early-
ripening and late-ripening varieties. The grapes varieties are divided
into dining and industrial ones.

X. TRANSLATE INTO ENGLISH:

1. CamiBHUIITBO — Ba)JIMBAa Taly3b CLIBCHKOTO TOCIONAPCTBA.
2. Ins Toro, moO 30UIBIIMTH BPOXKAWHICTh, HEOOXITHO (hOpMyBaTH
KpoHy nepeB. 3. KoxkHa rinka nepeBa oOpi3aeTbes Tak, MI00 HUKHS
rinka Oyna xopotmoro BepxHboi. 4. [lepen TuMm, sik nepeBa moymHa-
I0Th IUIOJIOHOCHUTH, CaJiBHUK 00pi3ye BCi HEMOTPiOHI IIKH 1 3a6e3me-
qy€e MaKCHUMalbHy BpokaiiHicTh. 5. ['onoBHe 3aBmaHHS 00pOOITKY
TPYHTY moJiArae y 30uIblIeHHi foro posrodocTti. 6. Ilepen mocamakoro
cafty moTpibHO 3HMIMTH BCI Oyp’stHu. 7. MiHepaibHi JoOpHBa BHO-
CATBbCA KOKHOTO poky. 8. IlomyHuis, ManuHa i CMOpOJIMHA HalIe)KaTh
JI0 SITIIHUX KyJbTYp. 9. 30UpaHHs BpOXKaro € HaHOLIbII TPYAOMICT-
KuM TiporiecoM y camiBaunTBi. 10. IlinpHICT M’ KyIIa 1 TIKIpKHU s10-
JYK € Ay’e BaXJIMBUM (PaKTOPOM IiJ] yac 30MpaHHs BpOXKarlo.



LESSON 22

VEGETABLE PRODUCTION

I. VOCABULARY

beets — Oypsiku onion — U0y

bulb — nnbynuna parsley — merpymika
cabbage — kamycrta pepper — mepernp

carrot — MOpKBa range of vegetables — oBoueBa ciBo-
condiments — TpHIIpaBH 3MiHa

cucumbers — OTIpKH salt solution — po3uuH coJi
dill — okpin seedling — camxanenp
early-ripening — paHHBOCTHTIIHHA sorrel — maBenb

garlic — JacHHK to correspond — BiAmoBiAaTH
greenhouse — TeMHIA to dry — cymutu
late-ripening — Mi3HBOCTHTITHIA to marinate — MapHHyBaTH
middle-ripening — cepegHbOCTHT- to water — nonuBatu

T tomatoes — MmomiJIopu

II. TEXT

VEGETABLE PRODUCTION

The vegetable production provides the population with necessary
products. Vegetables are a reliable resource of the vitamins. Cabbage,
carrot, beets, cucumbers, tomatoes, onion, pepper, garlic, different
condiments such as parsley, sorrel and dill belong to vegetables. It’s
very important to keep to the range of vegetables. A deep plowed
layer must form the biological soil activity. This layer should preserve
moisture and nutrient substances. The soil must be plowed very thor-
oughly. The ploughing depth must be up to 30 cm. The organical and
mineral fertilizers must be applied in spring before planting. The
vegetable seeds should correspond to certain demands. Tomato, cu-
cumber, pepper and carrot seeds must be put into the salt solution or
into the ammonia saltpetre solution. They are covered with the nutri-
ent mixture. It consists of peat and manure. The vegetable seeds are
sown in the greenhouses. In the favourable weather conditions seed-
lings are planted out-of-doors if there are no ground frosts.

The black soil is the best for vegetables. But they may grow on the
loamy soil too. The seedlings planted on the light sandy soils need
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much fertilizing. If there is a lack of precipitations in summer, the
seedlings of tomatoes, pepper and cucumbers must be watered.

Tomatoes are harvested if they are enough ripe. Cucumbers are
harvested if they reach a certain size and a certain dark green colour.
Cabbage has several varieties. There are early-ripening, middle-
ripening and late-ripening varieties. After harvesting tomatoes, cu-
cumbers and cabbage may be marinated. Among them only cabbage is
resistant to the ground frosts.

Carrot and beets belong to the tubers. They contain a lot of vita-
mins and nutrient substan-

ces. They may be preserved all the year. They are frost resistant.

Condiments are very useful for the marination and for everyday
meals. Their leaves are cut about four times a year. Onion and garlic
are cultivated on all the soil types. Onion may be sown by seeds and
may be planted by bulbs. Bulbs are harvested in August. It’s very im-
portant to dry bulbs very thoroughly before the preservation.

[Il. ANSWER THE FOLLOWING QUESTIONS:

1.What is the role of vegetable production? 2. What crops belong
to the vegetables? 3. How must the soil be plowed? 4. What is the
ploughing depth? 5. What fertilizers should be applied? 6. How are
seeds of tomatoes, cucumbers and carrot processed? 7. What does the
nutrient mixture consist of? 8. Where are the vegetable seeds sown?
9. What soil is the best for vegetables? 10. When are tomatoes and cu-
cumbers harvested? 11. What cabbage varieties do you know?
12. How many times a year are the condiment leaves cut?

GRAMMAR
SEQUENCE OF TENSES

IV. TRANSLATE INTO UKRAINIAN:

1. I think that the vegetable production will provide the population
with the necessary products. 2. We knew that the nutrient substances
consisted of peat and manure. 3. The researcher told that the vegetable
seeds had been already sown in the greenhouses. 4. He said that the
vegetable seeds would correspond to certain demands.
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V. PUT THE INFINITIVES IN BRACKETS INTO THE RIGHT TENSE
ACCORDING TO THE RULES OF SEQUENCE OF TENSES:

1. The tractor driver says that the ploughing depth (to be) up to
30 cm. 2. The farmer tells that the tomatoes (to be already harvested),
3. We knew that the cucumbers (to ripen) very soon. 4. He said that he
(to plant) already onion and garlic.

VI. FILL IN THE BLANKS WITH THE NECESSARY VERBS:

1. The farmers ... the range of plants. 2. Parsley, sorrel and dill ...
vegetables. 3. The researcher ... seeds with the nutrient mixture.
4. The nutrient mixture ... peat and manure. 5. Onion and garlic ... on
all the soil types.

to keep to, to belong to, to cover, to consist of, to grow

VII. TRANSLATE INTO UKRAINIAN:

Lettuce belongs to annual plants. It is characterized by the early-
rlpenlng and cold resistance. Lettuce contains carotene, vitamins B, P,
C, zinc, manganese and other substances. The people cultivate three
lettuce varieties:the leaf variety, the tip variety and romen. The seeds
are sown either in spring or in autumn. The organical and mineral fer-
tilizers may be also applied. The yield is harvested three times a year
in the sunny weather. The leaves should be fresh.

VIll. a) REMEMBER THE FOLLOWING WORDS AND WORD-COM-
BINATIONS:

lactic acid fermentation — mMonouHOKHUCIIE OPOTIIHHS
late-ripening varieties — Mi3HBOCTHUTIII COPTH
middle-ripening varieties — cepeIHbOCTHUTIII COPTU
to pickle cabbage — kBacuTH Karmycry

b) TRANSLATE THE FOLLOWING SENTENCES:

Cabbage is pickled in December. Middle-ripening and late-
ripening varieties are especially good for pickling. The pickled cab-
bage contains about 90% of the vitamin C. The cabbage is pickled in
jugs. It is minced and mixed with the minced carrot. It’s necessary to
add some salt and condiments. The lactic acid fermentation means
that the pickling has been already over.
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IX. READ, TRANSLATE AND EXPLAIN THE UNDERLINED WORDS:

Tomatoes and cucumbers are salted in barrels. Before salting they
are selected according to their size. It’s necessary to add different
quantities of onion, garlic and condiments. Tomatoes and cucumbers
in the barrels are watered with the salt solution.

X. TRANSLATE INTO ENGLISH:

1. Kamycra, MOpKBa, OypsiK, OTIPKH, IIOMiZOpH, IepeLb, UHOYIIs,
a TaKoX Pi3HI IIPUIPAaBU TaKi K HETPYIIKA, MABEIb 1 KPill HATICKATH
1o oBouiB. 2. Illap rpyHTy moBuHEH 30epiratu BOJIOTY i IOKUBHI pe-
youHHM. 3. OpraniuHi i MiHepaabHI JOOpHUBAa MOTPIOHO BHOCHUTH IIe-
pell OCHOBHUM 00p0oOiTKOM IpyHTY. 4. Il0kMBHA CyMiIll CKIIaa€ThCs 3
topdy i1 rHOtO. 5. HaciHHS OBOYIB BHCIBA€ThCS B TEILIUILAX. 6. HopHo-
3eM € HalKpaIuM IPYHTOM Julsi 0BO4IB. 7. I1icist 30MpaHHs OMIOpH,
OTIpKH 1 KayCTy MOXHa MapuHyBaTH. 8. Mopksa i Oypsiku Haexarb
10 Koperemonis. 9. Ilpunpasu — Iyxe KOPHUCHI Ul MapUHYBaHHSL.
10. I_[I/I6ymo 1 yacHUK 30uparoTh B ceprHi. 11. Canat HaleXUTh 10
OJTHOPIYHUX POCITHH.



FTESSON 23

FEED PRODUCTION

I. VOCABULARY

annual — ogHOpIUHUI haymaking — ciHokic

bud — OyTon legume crops — 0000Bi KyIbTypH
budding period — yac GyTonizamii pasture — macoBHIIe

cereals — TOHKOHOT'OBI peat deposit — TopdoBue
clover — koHroIMHA perennial — GaraTopiuHuit
covering — TOKpPHUB polymowing — GaraToykiCHHA
efficiency — e¢exTUBHICTH range of grasses — ciBo3MiHa
feed production — KOpMOBUPOOHHIITBO ~ Stem — TaroH

grass flour — TpaB’siHe 6OPONTHO to influence — BruTMBaTH

grass mixture — TpaB’siHa CyMiIll to MOW — KOCHUTH

hay — cino utilization — BUKOpUCTaHHS

II. TEXT

FEED PRODUCTION

Feed production is a decisive branch of the cattle-farming. It sup-
plies feeds. Different perennial and annual grasses are cultivated in
the fields and pastures. The grass quantity depends upon the soil. It
also depends upon the climatic conditions. The top and bottom cereals
are included into the grass mixtures. The grass mixtures have a lot of
shortened vegetation stems. The cereals with long vegetation stems
are included into haymaking grass mixtures. The majority of their
leaves is located in the middle and top parts of the grass bush. For the
polymowing utilization, for the hay and grass flour production it’s
necessary to combine the cereals with shortened and long stems. The
grass mixtures in the fields and pastures consist of different perennial
grasses and clover. In order to increase the cattle productivity it’s nec-
essary to sow the legumes. The range of plants consists of the legume
and cereal grasses. The common norm yield is about 35 kg/ha. The
large quantity of the nitrogen fertilizers is applied at the long-flooded
pastures. The grass mixtures of the cereal components are sown in
spring with the covering of the annual crops. In summer the pasture
grasses are sown without any covering after early crops.
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At the former peat deposits grasses must be sown in summer with-
out any covering. The legume grasses and their mixtures with cereals
must be sown in June. Fertilizing is the most effective means on very
humid pastures. The pasture grasses mown many times need a large
quantity of nutrient substances. The hay yield of 50 c\ha needs ap-
proximately 75 kg of nitrogen and potassium and 20 kg of phospho-
rous and calcium. The highest hay yields are harvested with a large
amount of nitrogen and phosphorous fertilizers. The phosphorous fer-
tilizers are characterized by a prolonged yield increase.

The efficiency of the potassium fertilizers is the highest at the for-
mer peat deposits and long-flooded pastures. The nitrogen and potas-
sium fertilizers are applied early in spring. It is also necessary to apply
organical fertilizers mostly manure.

Fields and pastures supply hay and grass flour. The best term for
haymaking is the budding period. At this period grasses start blos-
soming. The mowing terms greatly influence on their growth. The
height of mowing influences on the hay quality. The maximum length
of the mown grasses is up to 5 cm.

1. ANSWER THE FOLLOWING QUESTION ON THE TEXT:

1.What grasses are cultivated in the fields and pastures? 2. What
does the content of grasses depend upon? 3. What grasses are included
into the range of plants? 4. What is it necessary to do to produce hay
and grass flour? 5. What mineral fertilizers are applied? 6. When are
the grasses sown at the former peat deposits? 7. When are the grasses
mown? 8. What is the efficiency of nitrogen fertilizing? 9. What is the
efficiency of phosphorous fertilizing? 10. What is the best term for
haymaking?

GRAMMAR
THE SUBJUNCTIVE MOOD

IV. TRANSLATE INTO UKRAINIAN:

1. If the fertilizer had been applied in time, the yield would have
been higher. 2. If the efficiency of the potassium fertilizers were
higher, the tractor would mow more grass for the hay production. 3. If
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the cereals had been sown in spring, the yield would have been higher.
4. If the range of grasses consisted of legumes and cereals, the yield
would be more then 35 kg/ha.

V. FILL IN THE BLANKS WITH THE NECESSARY VERBS:

1. The farmers ... perennial and annual grasses. 2. The cereals ...
grasses for haymaking. 3. The range of grasses ... the legume and ce-
real grasses. 4. The farmers ... a lot of nitrogen fertilizers. 5. We ...
grasses at the former peat deposits. 6. The fields and pastures ... hay
and grass flour.

to supply, to cultivate, to consist of, to include, to sow, to apply

VI. FILL IN THE BLANKS WITH THE NECESSARY WORDS IN
BRACKETS:

1. The content of grasses ... the keeping ways and terms (depend
upon, depends upon). 2. The range of plants ... the legume and cereal
grasses (consists of, consist of). 3. The hay yield of 50 c\ha... ap-
proximately 75 kg of nitrogen and potassium (need, needs). 4. The
fields and pastures ... hay and grass flour (supplies, supply). 5. The
height of the mown grass ... the hay quality (influence, influences).

VIl. READ, TRANSLATE AND EXPLAIN THE UNDERLINED
WORDS:

The raw material auger must ensure the permanent functioning of
the drying units. It’s possible to dry hay of the high quality. It is char-
acterized by a quick ripening. 1t’s also necessary to take into account
the soil and climatic conditions of the area. For example, such augers
must be built at the former peat deposits.

VIll. a) REMEMBER THE FOLLOWING WORDS AND WORD-COM-
BINATIONS:

stand of grasses — TpaBocrTiii; enclosure — 3arin

b) TRANSLATE THE FOLLOWING SENTENCES:

It’s necessary to keep pastures on the fertile soils near the cattle
farms and water springs. The basis of the cattle keeping is the enclo-
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sure system. It ensures the increase of the pasture productivity up to
35%. The stand of grasses increases the feed quality.

IX. TRANSLATE INTO UKRAINIAN:

In order to save the stand of grasses it’s necessary to keep the pas-
tures from the cattle grazing. In spring the farmers start grazing the
cattle when the cereal bushes begin to form. The cattle feed about
90% of the stand of grasses before the blossoms appear. It decreases
the grass quality. The protein quantity decreases. It influences on the
cattle productivity.

X. TRANSLATE INTO ENGLISH:

1. KopMOBHpOGHHuTBo € Ba)KIIMBOIO Tally33t0 TBAPUHHHUITBA. 2. Y po-
JKaHHICTb TPABOCTOIO 3AUICKUTh BiJl [PyHTOBO-KIIMATHYHUX YMOB. 3.
Tpar’siHi cyMmilli Ha MOJIAX 1 MACOBMINAX CKIAJAOThCS i3 OaraTopid-
HUX TpaB I KOHIOWMHU. 4. Ha 3aiMBHUX 3eMJISIX BHOCHTBCS BEIUKa
KUIBKICTh a30THUX 00puB. 5. TyT CirOTb Tpas’sHi cymiwi, sKi cKia-
JNAOThCS 13 3JIaKOBHX KOMITOHEHTIB. 6. IloTpiOHO cistu 06000BO-
37IaKOBI cyMiIni y 4epBHi. 7. BHeceHHsT TOOpHUB € HaI3BUUAHHO edeK-
TUBHHUM 3acO00M Ha Jy’Ke 3BOJIOKEHUX MacoBuiax. 8. ®ochopHi j0-
OpuBa 3a0e3MeuyoTh TPUBATY BPOXKAHHICTh. 9. EQEeKTHBHICTD Kaltiii-
HUX 100puB € HalBuIo0 Ha TopdoBumax. 10.Ha monsax i ciHokaTax
BUPOIIYIOTh CIHO.



FTESSON 24

PLANT PROTECTION
I. VOCABULARY:
acaricides — akapuIHIA to be atrophied — BimMupatu
fertilizing tube — TykompoBiz to decay — rHuUTH
fungicides — QyHrinuam to disperse — posciBaTu
herbicides — repbiunan to fade — B’ sHyTH
infectious — iHQpeKiiTHUNA to meet sanitary requirements —
mite — KTy BiJINIOBIIaTH CaHITAPHUM BHMOTaM
pesticides — mectuiuau to rot on the stalk — rauTH Ha KOpe-
rodent — rpu3yH Hi
rodenticides — poJeHTHIIUAM to spray — ONpPHCKYBaTH
spot — misma to swell — myxuHyTH
tissue — TKaHWHA uninfectious — HeiHeKIIHHUN
II. TEXT

PLANT PROTECTION

The plant deseases may have different features. The plants may
fade, decay or even rot on the stalk. Some parts of the plant may be at-
rophled Some spots may appear on the stem and leaves. Some plant
tissues may increase too much. Some tissues may swell. The plants
may change their colouring.

All the plant deseases are divided into uninfectious and infectious
ones. Uninfectious deseases may be caused by unfavourable climatic
conditions, mechanical damages or nutrition damages. Infectious de-
seases may appear because of some fungi, bacteria and other microor-
ganisms. They may cause different deseases: the plant cancer, decay, etc.

The modern complex system of the plant protection is a combination of
agrotechnical, chemical and biological methods. The agrotechnical method
gives a possibility to keep soils and crops in a proper state. It ensures the
maximum conditions for high yields. It’s necessary to keep to a proper
range of plants, to a proper soil tillage, to the watering and selection.

The biological method is based on the use of the natural enemies of
the dangerous species. The biological industry produces cells of bacteria
and fungi. These cells are used to protect plants from different pests.
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The chemical method is based on a proper use of pesticides, the
chemical protection means. The pesticides preparations are divided
into several groups:

1. Insecticides are used to protect plants from pests.

2. Acaricides are used to protect plants from mites.

3. Fungicides are used to protect plants from fungi.

4. Rodenticides are used to protect plants from rodents: rats and mice.

5. Herbicides are used to protect plants from weeds.

Each year the chemical industry produces a lot of different pesti-
cides. But their utilization is possible if they meet sanitary require-
ments. The principal way of the pesticides usage is spraying and dis-
persing. Insecticides, acaricides and herbicides are sprayed on the soil,
leaves and stems of the plants. The granule pesticides are used to
protect maize and sugar-beets from pests. Sometimes the granule pes-
ticides destroy weeds. The pesticides are applied by a fertilizing tube
of the sowing machines.

[Il. ANSWER THE FOLLOWING QUESTIONS:

1. What are the features of the plant deseases? 2. What groups are
the plant deseases divided into? 3. What causes the uninfectious de-
seases? 4. How may the infectious deseases appear? 5. What methods
are included into the modern complex system of the plant protection?
6. What is the role of the agrotechnical method?

7. What is the basis of the biological method? 8. What is the basis
of the chemical method? 9. How many groups of the pesticide prepa-
rations do you know? 10. How are the pesticides applied?

REVIEW
GRAMMAR EXERCISES

IV. PUT THE INFINITIVES IN BRACKETS IN PRESENT INDEFINITE
AND PAST INDEFINITE ACTIVE VOICE:

1. Each year the chemical industry (to produce) a lot of different
pesticides. 2. Last year we (to harvest) a high yield of grain crops.
3. In spring the farmers (to apply) organical and mineral fertilizers.
4. Last spring they (to plant) a lot of seedlings of the aromatic hops
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variety. 5. At the vegetation period each female of colorado beetles (to
lay) about 3000 ova.

V. TRANSLATE INTO UKRAINIAN:

1. Because of the deseases the plants may even rot on the stalk.
2. We must keep to a proper range of plants. 3. The bee-keepers have
to use different acaricides to protect bees from mites. 4. The prehis-
toric man could use the most primitive labour implements. 5. Some
plant tissues could swell.

VI. FILL IN THE BLANKS WITH THE NECESSARY VERBS:

1. Infectious deseases ... because of fungi, bacteria and other micro-
organisms. 2. Because of the deseases the plants ... their colouring. 3.
The agrotechnical method ... the maximum conditions for high yields. 4.
Rodenticides ... plants from rodents. 5. The modern complex system ...
agrotechnical, chemical and biological methods of the plant protection.

to combine, to change, to ensure, to protect, to appear

VIl. a) REMEMBER THE FOLLOWING WORDS AND WORD-COM-
BINATIONS:

pollution — 3abGpyaHEeHHS
processing — o0poOka

to evaporate — BUIIapOBYBaTUCh
working liquid — poGoua pinnHa

b) TRANSLATE INTO UKRAINIAN:

An important task of the plant protection is to ensure the agricultural
enterprises with highly effective preparations. They must protect plants
from pests, bacteria, fungi and rodents. It’s also very important to avoid
from the pollution with pesticides. Small areas must be sprayed. It’s nec-
essary to use a little quantity of the working liquid. When spraying it
shouldn’t evaporate. The preparations shouldn’t be dissolved in water.
They must be dissolved in the ammonia saltpetre solution.

VIII. TRANSLATE INTO UKRAINIAN:

It’s necessary to keep to the safety engineering norms when
working with pesticides. The workers must put on special clothes,
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shoes and gloves. Drops of pesticides may poison agricultural ani-
mals, bees, other useful insects and fish in the ponds and rivers. It’s
necessary to keep to the norms of the pesticide spraying and dispers-
ing. The pesticides must be stored according to the demands of the
safety engineering.

IX. READ AND EXPLAIN THE MEANING OF THE UNDERLINED
WORDS:

All the workers working with pesticides should wear special
clothes, shoes and protection glasses. The pesticides should not pene-
trate into the breathing organs. The breathing organs are protected
with respirators. After the work with pesticides it’s necessary fo rinse
the face and hands.

X. TRANSLATE INTO ENGLISH:

1. PociiuHu MOXyYTh B’SIHYTH, THUTH 200 HaBITh THUTU HAa KOPEHI.
2. Jlesiki 9aCTUHM POCIIMH MOXKYTh Bigmupatu. 3. Bci xBopobu pociuH
AUtsThCs Ha IHQCKLUHHI 1 HeinpekuiiHi. 4. [Hdekuiiini xBopobu Mo-
KyTh BHHHMKATH 13-32 IPHOKIB, GaKTepiil Ta IHIIMX MIKPOOPraHi3MiB.
5. TkaHUHU POCIMH MOXYThb 3MiHIOBAaTH CBo€ 3abapsiieHHs. 6. Cy-
YacHa KOMIUIEKCHA CHCTEMa 3aXUCTY POCIIHH € IMOE€JHAHHSAM arpoTex-
HIYHUX, XIMIYHUX 1 O10JOTIYHUX METOMIB. 7. ATPOTEXHIYHUN METO]
3a6e3neqye MaKCHMaJIbHI YMOBH JIJII BUCOKHX BpoxaiB. 8. biomoriu-
HHUIl MeTOA 0a3yeThCs Ha BHKOPHCTAHHI NMPUPOJHHMX KOMIIOHCHTIB
npoTy HebesneuHux rpudKiB, GakTepiil Ta IHIIMX MIKPOOPraHi3Mis. 9.
XiMiyHUI MeTOoJ Tiependadyac BUKOPUCTAHHS MECTHIMIIB Ta 1HIINX
3ac00iB 3aXUCTY POCIHH (1HTerpOBaHa cucrtema 3axucry). 10. [lectu-
IIUIM 3aCTOCOBYIOTh METOZIOM IHKPYCTAaIlii HACIHHS.



FTESSON 23

AGRONOMIST — OUR FUTURE PROFESSION

I. VOCABULARY

Crop area — IOCIBHA ILIOMIA pure — gucTuit

crop-growing agriculture — 3emie-  reproduction — BiITBOPEHHS
poOCTBO scientific research institute — Hay-
crops approvement — arpoOartis KOBO-JIOCTIIHUN 1HCTUTYT

MOCiBiB seed farming HaCiHHUIITBO
economic efficiency — ekonomiuna  soil tillage — 0OpoOITOK IpYHTY
e(heKTHBHICTh to compile — cknanatu

field work — mos1p0Bi pobOTH to rejuvenate — OMOJIOJKYBaTH

II. TEXT

OUR FUTURE PROFESSION

When the student of the agronomist faculty graduates from the ag-
ricultural university, he’ll work as an agronomist. The agronomist
with the higher education and with an educational bachelor level can
work at any agricultural enterprise. He can deal with the seed farming,
plant protection, feed production, hops and flax production, etc. Be-
sides the agronomist can work at the scientific research institutes and
at the educational establishments.

The agronomist must solve the chief problem of agriculture. It con-
tains the reproduction of the soil fertility and the soil protection. The
chief problem of agriculture also includes high yields of the ecologically
pure production. It means a new system of the plant production in the
certain climatic and economic conditions. The bachelor must organize
the crop-growing agriculture. It should be based on the complex mecha-
nization with the use of the scientific and technological achievements.
Besides the agronomist must consult the farmers. The agronomist-
bachelor must know the principal directions of the scientific and techno-
logical progress in agronomy. He should correctly plan the range of
plants and the soil tillage. The bachelor must know the biological peculi-
arities of the agricultural crops and their varieties. He must know the
main norms of fertilizing. The agronomist must have a good command of
the agricultural economy, management and marketing. The future spe-
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cialist should be able to use the crop area in a proper way. The agrono-
mist must correctly use fertilizers. The future specialist should compile
the cultivation schemes. The bachelor has to rejuvenate the varieties of
different agricultural crops. It’s also necessary to approve crops. The field
work efficiency must be controlled. The bachelor must use new scientific
achievements in the everyday activity. The agronomist must determine
the economic efficiency of the agricultural production.

[1l. ANSWER THE FOLLOWING QUESTIONS ON THE TEXT:

1.What can the bachelor deal with? 2. Where can the agronomist work?
3. What does the chief problem of agriculture contain? 4. What should the
crop-growing agriculture be based on? 5. What must the agronomist know?

REVIEW
GRAMMAR EXERCISES

IV. TRANSLATE INTO UKRAINIAN PAYING ATTENTION TO THE
CORRECT TRANSLATION OF THE MODAL VERBS AND THEIR
EQUIVALENTS:

1. The agronomist can work at any agricultural enterprise. 2. The
future specialist must solve difficult problems. 3. The crop-growing
agriculture has to be organized. 4. The bachelor should compile the
ranges of plants.

V. FILL IN THE BLANKS WITH THE NECESSARY VERBS:

1.The agronomist ... the chief problem of agriculture. 2. The
bachelor ... the crop-growing agriculture. 3. The future specialist ...
the main norms of fertilizing. 4. The agronomist ...new scientific
achievements in the everyday activity.

to use, to organize, to know, to solve

VI. CHARACTERIZE THE PECULIARITIES OF THE GRADUATE'S
CAREER IN THE USA:

Work is a very important part of the American identity. The only
thing that is more important to Americans than work is money. How
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to make money is an activity that is shown to children even at a very
early age. Children are legally able to work at age 16. Since teenagers
have not finished their education, they only qualify for non-skilled po-
sitions which pay by the hour and usually only the minimum amount
by the law. People employed in semi-skilled positions have usually
finished a vocational or technical program at junior college or voca-
tional school. For higher education and training people enter a univer-
sity. An average university program takes four years to complete.
Most people with a college degree begin their career after they gradu-
ate. College graduates make the distinction of starting a «career» and
not having a «job». A career position is paid on a salary (yearly) rate
and always offers benifits.

VII. GIVE SYNONYMS TO THE WORDS IN BOLD TYPE:

1. All kinds of agricultural tools are produced by our plant. 2. The
production manufactured by this plant got an excellent mark. 3. The
article about our textile mills and chemical factories was very im-
portant. 4. The agreement concluded by them is useful for both sides.
5. The contract signed last year was soon broken.

VIll. a) REMEMBER THE FOLLOWING WORDS AND WORD-COM-
BINATIONS:

appeal — 3asBa
market — puHOK
persuasive — NepPEeKOHJINBUI

b) TRANSLATE THE FOLLOWING SENTENCES:

To introduce a product, you study it to find its superior qualities
and uses. You next study your market to find who are your prospec-
tive buyers, where they live, what their buying habits are, what fea-
tures and qualities they are looking for and what appeals will be the
strongest.

You follow the same process in finding a job. You study yourself
to discover your personal qualities. You get ready to put into persua-
sive words a description of your training, your skill, your knowledge
and your ability. You study the services you can offer in order to be
able to present them effectively.
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IX. a) REMEMBER THE FOLLOWING WORDS AND WORD-COM-
BINATIONS:

business enterprise — KOMepITiiHE i ATPHEMCTBO
employment — 3aliHATICTh

joint stock company — akiioHepHa KOMIaHisA
sole proprietor — 0JIHOOCIOHMIA BIIACHUK

b) TRANSLATE THE FOLLOWING SENTENCES:

The sole proprietor is the simplest and the oldest form of business
enterprises and often referred to as the one-person business. A single
person provides the capital, takes the decisions and assumes the risks.
He or she is solely responsible for the success or failure of the busi-
ness and has, therefore, the sole rights to such profits as may be made,
or, alternatively, bears the sole responsibility for such losses. The one-
person business is still far more numerous than any other types of
business organization, but in terms of total output employment, value
of capital employed, or value of total output, it is relatively unimpor-
tant compared with the joint stock company.

X. TRANSLATE INTO ENGLISH:

1. ArpoHOM 3 BHLIOO OCBITOIO 1 KBani(ikauiiHuM piBHeM Oakanas-
pa MO>XKe IpaIloBaTu B 6ym; ~SIKOMY CUIBCBKOTOCIIOAPCHKOMY I1iTIPH-
eMcTBl. 2. BiH Moke 3aliMaTuCh HACIHHUIITBOM, 3aXMCTOM POCIHUH 1
KOPMOBHUPOOHHUIITBOM. 3. ATpOHOM IOBHHEH BUPIIIyBaTH 0araTto BaXk-
nuBHX 1po0ieM. 4. OCHOBHA mpo0ieMa CLIBCHKOro roCIoAapeTBa Ta-
KO BKJIIOYA€ BHUPOLIYBaHHS BHCOKHX BpOXKaiB EKOJOTIYHO YHCTOT
npoayKuii. 5. 3emyepoOCTBO MOBUHHO OMHUPATUCH HA KOMILJIEKCHY Me-
XaHI3allil0 3 BUKOPUCTAHHSIM HAYKOBO-TEXHIYHUX JOCATHEHb. 6. ATpo-
HOM IIOBMHEH 3HATH O10JIOTi4HI OCOOIMBOCTI CUIBCHKOTOCIIONAPCHKUX
KyJIbTyp. 7. ATPOHOM NMOBHMHEH BU3HAYAaTH C€KOHOMIUHY €(EeKTHBHICTh
CLTBCHKOTOCTIONAPCHKOTO BUpOOHUITBA. 8. binbmicts moxerr B CIIIA
MOYMHAIOTH CBOIO Kap’€py MICNs TOTO, SK BOHU 3aKiHYHMIM KOJEIK. 9.
Bu rotyerecs 3 10MOoMOror NepeKOHINBHUX CIIIB ONUCATH CBOT 3HAHHS
1 mpodeciitni 3ai6H0cTi. 10. OgHOOCIOHE MINPUEMCTBO € HaicTapi-
1010 (HOPMOIO IPUBATHOTO ITi AMTPHUEMHUIITBA.



TPAMATHUYHUU KOMEHTAP

LESSON 1

THE ARTICLE.
THE INDEFINITE AND DEFINITE ARTICLE

ApPTHKIIb — 1€ CIIy’K00BE CIIOBO, SIKE BUKOPUCTOBYETHCS ISl BU-
3HA4YCHHSI TOTO, JIO KO KaTeropii HaJIe)kKUTh IMCHHUK. B cydacHiii aH-
IJIIHACHKIN MOBI BUKOPHCTOBYIOTHCSI [IBAa ApTUKJIi: HEO3HAUYEHHUH ap-
TUKJIb a (an) i O3Ha4YeHUI apTUKIIb the.

Heosnauenuii apTuxiib Mae popMu a abo an 1 BAKOPUCTOBYETHCS 3
IMEHHUKOM B ofHUHI. DOopMa a BUKOPUCTOBYETHCS Mepell IMCHHUKA-
MU, SIKi TOYMHAIOTHCS 3 TIPUTOJIOCHOTO 3BYyKa: a spade, a rake, a fork, a
harrow, a plant.

OsHauenuii apTHKIE BUKOPHCTOBYETHCS TEPes IMEHHHUKOM, 1100
BKA3aTH, II0 00 €KT, AKMH BIATBOPCHO y AyMLi MOBLS, HAIICGKHUTH 0
KaTeropii IMCHHHKIB 1 € NICBHUM 00’€KTOM, SIKHii BIAPI3HAETHCS Bijl
ycix iHmmXx 00’ekTiB. Lleil 00’€KT HaleKuTh 10 TEBHOI Kareropii
00’exTiB. O3HAUYCHUH apTUKIIh MOXE BJKUBATHUCS TIEpe] IMCHHUKOM B
MHOXWUHI 1 B OJIHMHI. B)KMBaHHS 03HAYEHOTO apTHKJS CBIAYMTH MPO
Te, IO 13 CUTYyaIlii 3p0o3yMiJio, TIPO KU caMme MpeaMeT e MoBa: the
grain crops, the cereals, the cultivation, the organical fertilizers.

BincyrhicTps apTukias. B neskux Bunankax iMEHHUK HE acoLlifo-
€THCS Hi 3 HEO3HAYEHHUM, Hi 3 O3HAYCHHUM apPTHKJIEM. APTHKIIb OIyC-
Ka€eThCs TOJI, KOJIM MOBa #JIe TIPO IMEHHUKH, SIKI B)KUBAIOThCS B 3ara-
NbHOMY 3HaueHHi: friendship, hatred, love; mepex Ha3BaMy MPOJYKTIB:
bread, milk, sugar: mepea Ha3BamMu pedyoBHH 1 pifuH: oil, gas, water,
acid.

LESSON 2
NOUNS. THE PLURAL OF NOUNS

IMEHHHMKM B aHTJIHCHKIA MOBI OIUISIFOTHCS Ha JIBI KaTeropii: 3ii-
qyBaHi 1 He3JIi4yBaHi. 3/Ii4yBaHi IMEHHUKH O3HAYalOTh MPEAMETH, SIKi
MO>kHa noiiuuTH: a harrow, a rake, a plough. HesniuyBani iMeHHUKH
— 1Ie Ha3BU PEUYOBHH i OaraThox aOCTpakTHHX MOHATH: milk, colos-
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trum, whey, hatred. 3nidyBaHi iIMCHHUKH B)KHMBAIOTLCS B OJIHMHI 1 B
MHOXWHI. He3muyBaHi iIMCHHUKH MHOKWHU HE MaOTh.

BinbmicTh IMEHHMKIB B aHIJIICHKIM MOBI yTBOPIOIOTH MHOXHHY
JNOJaBaHHSAM 10 (GOpMU OJHWHM 3akiH4eHHS -(-¢)s. Lle 3akiH4eHHs
BUMOBJISIETBCS SIK [S] MICHS MIyXuX mpuronocHux: tasks: i sk [iz] B
cioBax: grasses, bushes, watches: [z] — micis TOJIOCHUX 1 I3BIHKUX
MIPUTOJIOCHUX: pauses, badges.

VY neskux iMEHHHWKaX, 110 B OJHHHI 3aKiHUyIOThcs Ha -f abo -fe y
MHOUHI [f] 3MiHIOETBCS Ha [V] 3 JOMaBaHHSAM 3aKiHYCHHS -(-€)s OyK-
BOCITOJIYYCHHS —VES BUMOBJISIETHCS SIK [VZ]:

a calf — calves, a leaf — leaves.

MHoOXHHa JESKUX IMEHHUKIB YTBOPIOETHCS 3MIHOIO KOPEHEBOTO
roJIOCHOTO (0e3 A0 aBaHHs 3aKiHYCHHS —S):

a man — YOJIOBIK — men a woman — KIHKa — women

a foot — Hora — feet a goose — r'ycka — geese

a mouse — MHIIIa — mice

MHoxnHa iMeHHHKa sheep — BIBI yTBOPIOETHCS 0€3 10/1aBaHHS
3aKiHYCHHS —S. MHOXHHA IMEHHHKA 0X — OWK YTBOPIOETHCS 3 JIOTIO-
MOTOI0 3aKIHYEHHS —€eNn: Oxen.

Jlesiki IMEHHMKH MaioTh (OpMYy MHOXHHH BiJl MOB (JJaTMHCBHKa,
rpenbKa), BijJl SKUX BOHH 3all03MUYEHi:

bacterium — bacteria ovum — ova

caecum — caeca larva — larvae

nucleus — nuclei

LESSON 3
DEGREES OF COMPARISON OF ADJECTIVES

[TpUKMeTHHKH B aHITIHCHKIA MOBI HE 3MIHIOIOTHCS Hi 32 YHCIIaMH,
Hi 32 poAaMu, Hi 3a BiIMiHKaMH:

big — Benmukwuii, Benuka, BEIUKe.

BoHU 3MIiHIOIOTBCS JIAIIE 3a CTYIECHSMHU TOPIBHSHHS. SKICHI MPH-
KMETHUKH B aHTJIIHACHKI MOBI MalOTh OCHOBHY (opmy (the positive
degree), Bumuii ctyminb (the comparative degree) 1 HalBUIIMIA CTY-
miHb nmopiBHsHHS (the superlative degree ).

dopmu BUIIIOTO I HAWBUIIOTO CTYINEHIB MOPIBHSAHHS NMPUKMETHH-
KiB MOXXYTbh OyTH MPOCTUMHU 1 CKIIaTHUMH.
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[Ipocti dopmu cTyneHiB MOPIBHSIHHS yTBOPIOIOTHCS JI0AABAHHIM
JI0 OCHOBHOI (hOpMH PUKMETHHKA 3aKiHYCHHS -€r Y BUIIOMY 1 -est y
HalBUIIIOMY cTyIeHi nmopiBHAHH: short — shorter — the shortest.

CknanHi GpopMu CTyIIeHIB MOPIBHSAHHS YTBOPIOIOTHCS J0/1aBaHHIM
JI0 OCHOBHOI ()OpMH NPUKMETHHUKA CJIOBA MOre-OUIbII Y BUIIOMY CTY-
NeHi 1 most-HalO1IbIIe Y HAMBUIIIOMY:

complex — more complex — the most complex

CKJIAJHAN — CKIIAJHIIINA — Haﬁcxnaﬂﬂimnﬁ

Cryneni HOplBHHHHH NPUKMETHHKIB good — 100puid, Xopommii i
bad — noranuii yTBOpHIKCS BiJl IHIIUX KOPEHIB:

good — better — best bad — worse — the worst

HpI/IKMeTHI/IKI/I old- crapuii Ta far fanexuil MarOTh 1ABi HOpMH BH-
IIOTO 1 HAMBUIIIOTO CTYIEHIB MOPIBHIHHS:

old — older, elder — oldest, eldest

far — farther, farther — farthest

@®opmu elder 1 eldest BXXHBaIOTHCS, KOIU HIETHCS PO WICHIB OJ1-
Hi€l cimM’1, asie Ipu MOPIBHSAHHI BXKUBAEThCs popma older.

O6unsi ¢opmu farther 1 further BxuBarOTh, KOJIM TOBOPATH MPO
BiZICTaHb, KPIM TOT'0, Ma€ 1€ 3HAUYEHHsI JaIIbIINN, HACTYTHHHA.

LESSON 4
THE PRESENT INDEFINITE TENSE

Present Indefinite (TenepimHiii Heo3HaueHHH Yac) — we yacosa (po-
pMa, 110 BKHBAETHCS JUIsl BUPAKCHHS i, ska BiOYBA€THCs B Terepii-
HBOMY 4acli, 1 sika € OCTIHOO JI€0, HOCUTH MOCTIHHUI XapaKTep.

CTBepzmcyBaana opma nieciioa B Present Indefinite B ycix oco-
0ax OXHMHM | MHOXKHMHH, KPIM TPETbOI 0COOM OJHMHH 30iraeThes 3
1H(}IHITUBOM HEeo3HaYeHO1 POpMH AiecioBa 0e3 YacTKH to:

The mature cows bear calves.

Jlopociii KOpOBH HapOKYIOTh TEJIAT.

VY Tperiii ocobi omuunu B Present Indefinite no in¢inituBa (6e3
YaCTKH t0) T0OA€ThCS 3aKiHUEHHS —S a0o -es:

The cows belong to the class of ruminants.

KopoBa HaneXuTh 10 pOIMHU KYHHUX

[MuransHa opma Present Indefinite yTBOproeThCs 3 TOMOMIKHOTO Jii€-
croBa to do B Present Indefinite Ta iH(diHiTHBa OCHOBHOTO JiecioBa 0e3
yacTkH to. Jlonomikue fiecioBo do, does cTaBUThCS TIEpe]] i IMETOM:
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Do the cows consume much water? (Uu cnioxxuBaroTh KOpoBH 0a-
rato Boju?)

Does the lactation period last for about ten months? (Uu TpuBae
NepioJl JIaKTallii MPUOIU3HO ECITh MICSIiB?)

3anepeuna ¢opma Present Indefinite yTBOproeThcst 32 1OIOMOTOIO
JOTIOMIXKHOTO JIieciioBa 0e3 4acTKH to:

A lot of people do not like colostrum. (bararo nrozxeii He TOOIATH
MOJIO3UBA)

LESSON 5
THE PAST INDEFINITE TENSE

Past Indefinite MuHyIHiII Heo3HaueHWi yac — 1ie JacoBa (hopma
JIieCIIOBa, sIKa BUpaXKae Jito, 10 BiAOyIacs B MUHYJIOMY.

Past Indefinite cTangapTHUX Ai€CTiB YTBOPIOIOTHCS IOAABAHHSIM
1o iH(diniTHBa 6€3 YacTKu to 3aKiHYeHHS -ed:

to furnish — furnished

to farrow — farrowed

to milk — milked

Hiecnopa B Past Indefinite He 3MiHIOIOTBCS 3a 0COOaMU H YHCIIaMU
1 MalOTh OJJHAKOBY (hOpMy B yCiX 0cO0axX OJHUHU 1 MHOKHHHU:

I worked  They worked

It worked We worked

He worked You worked

She worked

Past Indefinite HecTaHIAapPTHUX JIECIIB YTBOPIOIOTHCA MO-PiZHOMY,
3/1e0LTBIIOTO YEPTYBAHHSM TOJIOCHUX Ta MPUTOJIOCHUX KOPECHS:

to send — nocunatu — sent

Past Indefinite gesikux HecTaHIAPTHUX JIECIIB 30iraroThes 3 Gop-
Mo10 iH(IHUTHBA 6€3 YacTKH to:

to put — kyactu — put to shut — 3akpuBatu — shut

®opmu Past Indefinite mgiecnis to go i to be yTBOprIIMCS BiJl IHIIHX
KOPEHIB:

to go — went

to be — was/were

®opmoro Past Indefinite € nmpyra dbopma miecinoBa B TabyuIll He-
CTaH/IApPTHUX JI€CIIB.
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[Muranbna ¢opma Past Indefinite cranmapTHuX 1 HecTaHAAPTHUX
TECITIB YTBOPIOETHCS 3a AomoMorotro aiecioBa to do B Past Indefinite
(did) Ta iHpiHUTHBA OCHOBHOTO JAi€cioBa Oe3 4acTKu to:

Did the tankage of buttermilk produce excelent results? (Uu Bupo-
Ousia maxra 4y/ioBi pe3ybTaTtu?).

3anepeuyna ¢opma Past Indefinite yTBOprO€TbCS 3a JOMOMOTrOIO
niecnona to do B Past Indefinite, 3anmepednoi yactku not Ta iH}iHITHBA
OCHOBHOTO JliecTioBa 0€3 4acTKu to:

The sow didn’t farrow in time. (CBUHOMAaTKa HEBYACHO OIIOPOCHIIACK).

LESSON 6
THE FUTURE INDEFINITE TENSE

Future Indefinite (MaiiOyTHii HeO3HaUEHHI Yac) — L€ 4acoBa ¢o-
pMa, 1110 BUpaKae Jito, SIKa BiJ0yBaTUMETbCSA B Maii0yTHHOMY.

Future Indefinite yrBOproerscst 3 monomikaux aieciiB shall 1 will
Ta iH(pIHUTHBA OCHOBHOTO Ji€cIoBa 0€3 4acTKH to.

JonomixkHe gieciioBo shall BxxuBaeThcs B mepiid 0co0i OJHUHH 1
MHOXWHH, Will y npyriit 1 TpeTiit ocobax:

I (we) shall work at the poultry farm. (I \mu npamroBarumMemo Ha
nraxodepmi).

B ycHomy moBneHHi 3amicth shall i will sk mpaBusno BKUBa€eThCS
ckopouena (opma ’ll, sika Ha MUCHMI IPUETHYETHCS 10 MiIMETa:

I’ll work at the poultry farm. (5I npauroBarumy Ha nraxopepmi).

VY nuranbHii HopMi JOMOMIKHE AIECTIOBO CTABUTHCS MEPE] IMiIMETOM:

Will the shortage of vitamin A cauze the egg production? (Uu no-
3HAYa€ThCS HECTaya BiTaMiHy A Ha BUPOOHHIITBI S€1B?).

VY 3anepeuniit popmi micas TOMOMIDKHOTO JIECIOBA B)KUBAIOTHCS
JacTka not:

The cereals will not damage the growth of pullets. (kormeHTpOBaHI
KOPMH, BUTOTOBJICHI 13 36pHOBUX KYJBbTYp HE 3alIKOISATH POCTY MO-
JOTUX 1HIUIOK)

B ycHOMy MOBJEHHI MEpPEeBakHO BXKHUBAIOTHCS CKOPOYEHi (popmu
shan’t Ta won’t:

We shan’t work at the pig farm (Mu He Oyaemo mparroBaTH Ha
cBUHO(EpMI.)

Enough quantity of the vitamin A won’t cause decreased egg pro-
duction ([locTaTHs KiNBKICTh BiTaMiHy A HE MPU3BEE 10 CKOPOUCHHS
BUPOOHUIITBA SIEIID).
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LESSON 7
THE PASSIVE VOICE OF THE INDEFINITE TENSES

B anrmiiicekiii MOBI Ji€CiiOBa BXKHMBAIOTHCS B AKTUBHOMY CTaHi
(The Active Voice) ta maccusromy crati (The Passive Voice).

Yei yacosi GopMH IACHBHOTO CTaHY B AHIVIIHCBKIN MOBI yTBOpIO-
FOTBCS 3 BIATIOBIIHUX YaCiB JONOMDKHOIO Ji€cioBa to be Ta Jienpuk-
METHHKA MUHYJIOT'O 9acy OCHOBHOT'O JI€CIIOBA.

Present (Past, Future) Indefinite Passive yTBOprOETBCS 3 TOMOMIX-
HoOro miecioBa to be B Present (Past, Future) Indefinite Ta nienpuxme-
THHKa MuUHYJ0or0 Yacy (Past Participle) ocHoBHOTrO nmiecnoga.

Present Indefinite Passive

I am examined.

We (you, they) are examined.

He (she), is examined It is cultivated

Past Indefinite Passive.

We (you, they) were examined.

I (he, she) was examined

It was cultivated.

Future Indefinite Passive (she, you, they) will be examined.

It will be cultivated.

I (we) shall be examined

LESSON 8
THE PRESENT PERFECT TENSE

Present Perfect yTBOproeTscst 3a monomororo aiecioBa to have B
Present Indefinite Ta aienpHKMETHHWKA MHUHYJIOIO Yacy OCHOBHOT'O
NIECIIOBA.

Past Participle crangapTHUX Ii€CITiB yTBOPIOETHCS AOJABAHHIM 0
iH(piHMTHBA 3aKiHYeHHs -ed, ToOTO 3a hopmoro Past Participle cran-
JapTHUX JieciiB He BigpisHserbes Bia Past Indefinite. Past Participle
HECTaHJIAPTHHX JIECHTIB TpeOa 3armaM’ ATaTH.

B ycHOMY MOBIIEHHI B)KHBAIOThCS IIEPEBAKHO CKOPOYEHI (hOPMH:

I’ve grown

He’s grown

VY murainbHii Gopmi TOTOMIKHE TIECTIOBO CTaBUTHCS MEPENT MiAMETOM:
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Have the farmers finished the soil cultivation by this time? (Yu 3a-
KiHuuIn hepMepu 00pOOITOK IPYHTY 0 I[LOro Yacy?)

VY samepedHiii Gopmi Iics JTOMOMDKHOTO JIECIIOBA BXKHBAETHCS
JacTKa not:

By this time the farmers have not finished the soil cultivation. (o
LIBOr'0 Yacy (pepMepu He 3aKIHIMIN 00POOKY IPYHTY).

CkopodcHa 3amnepedna (opma 4acTo BXKMBaHa B YCHOMY MOBJICHHI,
Mae J1Ba BapiaHTH:

I haven’t — I’ve not

He hasn’t — He has not.

Present Perfect BxxuBaeThcsl ISl BUpaKEHHS Ail, sika BigOyBajach
JI0 MOMEHTY MOBJICHHS, 1 TOH, XTO TOBOPHTH, MAa€ Ha yBa3i pe3yJbTaT

Present Perfect BJXMBa€ThCS TAKOXK y PEYCHHSX 3 OOCTaBMHAMH Ya-
Cy, 110 03HAYAIOTh MEPiOj Yacy, SKUil MMOYaBCsS B MHHYJIOMY 1 TPUBAE
JI0O MOMEHTY MOBJICHHS: up to now J0 IIbOro 4acy, lately HemomaBHO,
3a OCTaHHIl yac, recently ocTaHHIM YacoM, TUIBKH 10, so far 70 1bo-
ro Yacy, since BiJ Tofi, not yet 1me Hi:

The tractor hydraulic system has recently provided the power
turning the plough. (I'impaBniyna cucrema TpakTOpa TITBKU-IIO 3a-
Oe3neunsia MOTYKHICTb JUISl MITHATTS IJIyTa).

LESSON 10
FUNCTIONS OF THE INFINITIVE

IndiniTHB — 1€ HeocoOoBa (popma Ji€ciioBa, KA TIILKH HAa3HUBAaE
JIFO 1 BIATIOBiIa€ HA MMATAHHS 0 POOUTH? IO 3POOUTH?

B anrmiiicekiii MOBI 1H(IHITHB Ma€ OJIHY MPOCTY 1 5 CKJIATHUX
dopm. [HOIHITHB MepexiqHuX AiecaiB Mae GopMH Yacy i cTaHy, a He-
MePEeXiTHUX — TUTbKU Yacy:

Dopwmu iHpiHITHBA Active Passive
Indefinite to sow, to fertilize to be fertilized
Continuous to be sowing, to be fertilized
Perfect to have fertilized to have been fertilized
Perfect Continuous | to have been fertilized
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OzHakoro 1H(IHITUBA B aHTIIIKACHKIM MOBI € yacTka to, ajie B Oara-
THOX BUTAJKaX iH(IHITUB BKUBAETHCS O3 Hel.

Yacrka not nepen iHQIHITHBOM BKa3ye Ha 3anepedyny Gopmy.

[adinituB B popmi Indefinite BxxuBaeThC:

1. Skmio mis, sSIKy BiH BHpaXkae, OJHOYACHA 3 JI€I0, BUPAKEHOIO
JECTIOBOM-TIPUCYTKOM PEUCHHS:

It’s very important to reduce the speed of the crop in the rear
beater ([ly>ke Ba)XITMBO 3MEHIIUTH MIBUJIKICTh MIPOXOKEHHS BPOXKAIO
3epHa y 3aiHbOMY OiTepi).

2.3 niecnoBamy, 10 BUP&KAIOTH HaMIp, Haito, OaxaHHs, Indefinite
Infinitive o3Hauae fir0, MaOyTHIO BiTHOCHO JIii, BUPAKEHOI 1€CTIOBOM-
MPUCYTKOM:

I want to reduce the engine wear. (51 X049y 3MEHIIMTH 3HOITYBaHHS
JIBUTYHA).

3. 3 momanbauMu jgiecioBamu Indefinite Infinitive wacrto Bupaxae
MaiOyTHIO Ait0:

The gasoline engines must have a carburettor. (beH3uHOBI 1BUTYHH
MOBUHHI MaTH KapOropaTop.)

4. Continuous Infinitive Bupaskae TpuBaiy Iir0, IO BigOyBa€ThCS
OJTHOYACHO 3 €10, BUPAXKEHHOIO JI1ECIOBOM-TIPUCY IKOM:

It was pleasant to be briving a combine-harvester again. (ITlpuemno
OyJ10 3HOBY BeCTH KOMOaliH).

5. Perfect Infinitive Bupaxae fito, o nepeaye 1ii, BUpaXxeHin Jie-
CJIOBOM HPUCYIKOM:

I am very sorry the oil filters to have been damaged. (Meni nyxe
IIKOJ1a, IO 3iTICOBAHO MACIISHI QUIBTPH).

Perfect Continuous Infinitive Bupaxae Tpusaty Airo, w0 BinOysamacs
MPOTArOM IIEBHOTO Yacy [EPEl JI€r0, BUPAKCHOO Mi€CIOBOM-TPUCY IKOM:

He must have been cutting the crop. (OueBnuaHO, BiH KOCHUB 3€pHO-
Bi KyJIBTYPH).

LESSON 11
MODAL VERBS

B anrmiiicekiit MOBI € rpyma gieciiB (can, may, must, ought, shall,
will, would, need, dare), siki Ha3UBaOTLCSA MOAATLHUMH.

MopanpHi Ii€ciIOBa HE BKHUBAIOTHCA CAMOCTIMHO, a JIMIIE B CIIO-
Jy4YECHHI 3 1HILIUM JI1€CIIOBOM, a caMe 3 Horo iH(pIHITUBOM:
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It must be done in time. (Ile moTpiGHO 3pOOUTH BYACHO).

Tubers can be planted. (KopeHemmonn MokHa BUCAIKYBATH).

MopanbHi i€ciioBa HE BUPaXKarOTh J1it0 a00 CTaH, a JIMIIE MOXIIU-
BiCTh, HEOOXIIHICT, OaKaHICTh, HMOBIPHICTh, CYMHIB, T03BiJ, 3a00-
POHY, 31aTHICTh BUKOHAHHSA i1, TO3HAYCHO1 iHPIHITHBOM.

[Ticns MomanbHUX Ji€CIiB 1HQIHITUB BXKHBAEThCS 03 YaCTKU to.
Bunsarok cranoBisaTh miecioBa ought, dare, need, micist axux iHGiHI-
TUB MOK€ BXKHBATHUCS 3 YACTKOIO tO0.

HiecnoBo can Bupaxae (GisudHy abo pO3yMOBY 3IATHICTb, YMIHHS
a00 MOXKJIMBICTh BUKOHATH JIIO:

In April we can sow feed crops. (Y KBITHI MH MOYXEMO TOCIATH
KOPMOBI KyJIbTYpH).

JliecmoBo may HaldJacTile BUpaKae J03BLI, TPUITYIIEHHS 3 Bi/Ti-
HKOM CYMHIBY, HEBIIEBHEHICTb:

Now one may fertilize the soil. (3apa3 MoxxHa y100pUTH IPYHT).

HiecnioBo must mae e oxHy dacoBy popmy. [list Bupaxena iHpi-
HITUBOM Yy CIIOJyY€HHI 3 Mmust MOXKE CTOCYBAaTHCS TENEPIIHBOTO Ta
Mait0yTHbOTO Yacy. JliecmoBo must Bupaxkae 000B’ 30K, HEOOXiTHICTh:

The range of plants must be changed regularly. (CiBo3mina noBu-
HHA BUTPUMYBATHUCS PETYJISIPHO).

LESSON 12
THE SUBJECTIVE INFINITIVE COMPLEX

Mo ckiazy UbOro KOMIUIEKCY BXOAHUTH IAMET, SIKHH IEPeNacThCs
IMEHHUKOM a00 3aiiIMEHHHKOM 1 MPHUCYIOK, SIKUM CKIAAA€ThCS 3 Ii€-
cloBa B NIaCUBHOMY cTaHi. Hepes Te, M0 10 CKIIa/ly KOMILIEKCY BXO-
AUTH IH(IHITHB, @ BECh KOMIUICKC BUKOHYE POJIb MIJMETa Y PEUYCHHI,
BiH Ha3MBA€ThCSI Cy0’ EKTHUM 1H(DIHITUBHIUM KOMILICKCOM:

The composted fertilizer is considered to be a loose organical sub-
stance (BBaxkatoTb, 1110 KOMIOCT — I1€ OpraHiYHa PEYOBHHA. )

Otxe, cy0’eKTHUN iH(i)iHiTI/IBHI/Iﬁ KOMILICKC CKIAJA€ThCs 3 JBOX
gactud. Ilepma wactinaa — IMCHHHK y 3arajbHOMY BIIMIHKY abo
0co00BHIi 3aliMEHHUK Y Ha3WBHOMY BiAMIHKY. Jl[pyra dyacTuHa KOM-
TuIeKcy — 1H(IHITUB, 1110 BHpakKae 10, SIKY BHKOHY€ a0o sikoi 3a3Hae
ocoba yu npeaAMeT, NO3HAUYCHU IMEHHUKOM a00 3aiiMEHHUKOM.

Cy0’exTHU 1HQIHITUBHUN KOMIUIEKC B)KHBAETHCS 3 JI€CTOBAMHU
to say — roBopurtH, to believe — BiputH, to consider — BBaxartu, to
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report — MOBIJOMJIATH, tO0 suppose — mpuiyckaru, to think qymatu
Ta iH.:

Ashes and lime are supposed to be the local fertilizers. (IIpumyc-
TUMO, IO TOIILT i BAITHO € MiCIIEBUM JOOPHBOM. )

LESSON 13
ADVERBIAL CLAUSES OF CONDITION

[Migpsinai ymoBHi peuenns (adverbial clauses of condition) naiiya-
CTime 3’€THYIOTHCS 3 TOJIOBHUM PEUYCHHSM 3a JIOTIOMOTOI0 CIIOJTYYHHU-
kiB if, whether skmio, sx0Ou, um:

We don’t know whether sandy soils are good for flax. (Mu He 3Ha-
€MO, YH MIIIaHI IPYHTH € JOOPUMH IJIs1 JIbOHY.)

YMOBHI pe4YeHHs B aHTJIIICHKii MOBI MOAUISIOTHCS HA PEYCHHS pe-
anpHOi ymoBH (sentences of real condition) 1 pedeHHs HepeanbHOI
yMmoBH (sentences of unreal condition).

Peuennst peanbHOL YMOBHU TEPEKIafaloThCs Ha pra'l'HCLKy MOBY
YMOBHUMH PCUCHHAMH 3 [i€CIOBOM-TPUCYIKOM y JUHCHOMY CIIOCOOL;
TiAPSIHI PEYCHHS B HUX BUP@KAKOTb PEAIbHi, 3iHCHEHI IIPUITYLCHHSL:

If we sow grain crops on the fertile soils, the harvest will be very
good. (SIkmo MU mocieMO 3epHOBI KyJIbTYPH Ha POIIOYHMX IPYHTaX,
BpOXKaii Oyze yxe 100prM.)

VY pedeHHSX HepeanbHOI YMOBH HPHCYJOK MIAPSTHOTO PEUYCHHS BH-
pakae firo, IO CYNEepevnTh JIMCHOCTI, MAIOWMOBIpHY a00 ¥ 30BCiM He-
3miiicHeHHy. Ha ykpaiHCbKy MOBY pedeHHs HepeaslbHOI YMOBH ITepeKIia-
JTA€THCSI yMOBHUMH PEUEHHSMH 3 JIIECIOBOM B YMOBHOMY CHOCOOi:

If the grain crops had been yielded in time, the harvest might have
been rather sufficient. (SIk6u 3epHOBI KynbTypu Oy 310paHi BYacCHO,
Bpo’Kaii OyB OM JOCUTH 3HAUHUM).

LESSON 14
THE PRESENT PERFECT CONTINUOUS TENSE

Present Perfect Continuous Bupakae 1ito, 10 TpUBaJIA MPOTITOM
IEBHOI'0 4aCy A0 MOMCHTY MOBJICHHS 2160 BCC IIC NPOAOBXKYETHCA B
el MOMeHT, a00 IIOHHO 3aKIHYMIIACK.
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Present Perfect Continuous yTBOpIOETbCS 3a JIONMIOMOTOIO JIOTIOMi-
»kHOTO JieciioBa to be, B Present Perfect Continuous ta miempukmer-
HUKA TENEPINIHBOTO Yacy OCHOBHOIO JII€CIIOBA:

I have been breeding; He\She has been breeding; Welyou have
been breeding.

Present Perfect Continuous Moke B)XMBAaTHUCS 13 BKa3iBKOIO Ha
TPUBATICTB Jii:

The scientists have been breeding new sugar beet varieties for a
long time (Ha npoTs3i 10Broro yacy BYCHI BUBOJSATH HOBI COPTH ITyK-
pPOBHX OYpSIKIB).

Present Perfect Continuous Moke B)KMBaTHCS 1 0e3 BKa3iBKH Ha
TPUBAJIICTH Aii:

Plant-breeders have been breeding new varieties of agricultural
plants. (CenexiioHepr BUBOJATH HOBI COPTH CUTbCHKOTOCTIOIAPCHKHUX
POCIIUH).

LESSON 15

THE PRESENT INDEFINITE TENSE
IN THE PASSIVE VOICE

Oco0a abo mpeaMET 110 BUKOHYE JIif0, HA3UBAETHCS Cy0’ €KTOM JIii.
Tax y peuenni The tractor pulls a truck. (Tpakrop Tsarae mpudimn) the
tractor — cy0’€ekT, a truck — 00’ €KT.

B aHrmilichKiii MOBI Ji€CTIOBa BKUBAIOTHCS B aKTUBHOMY 1 TTACHB-
HOMY CTaHi.

Ko miaMeToM pedeHHsI € CyO’€KT Aii, TO I€CIOBO-TIPUCYIOK
BXKMBA€ETHCSI B AKTUBHOMY CTaHi:

We use headers for the windrow harvesting. (M1 BUKOpHCTOBYEMO
YKaTKU IS pO3/ALTIBHOTO 30UpaHH).

SKIO MigMETOM peueHHS € 00’€KT Iii, TO JI€CIOBO-TIPUCYIOK
BXKMBA€ETHCSI B TACHBHOMY CTaHi:

Headers are used for the windrow harvesting. (JKatku Bukopucro-
BYIOTBCS JIJISl PO3IUTBHOTO 30MpaHHs).

Present Indefinite Passive yTBOpIO€Tbcs 3 AOMOMIKHOTO J11€CIOBA
to be B Present Indefinite Ta miempukMerHuka muHynoro dacy (Past
Participle) ocHoBHOTO Ii€ciioBa:

I am examined. He/She is examined.

It (Wheat) is cultivated in our region we\you are examined.
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LESSON 16
THE PAST INDEFINITE TENSE IN THE PASSIVE VOICE

VYci gacoBi ¢opmu, B Tomy umcii i Past Indefinite maroTh cBotO
(opMy acUBHOTO CTaHY.

Past Indefinite Passive yTBOpIo€ThCsS 3 JONMOMIXXHOTO Ji€cioBa to
be B Past Indefinite Ta nienpukmernuka munysoro 4yacy (Past Partici-
ple) ocHOBHOTO HmiecioBa:

I was examined. = He/She was examined.

It (rye) was cultivated in our zone. We/you were examined

They (the lime doses) were determined with the help of the hy-
drological soil acidity

LESSON 17
THE FUTURE INDEFINITE TENSE IN THE PASSIVE VOICE

VYci wacosi popmu, B Tomy umcii i Future Indefinite, matoTs cBOIO
(dbopMy IMacuBHOTO CTaHy.

Future Indefinite Passive yTBOproeTbcs 3 JOMOMIKHUX JIECIIB
shall (will) Ta macuBHU 1HIHITHB OCHOBHOTO JIECIIOBA:

I (we) shall be examined. It (protein) will be easily absorbed.

He (she, you) will be examined They (seeds) will be prepared
for sowing.

LESSON 18
MODAL VERBS AND THEIR EQUIVALENTS

MozaibHi CloBa He BUPAXArOTh JIiF0 ab0 CTaH, a JIMIIES MOXJIHBICTD,
HEOOXIHICTb, OaXaHICTh, IMOBIPHICTD Jii, O3HAYCHOI IHIHITHBOM.

MonanbHi miecioBa can, may, must, ought mepeaaroTh Iir0 B Tere-
pIIIHBOMY Yaci:

We can grow hops in the temperate climatic conditions. (Mu Mmo-
’KEMO BHUPOIIYBAaTH XM1JIb B TOMIPHUX KJIIMAaTHYHUX YMOBaX).

MonanpHe niecioBo could MoXxe B)KUBATUCh B MUHYJIOMY Yaci:

The bitter sorts of hops could be used earlier. (Panime morau Bu-
KOPHCTOBYBATHCH TiPKi COPTH XMEJTIO).

Iiecnosa to have, to be BXHUTI Sk MOJANIbHI, BUPAKAIOTh HEOOXI1/I-
HICTh 4H 000B’S130K Jii, 3yMOBJIEHOI 0OCTaBHHAMH.
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Ha Bigminy Bijg iHIIMX MOJANbHUX Ji€CTIB, AiecnoBa to have, to be
Mae popmu iHOIHITHBA, TIEMPUKMETHUKA 1 MOXKYTh B)KUBAaTUCS B THX
yacoBUX (OpMax, SKUX HE MAaOTh MOJAJbHI Ji€cioBa. 3 LUMH Iie-
CJIOBaMH iH(IHITHB OCHOBHOT'O JII€CIIOBA BXXHBAETHCS 3 YACTKOIO tO:

Different hops varieties have to be cultivated on the black soils and
other types of soils. Pi3Hi coptu xmemro Tpeda BHPOILyBaTH Ha YOPHO3E-
Max Ta HIIHUX TPUIATHAX JUT BUPOILYBAHHS IIi€l KyJIbTypH IPYHTaX.

Hops seedlings are to be planted in spring or in autumn.

CamxkaHili XMelto HeoOXiTHO BUCAKyBaTH HaBECHI a00 BOCEHHU.

LESSON 19
THE POSSESSIVE CASE

[IpucBiiiHuii BIIMIHOK BiJINOBiJae HAa MHUTAHHSA 4Yud? 4us? 4ue?
yni? [IpucBifHUI BIIMIHOK OJHUHHM YTBOPIOETHCS JOJABAHHSAM aIo-
cTpoda i 3aKiHYCHHS -S:

the farmer’s combine harvester — xom0OaiitH Gpepmepa.

VY npucBiiHOMY BiIMIHKY B)XMBArOTbCSI TOJIOBHUM YHHOM IMEHHU-
KH, III0 O3HAYAIOTh Ha3BH icTOT. KpiM Ha3B iCTOT y MPUCBIHHOMY BiJl-
MIHKY BXKHBAIOTbCSI:

a) IMCHHUKH, [0 03HAYAIOTh Yac 1 BiICTAHb:

two year’s drought — nBopiuna 3acyxa;

0) Ha3BK KpaiH, MICT, a TAKOX CII0Ba country, city, town, world, river:

Ukraine’s mountains and steppes — ropu i crenu Ykpainu;

VY npucBitHOMY BiIMiHKY BJKMBAIOTHCS TAKOXK CTIilKi CIIOBOCIIONY-
YCHHS:

a stone’s throw — He3HauyHa BigcTaHb, to one’s heart’s content —
JIOCX0YYy.

LESSON 20
THE PARTICIPLE 1

Present Participle He Mae [EBHOrO 4acOBOrO 3HAYCHHS 1 BUpakae
pi3Hi 4aCOBi BIIHOLICHHS 3aJIEXKHO Bill KOHTEKCTY i 3HAYCHHS Ai€cio-
Ba, BiJl IKOTO YTBOPEHO J1€MPUKMETHHK.

Present Participle BxuBaeTbCs 1711 MO3HAUEHHS [Iii, OJJHOYACHOI 3
JE€I0, BUPAKECHOIO JI€CIOBOM-TIPUCYJIKOM Y pPEUYEHHI. 3aliedHO Bif
yacy niecioBa-mipucynka Present Participle Mo)ke BITHOCHUTHCH J0 Te-
NEPIIIHFOTO MUHYJIOTO a00 MallOyTHBOTO Yacy:
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Increasing the norms of fertilizers we can harvest more sugar
beets. (301nbpIIyr09r HOPpMH TOOPUB, MU MOKEMO 310paTu OUTbIIIE IIy-
KpPOBHUX OYpSIKIB.)

Present Participle Mmoxe BHpakaTH Ait0, 10 BiTHOCUTHCS, A0 TeIe-
pIIIHBOTO Yacy, HE3aJIEeKHO BiA dYacy Aii, BHUpPaXeHOI I1€CIOBOM-
NPUCYIKOM PEUCHHS:

Shoots absorbing nutrient substance sprout very quickly. (Cxoman,
MOTJIMHAIOYY TTO>KUBHI PEYOBUHH, PO3BUBAIOTHCS AYKE IIBHIIKO).

LESSON 21
THE GERUND

I'epynniit — 11e He ocoboBa opMa JiecioBa, i3 3aKiHUSHHSIM -ing,
10 Ma€ BJIACTHBOCTI JIi€ciiOBa i iMeHHUKA. SIK U 1H(IHITHB, TepyHIiI
Ha3UBac Jifo.

B yxpaiHchkiii MOBI Hemae ¢opmH, sfKa BianoBigana O repyHIito.
I'epynniii — eauHa niecniBHa Gopma, mepes sIKO MOXE BKHUBATHUCH
npuiitMeHHUK. ToMy repyHaid BXKHMBA€THCS MICIS JIECTIB, MPUKMET-
HUKIB 1 BUpa3iB, sIKi BAMararTh J0AaTKa 3 TPUIHMEHHUKOM:

Thank you for telling me — nsikyto, 110 po3kazanu MeHi.

Ilicns pesikux IieciB TepyHIIA BXHUBAEThCA Oe3 MpUHMEHHUKA.
Jo mi€i kareropii Hanexath: to finish, to suggest, to avoid, to leave
off, to give up, to go on, to keep on, to enjoy, to forgive, to post pone,
to delay, to fancy, to want, to need, to require:

We need harvesting very quickly. (Ham moTpibnO mBuaKo 3i0patu
BpOXKaid).

LESSON 22
SEQUENCE OF TENSES

B ykpaiHChKill MOBI [1i€CIIOBO-IPHCYI0K Hi/IPAIHOTO JA0JaTKOBOIO
PEUCHHST MOXE BXKUBATHCH Y Oy/b-sIKOMY 4aci (TeHele_IHLOMy, MHU-
HYJIOMY YU MaiiOyTHHOMY) 3aJIeXKHO BiX 3MmicTy. B aHrmiicbkiid MOBi
11€ MOYJIMBO JIUIIE TOAL KOJH JI€CIIOBO-IIPUCYIOK F'OJIOBHOT'O PEUEHHS
BHPaXKae JIif0 CTOCOBHO TETIEPIIIHLOTO a00 MallOyTHROTO Yacy:

I think that the vegetable production will provide the population
with the necessary vegetables. (51 gymaro, o oBo4iBHHIITBO 3a0e3rie-
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YUTh HACEJICHHSI BCiMa HEOOXiTHUMHU OBOYAMH).

SIKIO y TOIOBHOMY PEYCHHI AI€CIOBO-IIPUCYAOK BHPAXKAE MUHYTY
A0, @ Jiisl MAPSAHOTO NOJAaTKOBOIO PEUYCHHS BIAOYBAETHCS B TOM Ca-
MUl MOMEHT, IO i Jisi TOJIOBHOTO, TO B MiAPSITHOMY PEUCHHI BXKHBa-
erbes Past Indefinite aGo Past Continuous:

We knew that the nutrient substances consisted of peat and ma-
nure. (Mu 3Hanu, 110 B TOp(i Ta FHOIO € MOKUBHI PEUOBHHN).

SIKIIO B TOJIOBHOMY PEUCHHI AI€CIOBO-IPUCYLOK BUPAXKAE MUHYITy
Aito, a Jis MIAPSIHOrO JOAATKOBOTO PEYCHHS BifOyJacs paiie i
TOJIOBHOT'O, TO B MiAPSAHOMY peueHH1 BxuBaeTbes Past Perfect:

The farmer told that the vegetable seeds had been already sown in
the greenhouses. (depMep ckaszaB, 10 HACIHHS OBOYEBHUX KYJILTYP
BXKE MOCISIHO B TETUTHIISX ).

SIKImo B rOJIOBHOMY PEYCHHI JIECIOBO-NPUCYOK BUPAXAE MHHYILY
ZLit0, @ Jiist MIAPSIHOTO JOJATKOBOIO PEUYCHHS! € MaiibyTHBOKO 3 TOUKH 30-
Py TOJIOBHOTO, TO B MiIPAHOMY peuceHH1 BxuBaeThesi Future-in-the-Past.

LESSON 23
SUBJUNCTIVE 11

Subjunctive Il BxuBaeTbes s Ali, sika BinOysnacs 0 3a MEBHHX
YMOB Yy TENEpilIHbOMY, MUHYJIOMY a00 MaiOyTHBOMY dYaci, ajne He
BiOYIIaCs 3 IKUXOCh IIPUYHH!

We should sow wheat in time but we had very little time. (Mu 6
MOCISUTH MIIEHUII0 BYACHO, aJie MaJli JIy’Ke Majo 4acy).

Subjunctive II mae aBi yacoBi popmu: present i past.

Subjunctive II Bupaxae xito, W0 3a NEBHUX YMOB Moria 6 BinOy-
BATHCS Y TeHepHIIHLOMy abo MallOyTHbOMY Yaci, aje TaKy sika cyre-
pPEUYUTh TIHCHOCTI:

If the efficiency of the mineral fertilizers were higher, the tractor
mowed more grass pasture for the hay production. (SIx6u edpexTus-
HICTh MiHEpAJILHUX JOOpUB Oyia O BHUIOIO, TPAKTOp CKOCHB OM MEH-
11y TUIOILY TPaBHU Ha CIHO).

Subjunctive Il Bupaxae nmito, sika 3a ICBHUX YMOB MorJia 0 Bim0y-
THCS B MUHYJIOMY, aJIe 4yepe3 BiICYTHICTh IIMX YMOB HE BiIOyacs:

If the cereals had been sown in time, the yield would have been higher
Ax6u 31maku (TOHKOHOTOBI) OyJM MOCISIHI B ONTHMaJbHI CTPOKH, TO YPO-
XKall OTpUMaiH O 3HAYHO BHIIHM.




NON-STANDARD VERBS

Infinitive Past Indefinite Participle II
be oytH was/were been
become CTaTH became become
begin MMOYMHATH began begun
break JIAaMaTHUCS broke broken
breed BUBOIUTH bred bred
bring TPUHOCUTHU brought brought
choose BHOHMpATH chose chosen
cost KOLITYBaTH cost cost
cut 3pizatn cut cut
do poouTu did done
draw TSITHYTH drew drawn
drive BECTH drove driven
fall nagaTu fell fallen
feed roayBaTH fed fed
flow TEKTH flew flown
get O€EpPKyBaTHU got got
have MaTH had had
hold TpUMATH held held
keep 30epiratu kept kept
lay KJIaCTH laid laid
leave 3AIIAIIATH left left
loose BTpayvaTu lost lost
make poburtu made made
mean 03HAYaTH meant meant
mow KOCHUTH mowed mown
pay IUIATATH paid paid
rise migHIMaTH rose risen
rot THUTH rotted rotten
set BCTaBJIATH set set
show MOKa3yBaTH showed shown
shut 3aKpUBaTH shut shut
SOW cisatu sowed sown
spread MOLINPIOBATH spread spread
strike outu struck struck
take Opatu took taken
thrive IIBMIKO POCTH throve thriven
wear HOCHUTH wore worn




CITNCOK HAUYIKUBAHILLINX CKOPOYEHb

MIP, I1/iOLL BI[]JCTAHI
I X ITOBHE HATTMCAHHSI AHIJTIHCbKOIO MOBOIO I [TEPEK/IA/

kg Kilogram Kinorpam

mg Milligram Minirpam

t Ton Tona

mm Millimeter Minimerp
km Kilometer Kinomerp

m Meter Mertp

ha Hectare [extap

hp Horsepower Kinceka cuna
kw Kilowatt Kinosat
TABJINLA INMTEPEBOAY

AHIJ10-AMEPUKAHCBKUX O4NHALIb
BUMIPFOBAHHSA B METPUYHY CUCTEMY

1 mile (ml) muns = 1,609 km
1 foot (ft) byt = 30,48 cm

1 inch (in) groitm = 2,54 cm

1 acre (a) akp = 0,405 ra

1 pound (Ib) pynt =453,59 1
1 gallon (gal) ramon = 4,546 T




AHIJ10-YKPATHCBKUH C/TIOBHUK
CI/IbCbKOIroCliofgAPCbKHX TEPMIHIB

YMOBHI CKOPOYEHHA

a — adjective MPUKMETHHK pl. — plural MmHOXXHHA

adv. — adverb npucniBHUK prep. — preposition mpuiMeHHHK
Cj. — conjunction CIIOJIy9HUK  pron. — pronoun 3aiMeHHUK

inf. — infinitive Heo3HaueHa sing. — singular oHHHA

(hopma miecioBa v. — verb miecioBo
n. — noun iIMEHHHK
num. — numeral 4uCIIBHUK

A

abdomen n. OpromrHa noposkHMHA abundance n. HaUTUIIIOK

achievement n. ToCSTHEHHS adherent a. OIM3BKUH, CYIIIIIBHO
MpYKaTHH

agriculture n. CiIbCbKe rOCIIOIaPCTBO agricultural a. cibCcbKO-
rocroJapCchbKuit

agronomy n. arpoHomMis  akin a. moiOHMMA, OJIU3bKHUH, CXOXKUN

aminoacid n. aMiHOKHCIIOTa application n. BHECEHHs, 3aCTO-
CyBaHHS

anterior a. mepeaHii apply v. BUKOPHCTOBYBaTH, BHOCUTH

artificially adv. mrygno  attach v. npukpinuru, npueaHaTi
average n. cepenHa
a. cepeHii, 3BUYaitHUA

bar n. mpyTOK, CTpIKEHb ~ cutter bar n. pi3aJbHUN anapat
barley n. ssuminp  barn n. KOHIOIIHS, KOPIBHUK
barrel n. 6ouka bear v. mepeHOCUTH

bearing n. miIIIAITHAK beater n. GiTep
bee-keeper n. maciuauk  bee-hife (Pl. —hives) n. Bynuk
belly n. xuBit belt n. mac, pemiHb

branch n. rany3p  breathe v. guxaru

breed v. BuBoautH breed n. mopoaa

bone n. kicTka bulk n. ocHoBHa Maca, 00’ eM
bulky a. 00’ emuctuii (kopm) buttermilk n. maxta
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capable a. 3maTHuUl cattle n. Bemuka porara Xyao0a

cavity n. HOpoKHUHA cell n. kiTHHA

chamber n. xamepa chest n. rpyauaa

charge n. 3apsn  cheesy a. cupHumi

coil n. korymka  combustion n. TOpiHHS

compress V. CTUCKYBAaTH, CIIPECOBYBaTH concentrate n. KOHIIEHTPAT
consume V. CIOKUBAaTH  consumption n. CIIOXKHUBaHHS

convert v. lepeTBOproBaTH correspond v. BiANOBigaTH

coulter n. Hixk mryra, coxu crankshaft n. komiH4aTHi Baa

crampy a. CTpakJarouHi Bi Cyqopor cylinder n. wmIiHAp,

Oapaban

D

F

decrease v. 3smenmyBatu  define v. Bu3HauaTu

deposit n. Bigkmanenns  digest v. mepeBaproBaTu
digestive a. TpaBHUI drill n. ciBanka, psaKoBa ciBajKka
v. ciaru no crepHi  double helix n. moaBiiHa cripanb
drought-resistant a. CTIHKHIA 0 IOCYXH

drought n. mocyxa

duodenum n. gBaHAAISATUIIEPCHA KHUIIIKA

drive n. mpuBOJ V. KepyBaTH, IPUBOIUTH B Hil0

four-wheel drive 3 npuBoAOM Ha YOTHPH KoJieca

egg n. Aiie

engine n. JBUTYH

endurance n. BUTPUBAIIICTh

environment n. 0TO4yIO4e CEPEIOBHILE

engineering n. TeXHiKa, MAalTMHOOY Ay BaHHS

agricultural engineering n. MexaHi3allis CIJIbCHKOTO TOCIIOAAPCTBA

fat n. xxup, cano  fattening n. BigroaiBis
feed v. romyBatu  fibrous a. ¢pibpo3Huit
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J

K

film n. mmiBka firm a. TBepauii

fit v. TOYHO HiTHATH furnish v, mocrauartu

flesh n. cupe m’sico, M’si3eBa TKaHWHA flock n. 3rpas nraxis
fodder n. xopm s xynobuforbear n. monepeaHuk

foul-brood n. ki (xBopo6a 61k1T) frame n. pama
friction n. repts  fuel n. manmBo

fundic glands n. pl. dyHIaIBHI 32JI031 TUTYHKY

frog n. criiika myra

gear n. mecrtepHsl, 3y0uaTa nepegada grain n. 3epHO
graze v. macTu, nactucs  grind v. MOJIOTUTH, IEPEIOMYBaTH
grip n. 3UeTICHHS, 3aXBaT ZErow V. pOCTH

growth n. pict

harmful a. mxigmuBwii, 3ryOHuit ~ harrowing n. 60poHyBaHHS
hatchability n. siitieHOCHICT heat v. HarpiBaTH n. TEIIO
hemp n. konoruts  hull n. mymmaiika
hydrochloric acid n. consiHa kuciora

immunity n. iMyHIiTET implement n. 3HApSIIS
inflammation n. 3amamoBaHHs intestine n. KMIEYHUK
jug n. baHka juice n. cik

kilowatt (kw) n. kimopar  kind n. pix, copt, po3ps, Kiac
knob n. kHOTIKa, pyyKa
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legume n. 6000Bi KyJIETypH lettuce n. canat

lever n. puuar limb n. kiHIIBKa

linear a. minifinmii listless a. anaTuuHui

live-stock n. xyno6a, moromis’s xynoobu load n. BanTax
lung n. nereni

M

management n. ynpaBJIiHHS soil management n. TpyHTO-
3HaBCTBO

mammal n. ccaBenpb maturity n. 3puUTicTh

mature v. 103piBaTH meat n. M’sco

mild a. M’ sikuii milk n. Monoko

mite n. KT moist a. BOrKHii, BOJIOTHH

muscle n. myckyn

N

nitrogen n. a30T  nourishing a. MOXXUBHUIHA
nourishment n. crmo>xuBaHHs, 1Ka, Xap4i  nutritive n. MOXABHUMA

oats n. oBec odourless a. Hemaxyuuii

OCCUr V. TparuIsiTHCS oil n. macno

palatable a. cMa4HMIA, alTeTUTHUMN, iCTIBHHHA plough n. mtyr
peracardium n. (pl. —dia) GinsicepiieBa cymMka protein n. GioK

palatability n. cMauHicT,  pump n. MOMIIa, HACOC V. HATHITATH
parturition n. poju posterior a. 3aIHiH

piston n. MOpIICHb

plough v. opatu

potassium n. Kajii
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pOWeT n. CuJIa, OTYXHICTh, CHEPTis
V. IPUBOJUTH B JiI0

pregnant a. BariTHHIA

pullet n. kypouka, MoJ0o1a IHAUYKA

quality n. sIKicTh ~ quantity n. KiJIbKIiCTh

R

rear a. 3aHii reciprocating a. 3B0pOTHO-NIOCTYaIbHUI
reduce v. CKOpOTUTH require v. moTpedyBaTu

requirement n. morpeda  residues n. pl. 3aTUIIKK,BIIX0IH
retart v. ynoBibHIOBaTH  retarded a. ynmoBUIbHEHUH

rickets n. paxir rigid a. KOPOTKHIA, HEPYXOMO MPHUKPITUICHUI
rinse v. nojockatu roll n. KaTok, poJMK  V.KOTUTHUCS

rotate v. obepratu rotation n. o6epTaHHA

S

safety n. 6e3neka  safety engineering n. TexHika O0e3neKu

scuffling n. nymeHHsa share n. Jiemimn

shell n. mkopiymna shoot n. cxoau

shortage n. Opak, Hepomik silage n. cuioc

skimmilk n. o6paT, 3HsITE MOJIOKO SOW N. CBHHS, CBUHOMAaTKa

spark n. ickpa species n. pl. Bux

speed n. MBHIKICTBSPring n. IpyXUHA, JKEPEIIO

starch n. kpoxmain stiff a. HeraHyukui

stock n. mopona, morois’s stomach n. IIyHOK

stubble n. cTepHs  straw n. cojioMa

stroke n. TakT, XiJ HOPIIHSA power stroke n. pobouuii Xin

sunflower n. COHIYHHUK swallow v. koBTatu

swath n. cMyTa mpOKOIIeHOT TpaBH, BAJIOK Sweeper n. KyJIbTHBa-
TOp, PO3MyIIyBay

synthesis n. cunTe3 synthesize v. CHHTE3yBaTH

solution n. BupilIeHHS, PO3B’ I3aHHSI, PO3UUH



134

tankage n. BimOpocu 00€Hb, IO HayTh Ha JOOpHBA tasty a. CMaYHMA
tenure n. BOJIOJIHHS thorax n. rpyaHa kiiTka

thrive v. mBuako poctu  tillage n. 06podiTok 3emMiti

tillage crop n. mpocanHa KyneTypa timothy hay n. Tumodiieka rydHa
tine n. 3y0 tissue n. TKaHUHA trail v. TATHYTH

treatment n. oOpoOKa tyre n. muHA, TOKPHUIIIKA

U

unossified a. He3aKOCTEHITHI utilize v. BUKOPUCTOBYBaTH

"4

valuable a. minauii value n. IIHHICTE, BaXKJINUBICTh
valve n. kmanan ~ variety n. copT

w

walker n. miaThopMoBU COITOMOTPSIC

straw walker n. KJIaBilIHUK COJOMOTPSAC wear N. 3HOIIYBaHHS
wheel n. koseco windrow n. Bajlok v. 3arpioatu y Bajaku

whey n. cupoBatka write theses v. mucatu aucepTariio

write v. mucaru

Y

year n. pik yield n. Bpoxait
last year n. MUHYJIOTO pOKynext year n. HACTYITHOTO POKY

V4

zink n. MUHK zink oxide n. OKCHI LIUHKY
zink sulphate n. cynedat nuHKy
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